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THIS—1
Unit-1
T @1 she™

(History of Mathematics)

EI'\'TjﬁE 931 (Objective Answer type Questions)
dle : Wi ¥ W T fiew & oF Ime gfm -
Short out the correct answer from the following given four answer

1. R B UgE T 8-

(a) BT (b) &1 TIfora
(c) X@T TR (d) arforsg T
Main branch of Mathematics is :

(@) Arithmethics (b) Algebra

(c) Geometry (d) Accountance

2. Isnfe wfy &1 9 IR 8-

(a) wifa® (b) S

(c) wfora d) ®g &
Which is the base of scientific development -
(1) Physics (2) Chemistry
(3) Mathematics (4) None of these

3. 3w M &1 faea fa sudt § gom a-
(a) 500—1000 §. @ =T (b) 1000—1500 .

(c) 100—500 §. d) P &
TheArithmetic was scientifically developed during :
(@) 500-100AA.D. (b) 1000-150@\.D.

(c) 100-50QA.D. (d) None

4. fawg uRrg we@ TRME “Raad § s § @ Usd IR-
(a) 9md wee (b) RTEMARER
OR LS (d) TR
Who was become first among the world famous mathematicians in
India during the period -

(1)



(a) Aryabhatt (b) Varachmihir
(c) Brahmgupt (d) Bhaskaracharya

TP H AR H P TR (U WRIHST TR -

(a) AHITOTT (b) Aoy T

(c) &1 WP (d) =

Which mathematics was at its topduring Gupt period in India -
(a) Arithmethics (b) Astrological Mathematics

(c) Algebra (d) All

IHEE BT O WA AT—

(2) BEATIR (b) YAR

(c)) SwoIT (d) TR

In aryabhatiya. What to be find out including the methods of denoting
numbers by letters, toe i.e. -

(@) Kusumapur (b) Raipur

(c) Ujain (d) Deemapur

WEARR BT TR dIDT I o fHg IR & 99y 2—

() wraT (b) TR

(c) Soud (d) Yedr

The Birth place o¥arahmihir was Kapithika that issituated near -
(a) Bhopal (b) Indore

(c) Ujjain (d) Patna

I WEffR A "FIfUdT Toge’ @ @Uar feaar i
# @ ofi—

(a) M9 A (b) 39+ foar

() I T& (d) 9T T

(2)



10.

11.

12.

Kapithya Gurukul was establishedAgharyavarahmihir in the Memory

of -
(@) his mother (b) his father
(c) hisguru (d) his wife

DIBT [o@a o[ o gfieN 3§ &9 9M | SF1 ofar 8-

(a) Sooiv wod (b) AT Fhel

(c) Toga ¥ (d) @ T

Kapithya Gurukul is known as in history of Mathematics as -
(a) Ujjain School (b) Nalanda School

(c) Gurukul School (d) None of the above

feg die sl eRe P ugA-

(a) exrEfifey grT (b) PP ERI

(c) I~ WgS ENI (d) SEC gRI

How were the "Hindu number system" reacheArb -
(@) by varahmihir (b) by kank

(c) by anna sayeed (d) by brahamgupt

e fhad 78M g am o 99—

(a) SOifay ¥ (b) I I

(c) ]I @ (d) SIS

Brahmgupt was known as great scholars of which subject -
(a) Astrology (b) Mathematics

(c) both (d) Space science

T T o fha g # gom -

(a) <ToreerE A (b) wFegYRY H

(c) doie # (d) SRUS
Brahmgupt was born at which state -

(a) Rajasthan (b) Madhya Pradesh

(c) Panjab (d) Uttar Pradesh

(3)



13.

14.

15.

16.

17.

FE[C A Bl = B e

(a) serepe fugia (b) TUSHTE

(c) |l @i d) Rrgia fRweh
Brahmgupt wrote the book is are -

(a) Brahmshphut Sidhant (b) Khand Khadya
(c) Both (d) Sidhant Shiromani

IRY QY@ BT TOM 9 WOy HT Fa fhae gai & e
B—

(a) WEr[< & (b) WEMARR &

(c) IMdHce & (d) 9P B

From what book thArabians got knowledge of Indian mathematics
and astrology ?

(@) Written by Brahmgupt(b) Written byVarahmahir

(c) Written byAryabatt  (d) Written by Bhaskaracharya

TR J G W H P yewol W Rigial o e @
3

@) ¥ (b) erd

(c) ¥rgura () ST Wi

In Arithmetic Brahmgupt wrote principals by which methods -
(@) Zero (b) Infinite

(c) Ratio (d) All of the above

HRGIE™ T S Hel gl AaT—

(a) AERTS ® (b) UwE A

(c) <Toreere o (d) wegyewr H
Bhaskaracharya was born at -

(a) Maharastra (b) Panjab

(c) Rajasthan (d) Madhya Pradesh

Rrgia Rt & < 99 82—

(a) WTEBRTATY (b) SER[

(c) axTefifeR (d) 3mdwce
(4)



18.

19.

20.

21.

Who was théuthor of Sidhant Shiromany -
(a) Bhaskaracharya (b) Brahmgupt
(c) Varahmihir (d) Aryabhatta

TRHIER A fhad = @ of—

(a) ofraTady (b) TRTaTEIT

(c) M d) Suga et

Which of the following was written by Bhaskaracharya -
(a) Leelavati (b) Ganitadhyay

(c) Goladhyay (d) All above

Rrgia RRERT § feaa o & 1 -

(a) dTaTEITT (b) A

(c) =t (d) @Ig el
What is explained in Sidhant Shiromany -

(a) Ganitadhyay (b) Goladhyay
(c) both (d)ﬂ None of these

I, B, BB, O AJfe o1 fAaxor feg == o

et 8-

(a) Fagia =T (b) ofrcITach

(c) SERGHE d) =i H

The discriptions of arithmetic, area, cube root, interest etc. are given in
which book -

(@) Sidhantshiromany (b) Leelavati

(c) Brahmsphut (d) All

9 (7) &1 79 59 v § fAear 23—

(a) <fremadt o (b) figia RRERT &
(c) wioTameaTa A d) MeraEm #§
Value of pie () isdescribed in which book -
(a) Leelavati (b) Sidhant Shromany

(c) Ganitadhyay (d) Goladhyay

(5)



22.

23.

24.

25.

ARPRE B TR I AR el § fHen Fxamn ?

(a) PR A (b) dREe

(c) degd A (d) TR A

The book of Bhaskaracharya was translated into English by whom ?
(a) Akbar (b) Beerbal

(c) Kolbruck (d) Taylor

IRa ¥ e oad d A o1 ST DA gI—

(@) gom ¥ wgaa f=-fr= afeal @ fmior 9@

(b) g ¥ ygaa Af—quel d fwor & @

(c) gea & (Sulba Sutrasyr @Rt &

(d) Suga w4t |/

How was geometry evolved in vedic period in India ?

(a) To worship by the use of construction offeient altars
(b) To worshipby the use of consturction offdrent fire pits
(c) To use special roap "Sulv" for measurment of altars
(d) All of the above

Y BT AfdpR few afcs =W 7 foar o ?

(@) [IHS (b) urferfs

(c) f¥Ta (d) g &
Zero was invented by what vedic sage -

(@) Gritsmad (b) panini

(c) Pingal (d) None of them

IE BT AfAHR fHa <o # gam 2—

(a) 39 (b) ¥9RT

(c) wImUT= (d) =+

Zero was invented 1st bywhat conuntry ?
(@) Arab (b) India

(c) Japan (d) China

(6)



26.

27.

28.

29.

30.

fPa <o A = o <A’ dEd B-

(a) ¥RT oW H (b) WRa H
(c) sceir H d) omR®r #
Which counry named Zero as 'Hindusa' ?
(a) Arab (b) India

(c) ltaly (d) America

T A qIHd Ugfa @ @ e @ ofi-

(a) fara (b) SMd¥cCe

(c) AN (d) PIg &

Who is credited as a discoverer of dcimal system -
(a) Pingal (b) Aryabhatta

(c) Nagarjun (d) None

AT B 39 99 | W SET oer 82—

(a) sreed Td (b) gad IO

(c) Tuiie TR d) P &

Beejganit (Algebra) is also known as -

(@) Unknown ganit (b) Known ganit

(c) Vernank ganit (d) None

@ P BT MYfE remae @1 g fhe <@
(a) gfaers = (b) WP A

(c) 3md¥ce = (d) WEr[a A

Who was the founder of the modern study of algebra -
(a) Euclid (b) Bhaskar

(c) Aryabatt (d) Brahmgupt

quie PG & ATAR 125' B had fbY o @&Hd &—

@ & @ b) TET
) &Y d TS

How can reprecent the number '125' as in vernank system -

OBl @ =TS
(B) @ 7« 4 aw=

(7)



oY ST UG " SN U
Short and long answer type questions :
e T of T o= o o ey faftel

Some methods of squaring in vadic mathematics.

1. 992 & T dfew Ay | s +fow)
Find 99 by vaidic method.

2. 85’ @I I dfew fafr ¥ s FIfg|
Find 85 by vaidic method.

3. 105 & o s fafy & s @+
Find 105 by vaidic mathod.

4. g SISl 99 18v |

(1) emdvce ClEC R I

(2) wTEBRTEAT 99 figia

(3) wErw I el

(4) aRTEfAfRRR Rrgia R
(5) WReAT @wr et wERme Rigia
Make right match

(1) Aryabhatt Vedic Ganit

(2) Bhaskracharya Panch Sidhant
(3) Brahmgupt Aryabhattiya

(4) Varahmihir Sidhant Shiromony

(5) Bharti Krishnaleerth Brahmsphut Sidhant

5. TP @ AUGAT GIHE B, W Piforg ?

Prevalance of mathematics is universal, interpret ?

6. YA P ATHR W Yo Siferg ?

Explain the invention of zero ?

(8)



10.

11.

12.

"“PIURIDT TOHA Soud” & O & &7 § /T INEH &

2
What is the contributions of Kathipathyka Gurukul Ujjain ?

quiie Ugfa @1 wdfera uRem |

Give a brief introduction dfernank system ?

dgT umT ®&r g ?

What is Bodhayan Theorem ?

% () B 99 ® Hew ¥ adfwee @ AneH @1 © fafew

What isAryabhatt's contribution in finding value of ? Write.

Proofafy @ Swafar fe aaf § 2 fafag ?

In whichfields trigonometry is used/rite.

aﬁﬁwﬁmﬁaa%ﬁﬁma;rﬂmﬁﬂ@v@ﬁam#m
TR=g AR

Write the name of the author of the bookuadic Mathematics and
also give a brief introduction of the book.

(9)



AEITI—2
Unit-2
Set,Number System & Surds

?:l'\'ﬂﬁﬁ 931 (Objective Answer type Questions)
dlg : e Y W TR fimm & od IR gfn -
Short out the correct answer from the following given four answer
1. & 5, O @l aud § e wd useE § -
Number 5 is an elements oA, which is expressed on :
@ 5 A (b) 5 A
(c) 5 A () 5 A

2. gz @1 feun e R/ & geilRfa e 23—

Representation of set can be dﬁne by :

(a) wWRYflag U Tabular or Rosterform

(b) wg=aa fAwior WU Set builder form or rule form
(c) _Er & Both

d) T e None

3. fr=fafaa § 9@ @ wifer-
Select true statement of the following

@) o Tl B SUNIed BT 8 |
@is a subset of all sets

(b) @Iz N TgA BT SUFII BT T
Every set is subset of itsellf

c) v Tg=g @& SUH =" H HE&T 2 B B
Number of subsets of a set is 2’

d wff 9 2

All of above are true

(10)



Iy A={1,2 38R B={2, 3 5 & a @I A BT
If A={1,2, 3}, B={2, 3,5} will be

@ {1,2,3,5} (b) {1,3, 2,5}

) {1,2,3} (d) {5, 3,2, 1}

TG D GURWING g B FT bEd 8 ?

A well defined collection of subjects is called as "

(@) SUaq==g Subset

(b) WH==I a set

() WRh Y=Y complementary
d) |+ All

& Wy d§ $1¥ o@yg FE dar & ?
A set containing no element is called as
AL B
(@) SUaq==g A subset
(b) Rea aq=g an emplty set

(c) YW HY=I complete set
d) uRAT wg= rational set

T T e e 3 it faere| wqe U 9qey
8, dEAT B—

() R W (b) wdfTS Y=

(c) facim W= (d) PIg TE

What set is the sent for which all the sets under consideration are subsets

of the setis :
(@) Anuniversal set (b) reciprocal set
(c) opposite set (d) None

(11)



10.

Y=l 3R 99 UEHEl P ARG gRT YSRIT &A1 a1
FHEAdl B—

(@) I ING (a) v Mg

d) ™ IRG d) T—RE

Set and their properties can be shown labily by which type of diagram-

(@) Venndiagram (b) Trigon diagram

(c) Columndiagram (d) Square diagram

Iy AR B3 W = B & ®, 18, A D8 IARBD
15 @99 & o D JqYdl D WAl qATZL—

@ & (b) 23

(c) 18 (d) 26

If A and B are two sets such that have 18 elements has 8 and B
has 15 elements. Find the nubgrBS)f:%I(eAr)nﬁegltEs”ri]?AlA o(B)

@ 5 (b) 23

c) 18 (d) 26

31 R W=l AR Bo fog @19 @t o 8 ?
(@)

(b)

(c)

d) ) Iy B

Which is true for two finite sets and B.

(@)

(b) 1 2 3 a4U
© 6 B
(d) Allis false A B

(12)



11.

12.

13.

14.

39 AGpfa A SHafTs sEgg qarsy ?

(@)
(€)

5 3R 6

5

(@ 6 3R 7
d 1,2 3

Find out the common elements of the sets.

(@)
(€)

5&6

5

(b) 6&7
d) 1,2 3

Ig IA@{fa F4T AT B ?

(@)
(€)

What does it show ?

(@)
(€)

(b)
(d)

(b)
(d)

(ABB)

I8 Ipfa @ <wt g ?

(@)
(€)

What does show the shaded parfa B ?

(@)
(€)

(b)
(d)

(b)
(d)

T AR § X @ e @d Hifog | foed wgeedl s oan
30 T

(@)
(€)

Find out the No. of X from this figures ?

5
15

(b) 10

d) 20

(- x Q150

(13)




15.

16.

17.

The sum offwo sets are 30.
@ b5 (b) 10
(c) 15 (d) 20

T AR | X BT HAE A P FY==d] BT AT 18 @
(&) 20 (b) 15

(c) 8 (d) 5

Find out the value of X from this figures ?

The sum of two sets are 18.

(@ 20 (b) 15

(c) 8 d 5

50 Al @ U wg # 35 @fdq fR=d diod 8, 25 &fdm fo=d

IR Sdoh Sl e § ok Wt =fdm, J=T Wl § W P W
mwwwm§|3%mwmmm%?

(@ 50 (b) 40

(c) 35 d) 2

In a group of 50 persons, 35 speak English, 25 persons speak Hindi and
English both languages and all persons speak at least one of the two

languages. How many persons speak English ?

(@ 30 (b) 40
(c) 35 (d) 2
af BT OIE &) I B D} ®

d9 A-B &1 919 28—
(@ {6,12,18, ...} () {3,9, 15 21, .....}
() {3,6,9,12, ...} (d) None of thesezTd | ®I§ -T&l

(14)



18.

19.

20.

21.

af DT UG B} AT B=({xOC:x‘=] BT 0D} B
a9 AAB®T 99 8-

@ {11} (b) {-1,1,i-i}

© {ii} (d) T7H | ®1g &l None of these

Y n(A) =37 n (B) =4, A8 n (AXAXB) TUI®} &1 A9 ¥ |
(@ 36 (b) 12

(c) 108 (d) ™ | P T

Iy n(A) =37 n (B) =4, T8 n (AXAXB) TUI®} &1 A9 ¥ |

@ 36 b) 12

(c) 108 d) = ¥ P L&

wgEE (A B C) (A BC) CEW

@ B C" b) A C"

(@ B C" (4) 3T 9§ PIg A8 None of these

(15)



AT —2
Unit-2
Set,Number System & Surds
oY SR UHR @ U
(ShortAnswer type Questions)

1. T =El AR B @ forg @ e |G 2 ?

For two setd and B, does ture.

2. I AdIs Gg=g © S DI |
If A'is any set, find

3. gt U=1{1,2 3, 4,5,6, 7},
A={3, 4}3R B={4,56, 2|
f U={1,23,4,56,7) ~"B8=BNA
A={3,4}and B = {4,5,6}.

4. afs U={1, 2, 3, 4,5, 6, 7,890 <1 Gl & R& w1d DY

(i) A= {2,4,6,8}
i) B= {1,3,5,7,9}
(i) C= {2,3,5,7}
(iv)

v) U

IfU={1, 2, 3,4,5, 6, 7,8,9}; find complements of following sets :
(i) A= {2,4,6,8}
i) B= {1,3,5,7,9}
(i) C= {2,3,5,7}
(iv)

(v) U

(16)



e 1 §gmdl AR C o fod wofia #ifoig
@ (A Cy=A C

@M (A C) =A" C

Verify the following for set® and C of the Q.1.

@ (A Cy=A C

@M (A C) =A" C

A9 il U Ry gu @ & aft Bren &1 9q=ag 8 afk
AFgeEd 8, S 9 Brgell &1 e, v9 ¥ $9 td BT 60°
G A A N e )

Let U be the set of all triangle in a given pland i§ the set of all those
triangles whose atleast one angle is different frotntGén what will be

the setA' ?

uﬁuwﬁwﬁwﬁmgﬂgﬁuks‘rsﬁ?wﬁwm
$T 9@ § O A BE G 99wg 8N ?
If U is the set of natural numbers aAtlbe the set of all composite

numbers, then what will be the £e?

e U={1, 2 3, 4,56pR
A={135}

a gofua Sifrg

i) A A=

i A A=

(17)



9. AT AIRBAI W F=I A BFA BD 18A & 83RBD 15
IJqYg B A A B B IqUAl P! GEAT ISV :
If A and B are two sets such tihat B have 18 elements has 8 and B

has 15 elements. Find the number of elemers iB

oY ST UG <" SN g

Short and lond\nswerType Questions

10. A Y A U Ihal § o 9 @ ail fdenRial o1 aq=a
3R B woe wit el @1 wag=g @ @ A, B &7 Suag=d & 3R
& forea ®;
LetA be the set of all students of class IX of your school and B the set of

all students of the schodlhenA is a subset of B and we write

11. ﬁquﬂgﬁu’fa%ww@%ﬁBﬂgﬁu fofeg |
() {a} {a.b}, {b},
@ {1} {3} {5} {1, 3} {1, 5}, {3, 5}, {1, 3, 5},
@ {1}
(v) {1} {0} {1}, {-1, O} {-1, 1}, {0, 1}, {-1, O, 1}
Write one set for each of the following subsets.
() {a} {a.b}, {b},
@ {1} {3} {5} {1, 3}, {1, 5}, {3, 5}, {1, 3, 5},
(iii) , {1}
(v) {1} {0} {1}, {-1, O} {-1, 1}, {0, 1}, {-1, O, 1}

12. e —A={p,q, s, t}
B={1,3,5,7, ...}

If- A={p,q,rs,t}
B={1,3,5,7, ...}

(18)



13. L IR N1 G J Rea w= wlku—

i) 8..... B (ii) 17 ... B
@ r..... A (iv) a . A
(v) 21..... B (Vi) 12 ... A
Fill in blanks by

i) 8..... B (ii) 17 ... B
@ r.... A (iv) a .. A
(v) 21..... B (Vi) 12 ... A

<" SRl U

Long Answer type questions
14. 40 el o v wer ¥ 25 el fFde o yHT T B
IR 15 Feaa | TS faemfl, 9 § ¥ (e Wa IEwm Wa
T dvdl 71 qary 6 fpe, el fhee o geare I
Yd JHE PN B
In a class of 40 students, 25 like cricket and 15 foothatudent like at
least one of the games. How many students like both the games i.e.
cricket and football ?

15. Ife AR B W =g @ & n(A) = 17, n(B) = 23 3R
n(A B) =35d n(A B) @I 9F = BT |
If A and B are two sets such that n(A) = 17, n(B) = 23 and i)x35
then find n(A B)

(19)



16.

17.

18.

19.

20.

21.

IRANMRBIAI W E = A 5 AD 12BD 173IR A B 21
Jqgg e AN gy fF A B fohaw 3@ag € ?
A and B are two sets such tiAdtas 12 elements, B hasA7 B and has

21 elements. Find the number of elements inB ?

I SAR TW A T A fF ST 21 TH 23RS TS 11
Jqgg e N gAY fd S T fHan s@ag g ?
IF S andT are two sets such that S has Phas 32 and ST has 1

elements, find the numbers of elementsinSU T ?

JRIXIR YW AT S s XD 40 XUY T 60 3R X Y
P 10IIFIT & | O gAY fb Y & fhaw 3qug € ?
IF X andY are two sets such that X has 40, has 60 andYbas 10

elements. Find the number of element¥ &f

@A B B)
Iy AR B AW < Nigq W= § o Rig P &

n(A B)=n(A)+n(B)

[fi@d n (A B)=0]

If A and B are two disjoint sets, then prove that
n(A B)=n(A)+n(B)

[Hint: n(A B)=0]

afe AR B 1 W= & f& n (A) =17, n (B) = 23R n
(AUB) = 35%, T A ST B |

If A and B are two sets such that n (A) =17, n (B) = 23, n (AUB) = 35,

find in

U%Aaﬁ?BQﬁﬁﬂﬁﬁmﬁﬁiAEﬁlliﬁ 173 & 21399q
gl 9d180 fdh P fhaq arqug € ?

(20)



22.

23.

24.

25.

26.

If A and B are two sets such tihahas 12 elements, B has 17 elements,

andAUB has 21 elements, how many elements dods have ?

Ife SR T U <1 9=y & f S& 21% 323k @ 11 3raua
2, dl 913U fb & fopas & fobae sraqg € ?

If S and T are two sets such that S has 21 elements, T has 32 elements,

and S CT has 1 elements, how many elements does $ have ?

afe X &R Y U &1 9= & & X & 40, P 60 3R G
10 379¥d B | AT garsy fb Y & fhad srqaq & ?
If X andY are two sets such that X has 40 elements, X hhs 60

elements and X € has 10 elements, how may elements dobave ?

afe A 3R B 31 rigaa aq=ad giar Rig i o

If A and B are disjoint sets, show that
Ky
n (AUB) =n (A) + n (B)

70 AT & T FHE H 37 BT THSE I &, 52 1T TG B 2 | AR
U Afdd a1 Ul § ¥ HH ¥ HH Udh UY 39 THS Hdl & | ddIsU
fob fohd= aafdd S1@T 3R arg ST 98e BT 27

In a group of 70 people, 37 like coffee, 52 like tea and each person likes

at least one of the two drink. How many people like both coffee and tea ?

70 AT & T AT H, 40 AT b UHg BT B, 10 wafdd fhae
3R ¥ THI wiT &Rd B | 918V & fhaw daa < (fhhe
el e #Rd ® ? fhaw < ue wRa §

In a group of 60 people, 40 like cricket, 10 like both cricket and tennis.

How many like tennis only and not cricket ? How many like tennis ?

(21)



27.

28.

29.

30.

Uh GRfd ¥ 50 afdd ha, 20 WD, 10 ha 3R W SHT dierd
2| gdrsy fb fhaa afdd A7 9romsh & 9 $7 9 HF Udb 9N
T derd & 7

In a committee, 50 people speak French, 20 speak Spanish and 10 speak

both Spanish and French. How many speaks at least one of these two

languages ?

60 Al & Ud OE H 40 Afdd fhde wdg avd €, 10 =l
fpbe 3k < TF1 ude @ 2| sasy & fha saa <
(e 8l) THT Ha € ? fan < wHE wva © 7

In a group of 60 persons, 40 like cricket, 10 persons like cricket and
tennis both. How many persons like only tennis (not cricket) ? How

many like tennis ?

te Wffa # s0 afdm fR<fl, 32 affa ok 12 =) afa =
et g1 garsy 6 feaw aafed <1 wmwRel # ¥ @9 e W
Iae e B

In a committee 50 persons speak Hindi, 20 sfeakil and 10 speak
both Hindi andlfamil. How many persons in the committee speak at leas

one of the two language ?

80 Al @ TP Gg # 50 Afd fB=d S €1 40 afed &=

IR IASH JM G T UAP A A WwRh F § HH A

$H [P AN A Siadl 8, df UG doq 9 Al o
el Fd B |

In a group of 80 persons, 50 speak Hindi, 40 persons speak both Hindi
and English. Each person of the group speak at least one of the two
languages i.e. Hind and English.Find the number of persons in the group

who speak English.

(22)



AEITI—2
Unit-2
Set,Number System & Surds

EI'\'TjﬁE 931 (Objective Answer type Questions)
dle : W ¥ W T fiew & oF Ime gfm -

Short out the correct answer from the following given four answer

1. 9 demeli &1 yaner awgy 9 § a)d 8, 99 @5d § —

The numbers used for counting are called as :

() YThd WY Natural numbers
(b) Yof HEA Whole numbers
(c) <=l Both

d) PIg &l None of these

2. uof Wl @ yeRfa fear W & —
Whole numbers are denoted as :
(@ W={0,1,2,3.....1} (b)N={1,2,3,4,.....}
(c) I1={..... -3,-2,-1,0,1,2,3....} (d)All

3. Uihd weEARl B yeRia fear wmr 8 —

Natural numbers are denoted as
(@) w={0,1,2,3.....1} (b)N={1,2,3/4,......}
() I={..... -3,-2,-1,0,1,2,3....} (d)All

(23)



Ul HE&Rl, Y R Uihd §&Rl @ U W oY W Gl 9wl
T 8, Ped © —

Negative of natural numbers, zero and natural numbers jointly are called as :

(@ YUiel & =g Integers

(b)y uRAF = Rational numbers
(c) UfRAT FeE irrational numbers
d) BIg B None of these

QA IRAg GERl @ "7y fha =g B & —

How many numbers lie between any two rational numbers
(@ 1-10 (b)  20-30
(c)  100-1000 (d) 3Fd (Infinite)

IR HE&ARI BT T¥Med fwuer P9 wu H Bar & —

Decimal representation of rational numbers is :

(a) 9\Id <IHAAD Terminating or non terminating decimal
(b) 3T TIHG Non terminating & non-recurring

(c) gl Both

(d) PIg TE None

IURAY HERN BT IHEd fwuer »Y BT & —

Decimal representation of rational numbers is :

(@) wid 3R add Terminating and recurring

(b) sria 3R IEEds Non terminating & non-recurring
(c) <=l Both

(d)y PIg & None

(24)



10.

TP HRO B afe—

Is a surd if :
() avU® P URAY T B a is a positive rational number
(b) Ts URAg G @ is an irrational number
(c) =l Both
(d)y PIg TE None

T T RO BT UGS (h IRAT &R & df S ¥ TS DI

called a................ of the others ?

(@ URITEN TUiD Whole numbers
(b) g oft Infinite series
(c) IgErr Hofy divergent series’
d) Sgdw wd Ya All of the above

P BN U WATH ©9 H d9 B8Rl § o9 —

A surd in its simplest form, if :

(@ @UEE n @ IRl e @ sier, FRole| @ PR UHaETs
&t ¥y d&m &1 n af g T ;O
the radic and in the sign of the radical does not contain a factor which
IS not root of a rational number

b) N e @ T 8 A= 9 8 |
There is no fraction below the radical sign.

(c) Both (a) & (b) (c)ami a 3R b

(d) None (d) P TEl

(25)



11.

12.

13.

14.

15.

tH woft @), e @ ummaEve 1 3 AfaRed ais = aRkeg
e g ol qEw urEs IuRAy Hem 8, o SW dEd ¥ ?
Surds whose factor is rational number other than 1 and another factor is irra-

tional number called

@ g & Mixed surd
(b) E BNl Pure surd
(c) erguf Hoft Impure surd
(d)y I8 TE None

P TRl WY BT & the simples form is :

(@) (b)
(c) (b) None

3R 4B W e g ?
In and  which is bigger ? %ﬁ%>%

(@) (b)
(c) Bothequal (b) None

a8 U gAq | Select true statements

(a) X (b)  ¥25>¢10>4z
() W10>4¥3>925 (d) None

frefafed % wRyw wem @ g |
Select rational number from the following :

@ 23 (b)
(c) (d) None

(26)



15.

16.

17.

frefafe & © suRYE wem @ g |
Select rational number from the following :
(a) 7.47878 (b) 2,414
(c) 1.233223 d) Al

frfafea § 9@ ooF o9 @1 8 —

SelectTrue statement from the following :

@ i gUrie, qfde dE ] @ All integers are real numbers

(b) BIY TP GG WHa G Tl ERil Bl
No real number is natural number

(c) fPa a1 R /Ry =Rl &1 AT UG Fdpad W T
uRaa /3aReg Hem st 2|
The sum and difference of any two rational/irrational numbers are also
rational/irrational.

(d) (a)and (c) are true

(d) (2)3R (c)F™

fr=fofaa & s @ea wifey ?

Select false statement from the following :

(a) PIY TGS FEAG WIHd G&T TE B 2|
No real numbers is natural number

(b) it guis, Tafas wem & |
All integers are real numbers

(c) ey uR\Y weAT Td I URAY H&m & UM T4 I
e ¥ HEm eRi T

(d) (a)and (c) are false

(d) (2)3R (c)F™

(27)



oY Sag YHR @ U
Short answer type questions

1.

GHHY UGl Dl SiIsd gU AT " §UY ARel BIfo |

Simplify by combining similar terms:

(1) 5/2 + 20/2 ()
(3) 4/3 — 3V12 + 2v75 (4)
(5) V45 — 3v20 + 4/5 (6)
(7) 23V4 + V32 —%/500 (8)
(9) 3v147 — 7/3/1 + W 1 (10)

2V3 + V27

V8 +V32 —V/2

4/12 —J/50 — #/48

25V40 + 33625 — 4%/320

4/81 — 8.3V216 + 155/32 +225

TR BT 3R YR Bl ISP ARIdH w9 H foTfRau |

Simplify and express the result in its simplest form:

(1)V4 xv21 (2) V15 xV7

(3) 3V4 x3V22 (4) 4/12 x W6
(5)¥2xV5 (6)32x+/3

(7)W 28+/7 (8)5V12 - (/3%/2)
(9)V23/3+/4 (10)3V2.4/2.12/32

FfeRad 5 9 URd B AReITH IRAIBNI o el |

Write the simplest rationalising factor of ,

(i) 2V2 (i) v10
(iii) V75 (iv) 22V5
(V)3 (vi) v32

(28)



f=forRad o uxe T IRTY & d9ThR foIfRgu |

Express with a rational denominator the following surds:

Q) _2 (i) _2

V5 25
(i) 1 (iv) V2
V12 V5
(v) 2V7 W)  3.25
Vi1 %/9
f=fRad o P ST BT H9 TIHAT & - Rl T ST DI |
Siefe faam g 8-

Find the value to three places of decimals, of each of the following. It is given
that v2 = 1.414,v3 = 1.732/10 = 1.732y/10 = 3.162 and/5 = 2.236

(approx.):

(i _1 (i _1
V2 V3

(i) 1 (vi) V2 +1
V12 V5

(v) _2-v3 (vi) V10 -V5
V3 V5

Ife a3k bl yRTYT | € a1 f=ferRad waaml # asik b &1 719 ST BN |

If both a and b are rational numbers, find the values of a and b in each of the following equalities :

0) V3-1 = a+bV3 (ii) V3+2 = a+h/2
V3+1 V3-2

(ii) 5+2V3 = a+bV3 (iv) 35 = aV5-b
7+4/3 3+2/5

(iv) V5+/3 = a+bV15 (vi) V2+/3 = a-b/6
V5-V/3 3V2-2/3

f=feRad & 9 UR® DI, SUD B BT TRAIGRUT TR Al HIFOTY |

Simply each of the following by rationalising the denominator :

0} 5+/6 (i) V75
56 V7+/5

(ii) 7+3/5 (iv) 2V3-V5
7-3/5 2V2+3V3

(29)



10.

11.

12.

13.

14.

15.

(v)  2Ve5 i)  7V35/2

3V5-2V6 V48+/18

for=rfaRRad § 9 ud BT TRl PITU—

Simply each of the following :

0) Ve  3V2_  4V3 (i w3 25 32
V2+V3 VB3 Ve+/2 V103 Ve+/5  V15+3/2

V2 =1.414)3 =1.732)/5 = 2.23631R V6 = 2.449cT ) oihx, fF=ferRad & & UAd A 3T b
AN Il 9% g A DI |

Taking V2 = 1.414)/3 = 1.732)/5 = 2.236 and/6 = 2.449 (approx) find the value to three places of
decimals of each of the following :

() 1+V2 + 1-V2 (i) 2+V3 + 24/3 +V31
V5+/3  V5+V/3 2-V3 2+/3  V3+1

@) DI g7 8 V3T V5
Which is greatev/'3 or3/5

(b) f=ferRad o1 eRIE! 4 falRay |
Arrange in ascending order of magnitude :

410, 6 V3

1
IR PITT - -
Simplify J3-42-1
@) W2 +3/16 -*V/54

(b) 3/32 x3V250

afe g8 e1d 8 f& V3 = 1.73201 F=faRad &1 qerea & 9 wIel 96 g€ A §1d ST |
Given that/3 = 1.7321, find correct to 3 places of decimals, the valv@@® - 1/2V48-V75

f=forRad o 9 Ud & B BT URAIBRT BB IRl BIOY |

Simplify by rationalising the denominator :

0] 4 (ii) 2.%3
W16 4.%/5

IR PIfTI—

Simplify :

3V2 -4/3 +2V3
V6 -V3 V6-V2 V6 +2

e V2 = 1.414231R V6 = 2.4495%, A1 FrfaRad &1 gg A <¥Meta & A9 RIM! dd =1d
PR |

GivenV2 = 1.4142)/6 =2.4495, find correct to three places of decimals, the value of :

(30)



16.

17

18.

19.

frfafad § o9 @ wPRT 8
Which of the following are surds

1) (2)

(4) ()

qof oot & WU H# foafag

Which as apure surd.

(1) (2)
(4) ()
(7) (8)

i oot & WRaaw Wy ¥ fofRey

Write is simplest form

(1) 2 éﬁ%
(4) (5)
(7) 8)

PN W HRON T ? ?
Which is bigger

(1) or (2) or
(4) or (5) or
(7) or

(31)

3)

(6)

3)
(6)
(9)

3)
(6)
(9)

3)

(6)

or

or



20

21

22

=1 =P & RS wmH § foRay -

Write the followingsurds in descending order -

(1) (2)

(4) ()

3)

P ool =T 12 ¥ foRay|

Write in radical exponent 12.

[RA BIfTT—

Simplify -

1) (2) 2J/3+/27

(3) 4y3-3/12+ 2/ 7¢
(5) Va5-3/20+ 4/¢
(7) 294+ 78/32-3 50
(11) 316+ 54+ 25
(13) V20-/45+/12¢

(15) J63+/28-/17¢

(6) ay12-/50- %/ 4¢
(8) 23/20+ 3625 4/ 32

(10) 481-8¥216+ 18/ 32+ 22

(12) @+\/§—\E’—@

(14) 6¥54- %16+ 14 12

(32)



23.

24.

25.

W HIY IR IR d SHS WRedd wy 3§ forfay |

Simplify and write the result in simplest form :

(1) V1axy21 (2) V15x/7

(3) Yaxyzz (4) a/12x 2[6
(5) ¥2x5 (6) ¥2x43

(7) ¥28+37 (8) 912+ /3 .¥2)
9) v2.¥3 .44 (10)

(11) (12)

(13) %ﬁﬁ%{z

frafafaga 4 @ e Waaw IRAgeN o ferRag—

Write the simplest rationalising factor of each of the following -

(1) 22 (2) (3)

(4) () (6)

frafofRag § e & URAYT &R I91 B fearRau—

Write each of the following with a rational denominator

(1) (@) 3)

(33)



26.

27.

28

ffafed & ¥ T I9d & 99 IEET @ A9 RIE a6 A P,
st R 2 IR /5= 2236 (erm)
Find the value of each of the following upto three places ofdecimal if it
is given that 4/2 =1.4144/ 3= 1.732/ 16 3.1¢ and /5 = 2.23¢ (app.)
5 @ ©

@ ©) OR=

gfe asdiRk b Ry d=w & o fFaforRag gwarel & asik b &1 99
TG BT |
If a and b are two rational numbers, find the values of a and b in each

of the following equalities :

(1) ﬁ “=a+b/3 (2)3 ﬁ—a+bx/—
3) 5+jﬁ’— +b3 (4%%¢£$%—m732/7@ 2.1¢
© oo () 20 an

frfofRag § @ yAD B, SHD B BT URAIBRUT HRD TR PIfTI—

Simplify each of the following by rationalising its denominator

V5 + 6 V715 74305
W T R ®) 7oa%

(34)



20.

30.

31.

frafafed § @ T@® o WRa dIfg—
Simplify each of the following -

N5, a2 a3
W) 7B Torvs Torv2

5 73 . 2/5 .\ 3/2
@) JHo+v3 Vorvs Vit 4

J2=1.4143= 1733/ 5 22: 3R [6=2.44¢ (@mr) R Frfaaa
# ¥ UAP AF I B T RIE TP S DI

By taking V2 =1.4144 3= 1.733/ 5 2.2: and ./ = 2.44¢ (app.) Find
the value of each of the following upto three places of decimal.

1 142 1-42
W) 55 B3

5 2+\@+2—\f3+\f3—1
(2) 2-J3 2+J3 J3+1

3 2
53 543
frafafad § 4@ TS 3, SHD W BT URAIDIYT @ OXcl DIFOG—
Simplify each of the followingby rationalising its denominator

(1)

J5-2 5+2
(2) J§+2+JB—2

(35)



EeITI—3
Unit-3
held

(Function)

EI'\'TjﬁE 931 (Objective Answer type Questions)
dle : Wi ¥ W T fiew & oF Ime gfm -

Short out the correct answer from the following given four answer

1. UM% & U¥F & foy te oF W e g g

Which type of lines are drawn is produce a graph ?

(@) &fos horizontal

(b) SEaTerR vertical

(c) < Both

d) PIg &l None of these

2. UG B YA § &) @Rl P yfkeee g # $9 yelid a7

What is the representation of point of intersection of two lines

(@ byX (b) byY
(c) byO (d) byz
(@) X & # (b) YT A
(c) 0T & d z9

(36)



ffofaa & & v @ wifey |
Select true statement of the following
(@) AR &1 91 X - 38 9 yehfd &=a 8
Horizontal lines is denoted by X-axis
(b) SEAER Y& B V-3 BT & |
Vertical line is known asY-axis
(c) W& & & IAe g @ arafds d&m &1 wuor o
gl
Every point on a number line represent a real number

d) 4 |99 2 All are true

I g ROS TE AR & @ P& X- fAdwni® &ar & —

If point R lies to the right of O, then the X-coordinate of point "p" is
(@) Y-IHd Positive (b) FRUTTIcHD  Negative

(c) TN Both (d) @ &  None

I g ROS TE R & @ P& X- fAdwn® &ar & —
If lies to the right of O, then the X-coordinate is

(@) Y-IHd Positive (b) FRUTTcHD  Negative
(c) TN Both (d) g &  None

I ROD TS 3R & o P&r X- fAcense sar & —

@ I (b) EFTHSD

() FHUTHSD d) g 2

(37)



If 'R' lies on 'O' then X-coordinate of P is
(@  Zero (b) Positive

(c) Negative (d) None

IR P, XIT B SR B IR 8 O PHI Y- Adena B & —

@ I (b) &FTCH®
(c) FROTHS (d) @ el
If'P" lies above x-axis, then y-coordinate of P is
(@ Zero (b) Positive
(c) Negative (d) None

I P, XIg B N B AR B A PHT Y- Fdwnid Sar & —

(a) AT (b) FOTTHS
© = (d) g TE
If'P' lies above X-axis, theY-coordinate of Pis
(@ Positive (b)  Negative
(c) Zero (d) None

Ife P, X 3T W Rerg & oF s9a1 v- FAdenie dar & —

(a) EATHSD (b) FOTTHS
() I3 (d) @ T
If point P lies on X-axis itsY=coordinate will be
(@ Positive (b)  Negative
(c) Zero (d) None

(38)



10.

11.

12.

13.

14.

I R, OW Rerg & o SuaT P- frg aler . g —
If R lies on 'O’ then P will be lies on

(@  X-3& Y On X-axis (b)  Y-31& WX On Y-axis
() F W (d) ®g T8 None

I P v-Re@ & @ gwar X- Fdwies @@ g’ —

If P lies onY-axis its X-coordinate will be :

(@) Zero (b) Positive

(c) Negative (d) None

afs i@ fag @ FAdei® (0,-8) 8 I, I8 P9 ol W™ Rera 3 —
If coordinates of point are (0,-8), so where does it lies

(a) X-31& (x-axis) (b)  Y-31& WX (Y-axis)

(c) THI W (Both) (d) @¥ & None

Rg (2-5) @ Rerd »ei &ft ?

What will be position of coordinte points of (2,-5)
(a) X-38T B HR Above the X-axis
(b) X-3&T B A Below Y-axis

(c) I W at zero
d) =¥ Al

THeifte fAdvie ugfa &, T WweR oW Y@ Jouia X-3e IR
Y- 31T, a1 B fbasr 9 & gied & ?

(39)



15.

16.

17.

18.

In rectangular coordinate system, two manually perpendicular lines divide the

plane in how many parts
(@) & 9 ¥ Two parts (b) W WEN H Threee parts
(c) TR 9FNY H Four parts (d) I 81 None

It Fquie ugfd # SR TE AR P AR B Hed 87
In rectangular coordinate system, the upper right part is called as :

(@) WM TgAe First quadrant (b) &g =ageIfel second quadrant
(c) O TgATE Third quadrant (d) agY agATe fourth quadrant

I Fqyie Ugfl #, S 918 3R & ¥ & Fed 87
In rectangular coordinate system, the upper left part is called as :

(@) WM TgY¥ First quadrant (b) &g =ageIfel second quadrant
(c) M TgATA Third quadrant (d) agY agATe fourth quadrant

eIt fAdeie ugfa &, M 9€ R & 4N B bEd &7

In rectangular coordinate system, the lower left part is called as :

(@) g™ =gUler Third quadrant (b) T =qier Second quadrant
(c) WA TQATY First quadrant  (d) agY QAT Fourth quadrant

Toifte ke ugfa § R 9 AR @ 9N @ Fwa &7
In rectangular coordinate system, lower right part is called as :

(@) W TG First quadrant (b) e =qier Second quadrant
(c) M TgAte Third quadrant (d) g AT Fourth quadrant

(40)



19.

20.

21.

Ifs AT B3I 3Rad W= & O U& Y1 6eg a1 9 AR B S
foy Ber Feamr & R A S TS @99 @ W9 B UF AR dad
% Y9 SURed @1, df 39 ad aN §dhd ©§ —

In A and B are two non-emply sets then aelation or rule 'F' fromA to B is
called a function by which foreach element oA\ there correspondence as
unique element in B then it can be written as :

@ F:A B by X A

() F:X A (d) None ®Ig &l

B f(x) = ax+b @l a 3R b ISP TN & U6 R @1 Bl 8,
gafert 39 P = (linear function) d8d & | 39 B & UTH
T @ forg daa feam fagei, o smawadar aeft ?

The graph of the function f(x) =ax+b, where a and b are realnumbers is a
straight lines that is why this function is called a linearequaton.To draw a
graph of such function we need how many points only ?

(@ One PointT® fag (b)  Two points & fa=g

(c)  Three points @ fawg (d) None®lg &l

BT f(X) = ax+b BT UTH DY BT & —
Graph of the function F(x) =ax +bisa:

(a) U® OXeT X1 a straight line
(b)  ARTEIET Parabola

(c) TRWREIfa® Hyperbolic

(41)



g@18 — 3 (Unit-3)

%<1 (Function)

g Td < ST YSR @ U
Short and LongAnswer Type Question

1.

2.

3.

FrfeRad araIfde werdl @ fog aRarya f (1), f(2), f(-1) & a9 s
PIFSTY |
For the functions given below evaluate f (1), f(2), f(-1) wherever

they are defined.
(i) f(xX)=3x+4 i) f(x)= Vx-3
(iii)) f(x)=vx2+2 (iv) f(x)=V(x-3) V(10-x)

(v) f(x)=vx+/8-x

fforRaa fawgail &1 FraIte Fdene uefa 3 e #ifey |

Represent the following points in a rectangular coordinate system :

() (1,0) () (-3,6) (i) (4,-3/2)
(v) {1/2,-213) (V) (-1-2) (i) {0,1/2)

fre=forRad # | DI T HUF I 2 3R DI 9T 36 2 |

(i) fg (-2, 0)aer R Rerd 7|
(i) fag (0,-4)%er = Rerd 7|

(42)



(i) fog (-1,2)3E & = @7 3R 7 |

(iv) g (3,-2)Er & I @t IR 2 |

V) fag (-1, -1)3e w Rerd 2|

(vi) fag (4,-5)3eT & g agfer 7 2 |

Which of the following statements are true and which are false ?
(i) The point (-2, 0) lies on they y-axis.

(i)  The point (0,-4) lies on the y-axis.

(i) The point (-1,2) lies below the x-axis.

(iv) The point (3,-2) lies below the x-axis.

(v) The point (-1, -1) lines on the x-axis

(vi) The point (4,-5) lies in the third quadrant.

4. 9arsy FrEfaRad fagel 4 9 uRie fha aderie H o—

State in which quadrant do the following points lie :

() (1,1) (i) (-3/2,-213) (i) (1,-3)
(iv) (-5, -5/7) V) (-3,3)

5. fa=fafRaa weml & s Wifu |

Sketch the graph of the following functions -

() f)=2x+3 (i) f(x)=-1x-3
2 2
(i) f(x)=x-3 (V) f(X)=-2+2

(43)



8.

frefoRea fagell o1 gt Adwies ugfa & fegor @ifog-
Represent the following points in rectangular coordinate system.
0 (20 @) (406) (i) (4, )

av) ( .5 (@v) (3,-2) (v) (0,3)

garsy fFr=fafea fagel & e fda =gufs & -

Find the quadrants in which each of the following points lie :
0n 2 (i

(iii) (5,-3)  (iv) (-10,-7) (v) (0, 3)

f=foiRead # @ @ oM 99 ? R o9 4§ 3w ?
i) f=g (-5,0), X -3&1 ® ’_4)% |

(i) Reg (-2, -2),Y - o = fom ¥ |

(i) g (3, -3), T aguie F ¥

(iv) fag (10, -7), X @7 & < & R B}

Which of the following are true and which false ?
(i) Point (-5, 0), lies on X-axis

(i)  Point(-2, -2), lies or¥-axis

(i) Point (3, -3), lies in the third quadrant

(iv) Point(10, -7), lies below X-axis

(44)



9. frfafaa aafde wemi @ forg aRaifda f(0) (1), f(-2),f(2) =
A 9 BTG
For each of the following real function find f(0), f(-2), f(2), which
ever are defined.
(i) fx)=2x+8 (i) f(x)=
(iii) (iv)

10. frafafed vl & 9% Hifg
(i) f(x)=3x-2 (i) f(x) =-x-2
(iii)  f(x) = -x? (iv) f(x) =x
(v) f(x)=3-2x (vi) f(x) =4x-3
(vii) f(x)=3x-4

Draw graph of each of the qug/mmn ;

(i) f(x)=3x-2 (i) f(x) =-x-2
(i)  f(x) =-x2 (iv) f(x)=x
(v) f(x)=3-2x (vi) f(x) =4x-3

(vii) f(x)=3x-4

(45)



AEITI—4
Unit-4
9gUS U4 I9Gd WY

(Polynomials and Remainder Theorem)

?:l'\'ﬂﬁﬁ 931 (Objective Answer type Questions)
dle : Wi G¥ W T fiew & od Ime gfm -

Short out the correct answer from the following given four answer

1. A AFD BT PHGA fhED TREX BT B ?

Product of two polynomials are equal of :
(@ .9, (LCM) (b) H™E.(H.C.F)
(c) axb (d) a+b
fy?xﬂfxé)ﬂ-%xz + i x°
2. @ Y @i R T A Tw W o Te e 8ed TRy &
A real number in which there are one or more terms, is called as ...
(@ TP U Monomial (b) fgu< Binoial
(c) §gYE Polynomial (d) None ®Ig =&l

3. ffoRed §# ¥ &9 &1 9gug 9@ 9 H§ & & —

Which is not standard form of polynomial.

(@) (b)

3 4
(c) Zx3 +2x+1—§x2 (d)  None of these
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§gUSl B X BT UMW D ARIEEHA ¥ AT RS A H forew 1 Afd
B bed § —

Oftenly in a polynomial the terms are written in ascending or descending
exponents of the unknown X. Such a form of polynomial is called .

(@) ¥gUR @ AP WU Sandard form of polynomial

(b) SgUK bT AT ®™U  Normal forms of polynomial

(c)  Both (a)and (b) T (a) 3R (b)

(d)  None of the above Pig Bl

& 2 ft U 98U © Pl 5 2 @ G form o wear € -

Number 2 s also polynomial because of it can be written as :
(@ 2t (b) 2x°
() 2x? (d)  None of thesehlg &l

367 onfq #t sgug €, s= Fr=fafad @sd § —

Number 3, -5, 7 etc are also polynomial and it is called as :

(@) IR §gU< Constant polynomial
(b) =R 9dgu< Movable polynomial
(c) T 9dgu< Zero polynomial
d) PIg &l None of the above

(47)



10.

x2-x 3R t2+t P9 9gUT P ST ¥ —

x3- x and t*+ t is example of which polynomial :

(@ YU 9dguq Zero polynomial
(b) =R 9dgu< Movable polynomial
() TR ¥gUQ Constant polynomial
d) ®g T8 None of the above

Y& 95U P9 awd § —

What is called a linear polynomials ?

(@) o Te 9T degree of 1
(b) o & qre degreee of 2
(c) ©d dF darel degree of 3
d) ®g T8 None of the above

frfoRea sgusl @ o (degreefeifEay ?
Write degree of following polynomials
3x"+2x+7 SMF 3t+ 1

@ 7,3 by 1,7

(c) 7,1 d 7,0

24x2+x ® x2 @ IUNP BRI ?

What is the coefficient of X of polynomials ?
@ 1 (b) -1
(c) w2 d O
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11.

12.

13.

14.

TgUS 5x-H¢+3 BT AF FT BN &9 x= -181 ?
Find the value of 5x-4X*+3 whenx =-1

(@ 6 (b) -6

(c) 6 d -3

qguel P AT T SR B yaRi wear @ —
Which reprsents the sum and difference of polynomials
@  PX+a(x) (b)  P()-q(x)

(c) Both Jmf (d) None®ig &l

31 9gUal B UGS DI fIOR0T M R 915 H ANT U dder
Bg ol 9Tl Ul &1 WEd a1 war 7 ?

The product of polynomials is obtained by distributive law and then by add-
ing or subtracting in the which terms ?

(a) 9§ 9 "l B like terms

(b) ™A =Gl B dislike terms

(c) 81 both

d) PIg &l None

]I 9gUal BT OB DI faaRer fFam ameR 91 # AnT td Jade
og ol 9l UG BT e fear omar g ?
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The product of polynomials is obtained by distributive law and then by add-
ing or subtracting in the which terms ?

() |9 "l B like terms

(b) ™A =@l B dislike terms

(c) 8l both

d) PIg &l None

15. 325 @1 dIolid o1 8N ?
What will be the beejank of 125
@ 3 (b) 7

(c) 8 (d) None

16. @9 4 R sgug & Tonal &1 diuie B SN o Jfe HRar & —
Which of the following condition prove that :
(@) AT U < AT Y LHS<RHS
(b) &IIT U > AT Y LHS>RHS
(c) «igT & = AT 9 LHS=RHS
d) Sgdaa H DIy T8I None of the above

17. fr=fafea & & 9@ @ wifey —
SelectTrue statment of the following :
(@) Y HH—T0dd §RT 999 & & 99 € I 41 & 9 S fHar
T HhaT B |
Question can be solved from left to right or right to left by

urdharvtriyak formula
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(b) frdl < IgURl F PHGE B UG PHGA F SEaH 1 qTd
US $T UMid eRil T |
The degree of the product of two polynomials is the sum of the degree
of the given polynomials.

(c) U &I & Aif¥® TUAT &xd §¢ W U dfad #§ ferar @
HeHar § | ufshar forem @ smaeg@ar el 2
The solution can be done mentally and answer can be written in one

line.

d Sgie § af ¥ @ All are true

18, §gUal & AFT &1 81 & g Wal A & ?
Which is correct formula for solution of division of polynomial is............

(@) WINI$d =¥Slb X HRTh _+ 9Bl

dividend = division x quotient + remainder
(b) WT = ¥NP X AIHA - ATBA

dividend = division x quotient - remainder
(c) WY =9HSd x B + HTHS

dividend = division x remainder + quotient

(d)  None of the abovenlg T8

19. fA=faRed § @ ¥@ @A wifer |

Select true statement

(@ A xHH =9gual Bl UHd
LCM x H.C.F - product of the polynomials

(b) TP agde =

(51)



20.

21

22.

23.

A polynomial =
(c) Botharetrue @Iz I
(d)  Bothare false I Terd
JEUGT X 24x+4 3R x2+11x+18T TH. (x+22(x+9) dl AH. BT —

The L.C.M of ¥*4x+4 and x2+1x+18 is (x+2)(x+9) Find H.C.Fof the polynomi-

als :
@ x+2 (b) x -2
(c) x+4 (d x-4

] TR BT 12 & 3R S 3N 12 & Al TR Sd hI 2
The HCF of two numbers is 12 ad their difference is 12. The numbers are
(@) 66, (b) 70, 82

(c) 94, 106 (d) 84, Quxrck.

another polynomia

The HCF and LCM of two numbers are 50 and 250 respectii/gie Ist number is
dividend by 2, the quotiet is 50. The second number is :

(@ 50, (b) 100

(c) 125 (d) 250

frfaRad # 9 W81 9 Tord &1 eI @ e —
Tick True or False tatement of the following :
(i) IIF IgUS & VS AfEd 9o B 7

Every polynomial has a finite number of divisors.

(iy IS IgUS & U FRET [one H= BT 2 |

Every polynomial has a finite number of multiples
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(iii)

(iv)

(Vi)
(Vi)
(viii)

31 T AMfdd 9gUS BT HCF I BIaT & |

HCF of two or more polynomials is unique.

<1 AT 3P FgUS BT HCF YA 81l & |

The coefficient of the highest degree term in the HCF of two or more
polynomials is always positive.

The cofficient of the highest degree term in the LCM of two or more
polynomial is always positive.

HCF of two polynomials of degree 2 may be a constant

LCM of two polynomials of degree 2 may be a constant.

Degreee of the HCF of two polynomials is always less then the degree of

their LCM
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FPIE 4/ Unit-4
9gUc Ud oW UEH WAT

Polynomial and Reminder theorem

oY SR @ " SR U
Short and LongAnswer Type Question
1. FEfoRed 5 9 e & oHEed Iy

(@) 3x2 + 6xy (b) mn - 21m2% (© 3p2q2 + 2p3q + 9pc?
d) b+ 280% + L0 € 46X +2xy + 10y

0 ap’+ b +adf + bef

Factorise each of the following

@ 3C+6xy (b)) 7mn-21m2f ©  3p°°+2p°q + 9pdf

d) ab°+280%+ 0% () 465+ 2xy + 10y

0 ap’+ b +adf + bef

2. [ Suga AIAMST BT WA R FERIT H I URAd BT UGS
DI

Use a suitable identity to factorize each of the following:

(@) 4x2 + 4xy +y2 (b) 9x2 - 6xy + y2 (©) x2 - 4y2
d) 250 - 364 € 498-42ab+96 () 16X+ 24xy +9f
Q) x2 - y2 +2x +1 (h) 4a2 - 4b2 +4a+1
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ToEEs HIf : Factorise:
(@) p°+cf +9F +2pq +6pr + 6ar

(b) 4 +1b°+ 4ab + 8a + 4b +4

(c) x2 + y2 + 22 - 2Xy + 2Xz - 2yz

(d) 4a2 + 9b2 + c2 + 12ab + 4ac + 6bc

SR FAAHADBT & YANT A YD TeiRad dIoi &oid &I JorRd S

PITOT:

Use a suitable identity to factorise each of the following algebraic

expressions:

(a) x3 + 8y3 + 6x2y + 12xy2

(b) 8x3 + y3 + 12x2y + 6xy2

(c) 8p3 + 27q3 + 36p2q + 54p(%
(d) 8p°-27¢" - 36 q + 54pd

(€) x°-12x (x-4)-64

(f  ax° - 3bx® + 3alfx - b

fReferRad dIoia STl &1 orEsT BIfT

Factorise the following algebraic expressions:

@ x°+x-12 (b)) Xx°-10x+ 25

(d) x2-10x+9 (e) x2+2xy+y2-1

() x3- 3x2+ 3x -1

@ (x+2°+p°+2p (x+2)

(55)
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10.

TUTEUS NI (Factorize)
(@) x*+21x+104

(b) X2-5x+6
TUESH HIfSY [ (Factorize)

(@) x*+x-12 (b) x10x-25 (C)

(d) x>-121 () x2-6x+9 (f)  x+2x+9

g FIN fd afc a+b 3 7 81, dr X = a + bFe=ferRaa a#ieR &1
A T

a(x -a)=2ab - b(x-b)
Show that if a + b is not zerd th€n the equation
4 4
a(x-a)=2ab-b(x-hb)

has a solutionx=a + b.

afe 2(8° + b%) = (a + bf 2, 1 Rie BRI 5 a = bY
Show that if 2(4 + b%) = (a + bf, then a = b.
fr=AforRad STl @1 T[uEs BIfST

(@ a -t (b) & -16b"

© a-(b-cf d) X2+ 7xy+12y7

(€) x2+2ax-B-2ab M C+x2+ap8+x)-12
[&a (f) # X2 + X1 y forfRag ]
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11.

12.

Factorise each of the following:

@ at-u by a-16b"
© a-(-cf d) X2+ 7xv+ 12y
€ x°+2ax-8 - 2ab ®  C+x°+40C+x) - 12

[Hint: Write x2 +X=Y]

FR=ITIRIT IR STa BT QuIieh T dTel YRGH US| & [oHd &
wU H Fdd BT

Write each of the-following expressions as a product of linear factors with

integer coefficients:

(@) 5x°+ 16X +3 (b) 9x°+18x +8
© 2¢+1x-21 d) 2-7x-15

€ 3x°-14x+8 ® 3/°-10u+8
(@ 612 +17u+12 (h) 2407 - 41p + 12

i) 4p°-17p-21

[wida (h) 288 = X 144 = 144 = 4 72 = 8x 36 = 16x 18 = 32X
9="..]

[Hint: (h) 288 =2 144 =4x 72 =8x36 = 16x 18 =3% 9 =..]

IETERT 14 DI AR I FrfalRad 3 ¥ IRd ASTd BT UGS arRedddb
H=RIT & oM dret XRad UGS | HITIY
Factorise each of the following into linear factors with real coefficients

using the method of Example 14:

(a) x2+1x-1 (b) 2x2-x+1

6 6
(57)



© 2% -5x+ 1 d) X2 +12x+ 1

6 12 35 35

€) 21x2 - 2x +1
21

13. oS AR |
(@) 252+ 3x +12
(b) 2x° +3V3x + 3[dda Im = 2x 3 = 2X V3X V3]
) 5 \BxZ + 20x + 35
[waa: 55 x 35 = 5x 3x V5 x V5]
(d) 2% +3V5x+5
(€ 7x°+2V14x+2
Factorise:
(a) V252 + 3x +2
(b) 25 +3V3x + 3[Hint: Im = 2x 3 = 2x V3 X V3]
(c) 5\5x + 20 + 3/5
[Hint: Im =5V 5x 3v5 = 5x 3x V5 x V5]

(d) 2x°+3V5x +5
(e) 7%% + 214 + 2
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14. fHfaReq @isat & qorEsd Hifvre o9 & f&ar 7 2

(@) X°+13F +32x + 20, (X + 2% TorEs 2 |

(b) £ + 2008 +33x + 18, (2x + 3)u& [oEs B |

(c) 923 L 277 - 100z + 300, (3z + 10 eEs 2 |

(d) xS+ 13x2+31x-45, (X + & oES T |

Factorise each of the following expressions, given that:

(@) x°+13%¢ + 32x + 20, (x + 2) is a factor

(b) 4x3 + 20x2 + 33x + 18, (2x + 3) is a factor

(©) 972°-277-100z + 300, (3z + 10) is a factor

(d) x3 + 13r + 31x - 45, (x + 9) is a factor

15.  TUFEEd BIfS
Factorise:

(@) x°- 238+ 142x - 120

b) y>-7y+6

(©) X°- 105 - 53x -42

(d) x°+13¢ +31x - 45

(€) yo-2°-20y-42

(f) 2y°-5y7- 19y +42

Q) 3u3 - 4u2 -12u + 16
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16 fr=forRad &STdl &1 A8c™ AHUaqd S1d B
Find the H.C.Fof the following expressions

azb at? abc.

26x3a4y5 13x ay 78x y z 91x y 25

4x—12,x2-9

1

2

3

4, x2-1,x2+2x+1
5. X2+X-6,X2+2x-8,2x2-5x+2
6

U&{XZ-X-G awx2+3x—18,a7rqﬂ.x—a€‘r,a>r adT q4 1d

P |

If X -aisthe H.C.Fof x2 - x - 6 and x2 + 3x - 18 find the value
of a.

7. A (x +2) ax2+bx2+c, awbx2+ax+ca7rrm. 21, dr
feamti 15 a = b den
a+tb+ c =0
frferRad &Sl &1 .9, Sd &I —
If x + 2 inthe H.C.Fof ax2 + bx2 +c, and bx2 + ax + ¢ show that
a=b
a+tb+ c =0
Find the L.C.M. of the following expressions.

8. x2—xy, y2—xy

0. x2-4,x2-4x+4,>?'—16
2 2 2
10. X~ +7x+12, X +9x +20,X - 16

11. 4X2 -8x -12, 9)% - Ox - 54, 6)?r - 3OX2 +24
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17.

18.

19.

20.

.21.

frafafad wemit § o9 —a9 W sgug & ?
Which of the following function are polynomials ?

(i) 4x*-3x+2 (i) u-u*- 2 (iii)
(V) ~2y*+/3y (v) x+2 (Vi) y*+y+5
(vii) 5x3-2x2+3 (viii) 3

fr=fafad sgusl & teud), fguud ok ot d aiffqa «ifg ?
Classify the following polynomials as monomial, binomial and trinomial.

(i) y? (i) mM*+8m (iii) 7u®+12u
(iv) 3t (V) y+y2+4 (vi)7
(vii) 1+x (viii) x-x3

fr=faReaa sgusl & X %@ une (coefficient) fafag ?
Write the codicient of X in eaMBe following polynomials ?
(i) 2+x+x (i) 2+x2+x3

(i) X2+ x (iv)

fr=ifefaa sgusl @ @ (degree)sma @ifsg ?

() 5x3+4x+7x (i) 4-y
(i) 3 (iv) 5t-
(V) x°-x*+3 (iv) 2-y*y3+2y8

9gUe 5X-4X2+3 WF wa I, W4

) x=0 @i x=-1 (iii) X=2
Find the value of 5x-£&%3, when
) x=0 @i x=-1 (iii) X=2
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22

23.

fr=fafeaa sgusl = Y&y feum, Pem sguel 4 «ffea sifsg ?

() x?+x (i) x-x3 (i) X+x2 +3

(iv) 1+3y (v) 3u vi)y 7%

Classify each of the following polynomail as line@uadratic
polynomials ?

(i) x?+x (i) x-x3 (i) X+x2 +3

(iv) 1+3y (v) 3u vi)y 7%

9 o Py |

(i) x3-5x2+x+2 &R x3-3x%+2x+1

(i) 3x2+5x-2 3R -2x*-5x+6

(i) yo-3y* 3R y'+y*+2y>-6

(iv) t2+t-7 @R 3+t2+3t+4

(v) 3uw-3u+6, -4+4u+3 R -21+4
(Vi) x3-3x2+4x-4 3R x3-3x*+4x-12
(vii) 5&+10a-2, &-2a-13ir 6a-4
(Viil) X3+3x2+3x-73R  x3-3x%+3x+7
Find thesumof the polynomials given in each of the following also find
the degree of each sum.

(i) x3-5x+x+2 andx3-3x*+2x+1
(i) 3x*+5x-2 and -2%5x+6

(i) yo-3y* and y+y3+2y*-6

(iv) t+t-7 and #©t*+3t+4

(V) 3u-3u+6, -4+4u+3 and -24+4
(vi) x3-3x*+4x-4 and %3x*+4x-12
(vi) 5&+10a-2, a+2a-1 anda-4
(Viil) X 3+3x2+3x-7 and x3-3x*+3x+7
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24.

25.

26.

27.

frafaed # dgel 9gus ¥ ¥ R §gUS P HeAY R IR G P
Td UAP IR DI G FG DI |

(i) x3-3x*+6 X2-X+4
(i) ur-3uP+442+2 ub-u-4
(i) y5-3y*+y+2 y3+2y+1
(iv) t*-3t3+2t+6 t4-3t3-61+2
(V) x3+3x%+3x+7 X3-3x%+7
(Vi) 5x*+x2+1 3xHx?
(vii) 14yP+10y*+6Yy3+y>+5y+3 2y3+1
(Viil) 9x3+3x2+1-5x 3x-1

In each of the following subtract thesecond polynomial from the first

polynomial Also find the degree of the fi#rence.

(i) x3-3x*+6 X2-x+4
(i) u?-3uP+442+2 ut-u-4
(i) y*-3y*+y+2 ye+2y+1
(iv) t*-3t+2t+6 t4-3t3-6t+2
(V) X3+3x2+3x+7 X3-3x2+7
(vi) 5x*+x%+1 3xHx?
(vii) 14yP+10y*+6y3+y>+5y+3 2y3+1
(Viii) 9x3+3x2+1-5x 3x-1

U+3UP+2u+6 3R U-3UP+6U+2® IRTHA § ¥ 4UP-3u+4 Tegy R
Fa BIforg ?

From the sum of 4+3u*+2u+6 and #3uw?+6u+2 subtract £48u+4 and
find the digree of the result ?

X=XH4+X+2 § @1 oie & aImea XHx+4 9 8 Wi ?
What is to be added td-x?*+x+2 to get X+x+4 ?

X3-2X2+4x+1 ¥ a1 "eaw f5 R 1 U &/ ?
What is to be subtracted from+2x>+4x+1 to get thedifference 1 ?
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28.

29.

30.

3L

p(uw+q(u) dem p(u) - q(u) @ T w9fFE p(u) = B-U+2 AR

q(u) = u+l

Find p(u) + q(u) and p(u) - g(u) when p(u) =ud+2 and q(u) = u+1

frafoRed & & u@a & p(X) & q(X) ¥ Tom HfY R T PEHA BT

Ud S I |

(i) p(x)=x+3 R
(i) p(x) = 7x+7 3R
(i) p(x) = X-4x+4 IR
(iv) p(x) = X-3x+2 3R
(V) p(x) = 4%+9x-1 3R
(Vi) p(x) = X¥+4x2+3x-2 @R
(Vi) p(x) = »-2x+12 3R

Multiply p(x) by q(x) is each of the following and write the degree of the

product.

) p(x)=x+3 and
@M p(x) =7x+7 and
(i) p(x) = x-4x+4 and
(iv) p(x) = »-3x+2 and
(V) p(x) = 4%+9x-1 and
(Vi) p(x) =X+4x+3x-2  and
(Vi) p(x) = x-2x+12 and

q(x) = x-2

g(x) = 3x-6
q(x) = x-2

g(x) = ¥+3x+1
q(x) = 3x-7
g(x) = 7X@+9x
q(x) = 9%-11

q(x) = x-2

g(x) = 3x-6
q(x) = x-2

g(x) = ¥+3x+1
q(x) = 3x-7
g(x) = 7X@+9x
q(x) = 9%-11

e p(y) = Y¥-2y+13R q(y) = Y*-3y*+2y-1, ar p(y) q(y) @1 a4 =1a s

°Id §d PN |

If p(y) = y?>-2y+1 and q(y) = $:3y?+2y-1, find p(y) g(y) and also its

degree.

p(u) g(u)sma AR Tl p(u) = F+3u+13R q(u) = B-u2+4
Find p(u) q(u) when p(u) =*#3u+1 and q(u) =tu*+4
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32.

33.

34.

AT STe—

(i) -3ar x°¥ (vi) 52-62+7z @t 2z9

(i) x+2x*+3x 31 2x 9 (vii) -4p*+4p+p @1 2pw
(iii) 3y3+15y+12y®r 3yq  (vii) 8y3+16y+2y @ 4yd
(iv) 49°-10t+5q = 298 (iX) 4d+505-g>+69 @ 29
(V) 5x+3x%+x @ 2x & (X)  V-3y+ y’@r3ysd

Divide
(i) -3x2 by ¥ (viy 52-62+7z by 2z
(i) x+2x%+3x2 by 2x (vii) -4p*+4p+p by 2p

(iii) 3y*+15y+12y by 3y  (vii) 8y3+16y*+2y by 4y

(iv) 4°-10¢+5q by 2q (ix) 4g+5¢*-g*+6qg by 2q
(V) 5%+3x%+x by 2x (x)  y-3y*+ y? by 3y

g o fgudl & wrr -

(i) x?+6x+8@®r x+49 (v)% V-5y+6 @1 y-29
(i) y>y-12=91y-49 (Vi) 2x2+5x+3 @& 2x+39
(iii) z>-8z+15®1 z-59 (vii) 8y>2y-lar 2y-1%
(iv) x2+7x+10®r x+59 (Viii) 6X%+x-1 1 2x+19

Divide the polynomials by binomials

(i) x2+6x+8 by x+4 (V) y>by+6 by y-2
(i) y?y-12byy-4 (vi) 2x*+5x+3 by 2x+3
(iii) z?-8z+15 by z-5 (vii) 8y?2y-1by 2y-1

(iv) x>+7x+10 by x+5 (viil) 6x%+x-1 by 2x+1

Tgus & Budt | W dfe-
yo+y-By+7yA+12y B y3-3yAHAy |
Divide the polynomials by trinomials
yoHy*-5y*+7y*+12y by y-3y*+4y
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35

36

37.

38.

gUS SX(+x+1) - (4x+4X) B (4x-1) & 9rT AR |
Divide 5X(3¢+x+1) - (4x+4X) by (4x-1)

wEed fafy gRT MTee w@ SR

() X+8%-7x-2® XxX-19 wrr QRTg|
(i) x3-27x2+8x+18 F x-1 ¥ wrr QRTY|
(i) p-2p+4p-12® p-3 ] AN QR

Find the quotientby 'Paravartya Method'
() Divide x3+8x2-7x-2 by x-1

(i) Divide x3-27x%+8x+18 by x-1

(i) Divide p*-2p*+4p-12 by p-3

TUHHA ST DIY—
(i) (3-2x) (3+2x)
(ii) (3x+4) (3x-5)

Find the product
(i) (3-2x) (3+2x)
(i) (3x+4) (3x-5)

UGS BIFAT—
Factorize

(1) x+9x+20

(3) X2-x-2

(5) x*-18x+65

(7) x-15x+75x-127
(9) 1+3x+2x%

(11) »+x-110

(13) 1-30x+225%

(i) (x+4) (x+10)
(iv) (x+8) (x-10)

(i) (x+4) (x+10)
(iv) (x+8) (x-10)

(2) »+10x+24

(4) x-10x+10

(6) X+12x+48x+64
(8) »-x-42

(10) 40-12x+%

(12) »¥-18x+65
(14) XR-2x*-2x+6

(66)



39.

40.

41.

42.

(15) X+x2+x+1
(17) 2¥+6x*-cx-3c
(19) 25%-9

(21) 81%-64

(23) &-ax?

(25) 3%-12&

(27) 33-3x2

(16) 7%X-3x>-21x+9
(18) %-4

(20) 9%-1

(22) 1-100%

(24) 12%-75

(26) 7-7%

(28) 3%-12

UAETE P § SR DI Wid DT |
Factorise and check the answer

(1)

(3) 5¥+16x+3
(5) 9x+18x+8
(7) 28+11x-21

(2) 12%-7x+1
(4) 22¢-7x-15
(6) 3»-14x+8

(8) 7»¢-25x+12
55%% + 30+ 8/5

Iy ggug p(X) = 5X¥-AE+3x-2x+78 @ X-5& W T W INGA &

BT |

If the polynomial p(x) = 5%4x3+3x2-2x+7 is divided by x-5 findthe re-

mainder

Iy p(x) = 3%-4x2+5x+18R g(x) = x-1ar r(X) sa@ PRI
If p(x) = 3x-4x2+5x+1 and g(x) = x-1 find remainder r(x) when p(X) is

divided by g(x).

I} p(y) = 6-7y+9 @ y-2 | AT o W ANGA FT BN ?
If p(y) = 6y?-7y+9 then what will be the remainder on dividing p(y) by

y-2.
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43.

44,

45.

46.

47.

48.

49..

50.

51.

p(z) = 92-822+7z-6 &t z-% ¥ AN IR IS FIT DI |
Divide p(z) = 92-822+7z-6 by z- and find the remainder

X3-@X+X+2 B X-a § 9N T W U< AVGA S DI |
Find the remainder wheri-gx+x+2 is divided by x-a ?

I} al+bx+Ccd X-pF 9 TH 9FT AT AN §9 Th B X § WA
T8, o dumhd @ e ?

If ax>+bx+c is divided by x-p till the remainder is independent of x, then
what will be the remainder ?

AYhe ST PN W9 5XC-X2H+6X-2 B 1-5Xx | 91T far g |
Find remainderwhen 5x?+6x-2 is divided by 1-5x ?

Iy f(X) = x+-23+3x-ax+bdr x-1 3R X+1 ¥ AT 3 R U9hel HAT

5 3R 19 wr@ B & @ asR b w1 AW T@ AR

If on dividing f(x) = X-2x3+3x%-ax+b by x-1 and x+1 the remainder are
respectively 5 and 19, find th% valuesofaand b ?

I x+a & emEvs ' @l xH+ad-3x+tatbd ad A = PG|
If x+a is a factor of ¥ax-3x+a+5 find a ?

k @& f&a o1 @ fog sgug 2x+3x3+4kx+5x+10, (x+3)& goia: fawfor
BT |

For what value of k, 2%3x3+4kx*+5x+10 isexactly divisible by x+3.

g #ifeg & @& x-3, p(x) = ¥-3x%+4x-12 &1 PrETs 7 ?
Check whether x-3 is a factor of p(x) &3x*+4x-12 ?

g @y 6 X-3, x+3 &R X-7, X-6x>-13x+42 & [PFErs § ?
Check whether x-3, x+3 and x-7 are factors®e®x-13x+42 ?
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52.

53..

54.

55.

56.

57.

58.

Iy x-aggus X%-(f-1) X+2 F [UEETS ¥ W a B A9 AW DY |
If x-a is a factor of ¥(&-1) x+2 find value of a.

far W Ry Rig g fs x+2x3-2)2+2x-3, ¥+2x-3 ¥ goie: fawifora
8 T 2

Without actual division prove that+2x3-2x>+2x-3 is exactly divisible
by »°+2x-3.

fafafea sgusl # afk x+a, TS Tgus &1 PHETs B, O TRe Refy

# a®r 9 w@ PR

(i) x+ax-2x+a+l

(i) x*a2>é+3x-a

If (x+a) is a factor of each of the following polynomials, find the value
of a.

(i) x+ax-2x+a+l

(i) x*a2»é+3x-a

as g a9 3 fog 2¢+a+1lx+a+3, (2x-1)¥ goia: fawifea &rm ?
For what value of a, 2xax*+11x+a+3 is exactly divisible by (2x-1) ?

x3%-3x%+4x-13 % w1 ST W & a8 ¥ x-3 9 goia: o grm ?
What is be added t38x?+4x-13. So that it is exactly divisible by x-3.

x3-6x2-15x+80# & a1 gern WY f6 I8 | X>+x-129 qu—gx1 fawrfom

B g ?
What is to be subtracted fromd-&x?-15x+80. So that the difference is
exactly divisible by %+x-12.

i BIRT fF X-y, Y-z, Z-XTgug X4(y-2) + YW(z-X) + Z(X-y) & [oHErs

2|
Check that x-yy-z, z-x arefactors offy-z) + y?(z-x) + Z(x-y) ?
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59.

60.

61.

62.

63.

P(X) = X-3x2+2X+1 PN X-1 | 4N I WR U< I9hel Fa Hiforg |
Find the remainder obtained after dividing p(x)*8x?+2x+1 by x-1?

fafg IRT 5 x-3 Igug X3+XP-17x+15®T PHETS 7|
prove that x-3 isfactor of®xx?-17x+15 ?

y3-7y+6 @ I[UFEUS H BT |
Find th factor of §7y+6.

x3-13x2+31x-45a% TUFETS Fd DI |
Find th factor of ¥13x?+31x-45.

fr=foRea sgusl &1 #evq w@UEde wd PG (@99 RIEITE B
T |/ A ' BN )

(1) x>-7x+12, %X-8x+15

(2) 3(x>9) (x+4), 12(x-3

(3) 4x+12x-72, 3%3x-18

(4) 10X°+13x+3, *X+3x+2, *-4x-5

(5) x%7x+10, X+2x-8, 3%+x-6

(6) 2x*+x-1, 2%X-5x+2, 6X+X-2

(7) x2-10x+25, %25, x-5

(8) x>-x-6, ®+2x-15, %10x+21 frr fafdy =)

Find H.C.F of following polynomials (by using Lopantt&panabhayas
also).

(1) x%7x+12, *X-8x+15

(2) 3(¢-9) (x+4), 12(x-3

(3) 4x*+12x-72, 3%3x-18

(4) 10X+13x+3, R+3x+2, X-4x-5

(5) x?-7x+10, *X+2x-8, 3X-+x-6

(6) 2x°+x-1, 2X-5x+2,  6%+x-2

(7) x?-10x+25, %25, x5

(8) x*-x-6, »¥+2x-15, %-10x+21 (Divison Method)
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64.

frafoiea sgusl &1 dga 99Ma™d F@Ta i |
(1) 3x>-7x+2, 3%+8x-3

(2) x?-2x+1, »X+x-2

(3) x3-3x-4, X+2x-24

(4) x*+3x+2, X+b5x+6

(5) x%9x+14, *%10x+21

(6) x?-5x+6, %-2x-3, X-X-2

(7) 4x*-8x-12, 9%-9x-54, 6%-30x+24

Find L.C.M. of the following polynomials.
(1) 3x*-7x+2, 3X+8x-3

(2) x%2x+1, »X+x-2

(3) x3>-3x-4, X+2x-24

(4) x*+3x+2, X+5x+6

(5) x%-9x+14, xX-10x+21

(6) x%-5x+6, %X-2x-3, X-X-2

(7) 4x*>-8x-12, 9%-9x-54, 6%-30x+24
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AEYTI—5
Unit-5
AEVTH
(Logarithms)

gejfrs ue (Objective Answer type Questions)
dlg : WY ¥ W ar fimw & @@ Ime gfem -
Short out the correct answer from the following given four
answer
1. TYIUD & Gioidhd! A8, MOs ded Sib AR ®al & o ?
Where is the native place of discover of logarithms great mathemati-
cian. John Napier ?
(@) ¥ra India (bl whiceve Scotland
(c) s=d Arab (d) =" Europe

2. I avd g THS ardfad e a>0dra 1@ fwas=m s ar
& BEd © i 3R @R M1 agmors X B, 39 UeRid fhar sirar € —
If is a positive real number a> 0, a =1 ahdm, then we say that
logarithm of m on the base ais X we write it as :
(@ a=mlogm=x (b) a&=mlog m=a
(c) a =m log a=x (d) None of them
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BT {4 S DITY |

What is value of ?

@ 3 (b) 4
c 9 d) 27
HEl B BT FATd BT ?

(@) 3Ifc G el © A IHBT TS 1 9T & |
(b) 1 @1 AR I BT &, B Al AER B W

(C) <TgIUIe H SR 10 &M UR A ALV PHad ©, oI
MR 10 € o 89 S Sl T8 B & |
(d) i ¥z

Find out select statement.

(@ Ifthe number increases, its logorithm also increase

(b) Logarithm of 1 to any base is zero.

(c) Logarithms of base 10 aréog&ﬁgd:cl%?ﬁ?]nglr? %Barithms when
the base is 10, it need not to be mentioned.

(d) Allaretrue

fFeforiad & Tera U @1 gfig—

(@)

(b) Ioga% = log, m- log, n

(C) log,(m")=nlog, m

(d)  log,(m")=mlog, m

Select false statement of the following ?
(@  log, mn=log, m+ log, n

(b) Ioga% =log, m-log, n

()  log,(m")=nlog, m

(d)  log,(m")=mlog, m
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S GEIRIT & OB BT AGIUD IAD AGIUDI B ... b IR & |

(@) arTed (b) wrTRa
(b) e (d) TorFee
Logarithm of product of two numbers is equal to the ........ of the logarithms

of the number

(@ Sum (b) Ratio

(c) Difference (d) Multiple

ST GEARIT & AU BT ALITD I TYIVD] B ... @ IR & |

(@) IrTHA (b) wTHd

(€) o (d) Tore

The logarithm of ratio of two numbers is equal to the ........ of the logarithms

of the number
(@ Sum (b) Ratio
(c) Difference (d) Multiple

0.00015 BT HH®H wU H fore Iad 2 ?

@ 15x10 (b) 15x1¢
(c) 15x1¢° (d 15x10
0.00015 can be written as in the standard form -
@ 15x1 (b) 1.5x10¢
(c) 15x1C (d 15x10
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9.  —36432 ¥ TYHAT —0.6432 FUTHSD €, 39 fbd ©T § forg A &7
(@) -3-1+1-0.6432 (b) -4+ 0.3568
(c) 4.3568 (d) Allof the above
In the number -3.6432, the decimalpart inegative i.e. -0.6432. we chance it
and can be shown as :
(@) -3-1+1-0.6432 (b) -4+ 0.3568
(c) 4.3568 (d) Allof the above

10. A Y MY log, & A FUMHS T Al 3AD 3MYUId dTel 9RT Bl TATHED
T @ oy SAH R SISHR QUITST 9T § | FIT HAT TS 7
(@ 1 uregdx 1 e (b) 2 e 1 "Ml
() 2Gegdx 1 "err (d) w0

If the mantissa of the given lot negative we have to make it positive by

adding and subtracting of what ?

(1) By adding & subtracting %92) By adding 2 &
5
subtracting of 1
(3) By adding & subtracting of 2 (4)  All of the above

11. log,,.7 &1 A =1 &Y |

The value of |09137 IS -

(@) (b) -3

(c) (d 3
12. log, HAFE |

The value of log IS -

@ 3 (b) -3

(c) (d)
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14.

15.

16.

17.

18.

19.

log &AM T |
The value oflog is -

@) (b) 5
(c) 10 (d)

log,, (0.0001)ar A1 & |
The value of log (0.0001)is -

(@) (b)
() -4 (d) 4

log,,,, (1000) &7 71 & |
The value of Iogo) (1000)is -

@) (b)
(€) (d) %ﬁf X Eg

log x=-2 8l X &1 A & |

If logx=-2then x is equal to -

(@ -9 (b) -6
(c) -8 (d)
2l X BT 99 B |
If then the value of x is -
(@) (b)
(c) 4 (d 3
W XPTAA R |
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20.

21.

22.

If
(@)

(€)

@)

(€)

@)
(€)

(@)
(€)

16
128

10
1000

then x is equal to -

(b)
(d)
W XBTAA B |

then x is equal to -

(b)
(d)
B X &I 99 8N |

Bt

then the value of x is -

(b) 64
d) 256
8 X BT |99 8N |

then the value of x is -
(b) 100
(d)
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23. (log,27+l0g32) &1 & 8T |
The value of (log27+log32) is -

(@ 4 (b)) 7

(€) (d)
24. log, 125+10g8=x, & @ &I a4 &M |

The log 125+10g98=x, then x is equal to -
@ 3 (b) -3

(©) (d) 0.064

25. log,(log.625) @1 A BT |

The value of log(log,625) is - f
(1 2 (2 5
(3) 10 (4) 15
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oY U4 o 399 ged

Short and long Answer Type Question

1. f=faRed | S8 W™ 91 ool g a1 FomsIs 91did 81, d S g
Simplify each of the following , removing radical sings and negative indices wher-

ever the occur :

2. X, Y, Z® g9 IRdAeh AR AEyY @) HEfRad wRe S
Assuming that x, yz, are positive r¢#l hq[ﬁ_v)f)se(réz_ﬁi_ﬁnplity each of the following:

1
) x7 ¥ Wz
(I (2% y¥2)? (IV)25¥3 316
(I ()
(V)Y =y ™2

3. T AR fh X, Y, Z O aRdfad A € | iR I 'rdie uRey dwemd
2| feargy fo
Assuming that x, y, z, are positive real numbers, exponents are all rational

number, show that.
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a a?+ab+b? b b? +bc+c? c c?+ca+a’
[ X X 1
X" X° x?

(1 \/Fy\/FZ\/FX =1

X a alab X b 1/bc X c 1/ ca
X X X

f=ferRad gl § Ife MR &7 BIs Sooikg 7 &1 ol MR & a =10 9=
SISTY |

In each of the following, assume that the base a = 10 wherever it has not been
indicated:
1. gy #IfST fd log (mng) =log m+ log n + log p

Prove that log (mnp) =logm +logn+log p

2. gy I & log (al, a2,............. ak) =logal+loga2 +.......log ak
Prove thatlog (al, a2,............. ak)=logal+loga2+....... log ak

3. ¥y PR b log 12 = log 3 + log 4
Prove thatlog 12 =log 3 + log 4
4. femrgy fd log360=31log2+log3+log5
Show thatlog 360=3log2 +log3+log5
5. fe@u & log=log2+2log5-log3-2log7
Showthatlog=log2+2log5-log3-2log7
6. faasy fd
() 3log2+log5=1Ilog40
(1) 5log3-log9=1log27
Show that log
(i) 3log2+log5=1log40
(1) 5log3-log9=1log 27
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ARMORT BT WIRT $Rab HfoIRad H | Ud AT BT TGI0h S
DI |

(i) 48 (i) 7 (i) 3.17

(v) 3.172 (v) 0.235 (vi) 0.2354

Using tables, find the logarithm of each of the following numbers:

(i) 4.8 (i) 7 (i) 3.17

(iv) 3.172 (v) 0.235 (vi) 0.2354

log X T PHISA STafd X aR16R 8

(i) 0.0768 (i) 0.0025 (iii) 0.0087
(iv) 0.00954 (v) 0.0056 (vi) 0.0287 Find log x, if x equals.
(i) 0.0768 (i) 0.0025 (iii) 0.0087
(iv) 0.00954 (v) 0.0056 (vi) 0.0287

F=fRad H | URd BT I S DIy
() 0.752 (ii) 0.301 (iii) 0.5428 (iv) 2.752 (v) -1.301 (vi) -2.5426
Find the antilogarithm of each of the following:

(i) 0.752 (ii) 0.301 (iii) 0.5428 (iv) 2.752 (v) -1.301 (vi) -2.5426

A & TS URIe W1 Bl WA @1 AU B | UE BT P+ log m,
@ wu # faRay S&t p goifer @ik logm smurfer 2 | a8 wwam s STy |
(i) 1.2086 (ii) -1.2084 (iii) -2.4345 (iv) -3.6432 (v) 2.5674 (vi) - 0.62

Each of the following number is the logarithm of some number. Express each
in the form p + log m, where p is the characteristic log m the mantissa, and
find the number.

(i) 1.2086 (ii) -1.2084 (jii) -2.4345 (iv) -3.6432 (V) 2.5674 (vi) - 0.62
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10.

11.

12.

fforRaa &1 gmore & wu # faRay |
0 2=9 (i) 102=0.01
(i) 5°=125 (iv) 60° =1

Write following in the form of logarithms.

() 32*=9 (i) 102=0.01
@iy 5°=125 (iv) 60°=1
fforRaa &1 gmore & wu # faRay |
Write following in the form of logarithms.
0 8= (i) 102=0.01
(i) 10%=0.001 (iv) m"=q
1
frfaRad @1 araial v H %ﬂ%é’ |
Write following in exponential form
() log, 243=5 (i) log, =-2
(i) log,1=0 (iv) log. n=q

Evaluate the following.
(i) log, 27 (i) log,, 0.001
(i) log, (iv) log, 216

fr=forRad gyl § Ife MR &1 oo T &8 Al IR 10 F1H 1T |

In following example take the base as 10, if no base is mentioned :
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13.

14.

15.

fig #Rwl / Prove that :

() 3long2+log5=1log40

(i) 5log 3-log9 =log 27

(i) 5log3+log9=log 2187

(iv) 4log5+2log4 =4

(v) log (1+2+3)=log 1l +log?2 +log 3

(vij 3log4+2log5- log64- logle=2
(viiy 7log -2log +2log =1og?2
(vii) 2 log + log - log =log 2

g Py b
log (mmp) =log m +log n + log p
Prove that

log (mmp) =log m +log n + log p

g dIforg &
log (a, a, ..... g)=logg+logag+... + log g

Prove that

log (a, a, ... g)=logg+loga+... +log p

g PIfoY T
log =log2+2log5-log3-2log7

Prove that

log =log2+2log5-log3-2log7
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16.

17.

18.

19.

20.

Rig I fd

4log -16log + 7log =log 5
Prove that

4log -16log + 7log =log 5
f=fIRIT FHIHROT BT B ST HIFTU |

log(x+1)+log(x-1)=logl+2log3

Solve the following equations

log(x+1)+log (x-1)=logl+2log3

Rig BT |
() log3.log4.logs=2

(i) logx.logy=logx Xlogy

Prove

() log3.log4 .log5 =2

7

(i) logx.logy=logx Xlogy

X T {9 ST DITT —
log x =log (x - 1) = log 3.
Find value of if -

log x =log (x - 1) = log 3.

frforRarg dmstl &7 g9™ed wu § forRgu 5919 10 & o1 &1 Pis

TUFEUS T |
() 2.3x10

(i 2.5x10°
(i) 1.3 x 10

(84)

(iv) 61.25x 1¢
(v) 61.25x18
(vi) 8.132x 10



21.

22.

23.

Write each of the following numbers in the form of decimals without powers

of 10 as factors.

() 2.3x16 (iv) 61.25 x 107
i) 2.5x1C (v) 61.25x 10
(i) 1.3 x 10" (vi) 8.132 x 10

fr=forRadd g wH=e wu & oy |

) 6.234 (iv) 6234
i) 62.34 (v) 62340
(i) 623.4 (vi) .06234

Write each of the following in standard form.

() 6.234 (iv) 6234
i) 62.34 (v) 62340
(i) 623.4 (vi) .06234

FrAfelRad H=mell & oTgaores & quier forfey |

() 2170 (iv) 30.125

(i) 0.02 (v) 54

(i) 8.895 (vi) 0.0038

Write the characteristics of logarithms of following numbers :
() 2170 (iv) 30.125

(i) 0.02 (v) 54

(i) 8.895 (vi) 0.0038

TS ARV BT GIANT R F=IfaiRad Gamell & oTgiore felRay |
i) 3182 (iv) 0.0036
(i) 8 (v) 38.27
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24

25

26

(i) 300 (vi) 0.0003258

Write logarithms of following numbers by using logarithmic tables :

() 3182 (iv) 0.0036
(i) 8 (v) 38.27
(i) 300 (vi) 0.0003258

fFeTfeTRad Amell &1 Ufch TgeToTeh Si7d HIfTY |

() 2.310 (iv) 4.2462

(i) 2.301 (v) 0.0845

(i) 3.4128

Find the antilogarithm of the following numbers.
() 2.310 (iv) 4.2462

(i) 2.301 (v) 0.0845

(i) 3.4128

HIH S BIFTT |

() antilog4.2234 (iii) antilog 3.5821
() antilog 0.5 (iv) antilog 0.0055
Evaluate

() antilog4.2234 (iii) antilog 3.5821
() antilog 0.5 (iv) antilog 0.0055
ffeRad X &1 719 31d BN

() logx=0.0769 (ii) logx =3.5727
(M logx=1.138 (iv) logx =0.352
Find x in each of the following :

() logx=0.0769 (i) logx =3.5727
() logx=1.138 (iv) logx =0.352
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27 A &S IS AT BT BT AT 2 | U b P+log ma wu H
faRRay et P gurier iR logm emqurier 2 | 98 S sid Sy |
() 2.2016 (iii) -1.3048
(i) -3.4623 (iv) -0.48
Each of the number given below is logarithm of some nuritsete each
of the following as p+logm where p is the characteristic and log m is the
mantissa. Find the number
() 2.2016 (iii) -1.3048
(i) -3.4623 (iv) -0.48

28 frfeRaa &1 99 Sd BT |

() 0.0865x 1.507 (vi) (0.623¥
P4 .67
0.0823
(i) 16.4x981.4 (vii) 352.6 x0.078 x 0.5943
(iii) (viii) 2465 x .000007
(iv) (ix) (0.096343
(V) x2.143 x (1.2 (x)

Evaluate the following :

() 0.0865 x 1.507 (vi) (0.623
(i) 16.4x981.4 (vii) 352.6 x 0.078 x 0.5943
(i) (viii) 2465 x .000007
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20.

30.

31.

32.

33

(iv) (iX) (0.09634)

(V) x2.143 x (1.2 (x)

48 BT TS SIHAT & QI I qP Yg A A DI |

Find cube root of 48, correct to two places of decimal.

2% T TGIUTd [ofRaY 3R $H&! AR ¥ garsy b 2% & |\ | fham

3% BT |

Write logarithm of 2*and use it to find the number of digits in the numeral
of 264,

SIMCAT & M I Tb Yg A AId DIy |

%@m@@.@ﬁ 0.457:
3.28 (6.15

(i) (56.73f x (0.037D
86.21
Evaluate each of the following correct to three places of decimal.

456.3%/ 0.457:
(6.15)

(i)

0 (56.73} x (0.037D
86.21
frfeRad &1 719 =1d SIfoig -

(1) 6.45x 981.4 (ll) 0.0064 x 1.507
Find the value of
(i) 6.45 x 981.4(ii) 0.0064 x 1.507

A ST BT
() (I) 0.054 = 216.3
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34.

35

36.

37.

38.

Evaluate :

() (i) 0.054 + 216.3

FrforRad &1 A S S

(1) (0.724)° (1) (4.5)

Find the value of

(i) (.724)° (i) (4.5

A8 BT Tl TIA B & I T Y& ST DIfTY |

Find the cube root of 48, correct to two decimal places.

264 31 ST fIRay 3R T WerIdr | aarsy & 264 3 e
¥ e ofh BT |
Write down the logarithm of 2°4 and use it to state the
number of digits in the numeral for 254
TS RO & YN | 749 AT DI
() 7Tx(35f () 1045 .
(1) x (3.2) (IV) x 3.142 x (1.5)
STERTOTh] BT FBIAT I FFfIRad Bl TRl HITSTY
(a) 57.12 x 2.034
b) 0.8623 x 0.000451

) 352.6 x 0.078 x 0.5943
(d) 2456 x 0.00071

) 328.4 x 12.65
(fH 0.3865 + 0.000572
Using logarithms, Simplify
(a) 57.12 x 2.034
b) 0.8623 x 0.000451

) 352.6 x 0.078 x 0.5943
(d) 2456 x 0.00071

) 328.4 x 12.65
(fHh 0.3865 + 0.000572
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IAEYTI—6
Unit-6
Th O R # TF ORI SR

(Linear Equation in One Variable)

EI'\'TjﬁE 931 (Objective Answer type Questions)
dle : Wi G¥ W T fiew & od Ime gfm -

Short out the correct answer from the following given four answer
1. FHIART [ Fed © ?

(@) TP T AT 3Mf8e T=d jIRRT o gad fdhel &l 9ol
STD] DI AAAT DI AfTGT B ATl HAA

(b) T& 1 Mfde A1 Sa AR | qad Bl a1 oy AT
DI FHAT DI AT BT aTel BT

(c) a1 =i

(d) g T

What is an equations -

(@) An equality statement of two algebric expression involving one or
more than one known quantities.

(b) An equality statement of two algebric expression involving one or
more than one known quantities.

(d) Both (a) and (b)

(d) None of these

2. e fdl T § Ygad @R & Soaad g1d fhae 8 a9 Raw
HHHT FHET T
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What must be the power of the variable accuring in the equation for a

linearequation -
(@) & One (b) & Two
(c) 99 Three (d) IR Four

e & gaar s # @15 uRada =& smar 8, IR & -

(@) ¥exer & SFF el ¥ §EN e o §

(b) ¥R & I UGl b HANM AT S &

(c) FIHRYT @ QI TSl N AN YRR H&T ¥ T HRd
(d) Swfa@ W

The quality of an equation does not change if we -

(@) Add same number on both sides

(b) Subtract same number sfrom both sides

(c) Multiply both sides bysame (non-zero) number

(d) All of the above 2+ 23

5x+3=18s9% X &I AT 8FIT ?

@ 3 (b) 5

(c) 18 (d) @1 =i
5x+3=18 what is the value of x ?
(@ 3 (b) 5

(c) 18 (d) none

J3y-2=2/3+4 H Y & AF BT ?
() (b) 2-2/3
(c) 2J3-2 (d) &1 &t
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what is the value of y ?
@) (b) 2-2/3
(€) 243-2 (d) none

T AT & g H W 30 TS UR BH 56 UKl BIAT & | AT S DITOTQ |
(@ 30 (b) 40

(b) 43 (d) ®1g e

On subtracting 30 from the double of a numlvee get 56. Find the

number
(@ 30 (b) 40
(c) 43 (d) None

T YEUS BT URHATT 40 AR & | VS P oS dleTs 4 4 HIeX s1frd

g, O SH®! oIF T8 Ud dlers grfl |

@ 12m,8m (b) Sm%&?{k 2/3+ 4

(c) 16m, 12m (d) @15 =&l

The perimeter of a plot of land is 210 m. If the length of the plot is 4m.

more than the breadth, find the length and breadth of the plot.
@ 12m,8m (b) 8m, 12m
(c) 16m, 12m (d) None

T 3x+7 = 20T & BN |

The solution of 3x+8 = 20 will be.

(@ 13 (b)

(c) (d) ®% =& (None of them)
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JEITI—6
Unit-6

T N TR N T OEE qHEm
(Linear Equation in OneVariable)

Short and logAnswer type questions

oy (9 9 Sakg g

1. frforRaa wieon & g SIfoTe fb =R &1 far T=am 99 JHiaxoT
BT BA © AT o |

(i) x+4=2x; x=4 (i) y-7=3y+8; vy
In the following equation§ivayify whether He gi(ﬁeh&ralaeg-z X=
of the variable is a soluti(po)(gfxthgie%igagl_op:

(i) x+4=2x; x=4 (i) y-7=3y+8; y=3

(i) B3u+2=2u+7: u=5  (iv) 3x—3=g—2; X =2

(V)§x+3:Z};x:3
2 2

2. f=ferRad Iiaxo &7 8 BT

(i) 3x+3+15

(i) 2y +7 =19

(ii)5/ 2x+3 =21/ 2
(iv)v/3 x-2=2/3+4
(v) 8u+21/4=3u+7
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Solve the following equations:

(i) 3x+3+15

(i) 2y +7 =19

(ii)5/ 2x+3 =21/ 2
(iv)v/3 x-2=2/3+4
(v) 8u+21/4=3u+7

3. U G&IT Bl, IS9P < fagls § Siled W 35 Ui 8idm 2 | 98 &7 1d
DT |
A number added to its two-third is equal to 35. Find the
number.

4. ] Rl BT AMher 50 B, Af S0 | U 6 N S a1 2 /3
AT B, < S AT ST DI |
The sum of two numbers, one of which times the other, is
50. Find the two numbers.

5. A8 faganidl &1 U PHell H, TSIl ol H=AT dAsdhl Dl A ol 1 /7
T B, ASHI 3R Tefhal & A& S0 BIRTY |

In a class with 48 students, the number of girls is times the

number of boys. Find the number of boys and the number of girls

in the class.

6. T D D MY U+ T oF g 1 v fierE 2 | 9RE a9 uedar S9
sd DI MY fUTT o1 Y B 3Tl Bl | s AR SF T Bl aciar

31 I BIFY |
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10.

A boy is now one-third as old as his father. Twelve years hence
he will be half as old as his father. Determine the present age of
the boy and that of his father.

T A A 3O aRIRIT H 9T AU T ST AT U+ ufed & forg,
T fETs 91T o0 s & ot iR U U ddel & ol Bier | Iafa
arsa! &1 Wi 15000 %. 81 a1 9aisy & a8 fa dufcd ere 11 o |
IHD! Ul BT el a1 el ? IAqD dAsd Pl Hol a1 Al ?

A man leaves half his property to his wife, one-third to his son

and the remaining to his daughter. If the daughter’s share is Rs.
15,000, how much money did the man leave? How much money

did his wife get? What is son’s share?

T AT B Gidls ITH! drsls 9 5 I v g | afe mad &1 gRkem
A0 ). B, A1 3Id BT ofdTs 3R TSl S BITIT |

The length of a rectangle is 5 cm more than the breadth. If the

perimeter of the rectangle is 40 cm. find the length and breadth

of the rectangle.

U T Bl didls IAB! drsls I 4 A9 31w 2 3R S9ar uRam 11
A, AH T | M &) 1S AR AR ST DI |

The length of a rectangle is 4 cm. more than the breadth and the
perimeter is 11 cm. more than the breadth. Find the length and

breadth of the rectangle.

5yt ABC &1 @107 A, 39 Q1 SI01 & IRT & a-16R 7 | AR Bior B
derr o7 C H 4:5 &1 3urd & | A1 DIvlf & A Si1d SIS |
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11.

12.

13.

14.

The angle A of a triangle ABC is equal to the sum of the other two
angles. Also the ratio of the angle B to the angle C is 4:5. Deter-

mine the three angles.

] AR BT ARThel 50 3R ShT 3R 10 & | WU SId PIToTT |
The sum of two numbers is 50, and their difference is 10. Find

the numbers.

T AT QT APl DI I41 © | TBTS DI 3, TPhIg & 3 A AT © | Al
BT URTAdT B A TN WL, & g AT A 27 B © | AT A
DITY |

A number consists of two digits. The digit at the ten’s place is two
times the digit at the unit’s place. The number, formed by revers-
ing the digits, is 27 less than the original number. Find the original

number.

5 ¥ Yd, T AN DI 3MY, 37U ASD Dl MY I AT 1 oY | 3 ¥ 5
Y yTErd SED! AT ASD DI dF AT BN | IASY IH A B 3R
D D DI 3MY NG T & 7

5 years ago, the age of a man was 7 times the age of his son.
The age of the man will be 3 times the age of his son in five years

from now. How old are the man and his son now?

TP JIATRR &5 &1 gRATT 80 Hex & | I &3 & odrs 2 Hiex &H
PN S SV 3R ST drers 2 L 9¢T < S0 dl &9%he 36 a¥iHiex
JfSp BT SITAT | JMAATHR &5 PI odls AR dlsls Sd BT |
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15.

16.

17.

18.

The perimeter of a rectangular field is 80 m. If the length of the
field is decreased by 2m and its breadth increased by 2m, the
area is increased by 36 sq.m. Find the length and the breadth of

the rectangular field.

355 % @1 A,B iR C # g9 uaR qifey fs Al B ¥ 20 &. s1fd®
firel @ik C o1 A 15%. 3ifda firel |
Divide Rs. 355 among A, B and C, so that A may have Rs. 20

more than B, and C Rs. 15 more than A.

T AT ]T (bl A I1 & | GBS Bl 3P 3DhIs & 3idh H 6 318d 7 AR
AT W DBl B ANEHA B T T & | AT 1T DI |

A number consists of two digits of which the ten’s digit exceeds
the unit's digit by 6. The number itself is equal to ten times the

sum of digits. Find the number.

S afad, fag A SR B 9, o 42 forft. @ g2 wR €, ama TRe R
2| e aafad 4 feA. gl 9 &) a3 Fadn g iR fauwia feem 4 an
T TR Afdd &I 6 b & g fAddr 2 | 9arsy SO Afad fae ard
H I TET ¢ |

Two men start from points A and B, 42 km apart. One walks at 4
km per hour and meets the other, going in the opposite direction,

after 6 hours. Find the rate at which the second man is walking.

Tl ARl BT AN 642 T TSI AT BT BIST AT A YT o4 R
IThe 8 3R &ahel 19 31dr 2 | 4&=a¢ 9argy |
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19.

20.

22.

23.

The difference between two numbers is 642. When the greater
is divided by the smaller, the quotient is 8 and the remainder is

19. Find the numbers.

300 &I U Wi # difey 5 T W &7 SRl SR 91T 9 48 &H B |
Divide 300 into two parts so that half of one part may be
less than the other by 48.

243 . DI VA AR H 91T 6 Tgel W &7 MMM, TR 91T &1 feTs oiR
TR T BT NS, TRER aRIER 8 |

Divide Rs. 243 into three parts such that half of the first part, one-
third of the second part and one-fourth of the third part, shall be

equal.

il @ wErr @ Ry v HlieRe g S|

Solve the following by using rules :

(1) 2x=8 (2) 7x + 20 = 62
(3) 3Ix+2=23 (4) 5y+4=1
(5) 3y +7=40 (6) 5x + 9 =2x + 21
(7) 7x+3=17 (8) 6x+2=3x-4
(9) 3x-10=5 (10) 3y+7=2y-7

ge=RYT Ay @ fav v Waw e w1 g PG|

Solve the given linear equations by transposition :
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24.

25.

26.

27.

(1) 3x +2 =23 (2)2y =53 +Yy)

(3) 5x-7=18 (4) 13x-14=9x+ 10
(5) 3y +10=28 (6) 8y +21=3y+7

(7) 4x-7=2x+3 8) J3x-2=4-2 X
(9) 9z2-15=9-3z (10) 12x + 4 = 4x + 28

Uh G H 10 Gle TR 98 26 @ SXE} & ol & o 98 6
Fa PG

On adding 10 to a number it becomes 26. Find the number

fodl S | 5 BT 91T AP} 6 SISl WA o 98 15 S SXI&X &I
Ot € @ e Saisq|
When a number divided by Sﬁnd then 6 is added to the quotient, we get

15. Findthe number

Th W& B A ¥ ¥ 9 "M WR URUIM 67 IMCT ¥ WAl S|
PIFIT |

On subtracting 9 from double of a numbirbecomes 67. Find the

number

3 Gl BT ANThe 50 8, 9 SOH 9 TP 9 gEN e @
2/3 T B, A I GAN TG DI |
Sum of two numbers is 50. If one of them is 2/3 times the dthdiboth

the numbers.
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28.

29.

30.

31.

3 Pl AN TH ST B B BT AT 9 B AP BT WWR HA
S0 W U wer & g 6er 9§ 27 e 21 98 6w
DI |

The sum ofdigits of a two-digit number is 9. On interchanging the order
of the digits, the number becomes 27 more than the original nuinter

the number

UH AT I B! B S 8 TEE B D FHIE b b W G ©
Ife sl B 9o AT W¢ A T3 W& qA @& W 27 HH B
Td €& Sa B |

In a two digit numberthe tens digit is double the ones digit. If the digits
are interchanged the number becomes 27 less than the original number

Find the original number

TF GE& A B ¥ g 2, R wmE @1 oip s @ 3iF 9
ST 81 ok wEr wWE A & el & AN @1 10 [ 2| Hen

S BT |

In a two digit number the tens digit is bigger than the ones digit. The

number itself is 10 times the sum of its digits. Find the number

TPH HE o) 3w ¥ T ], R 3EE @ 3ie ¥ 3 e ® eiR
T WA 3B D ANEA B WG A 8| HET S DRI
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32.

33.

33.

34.

A number consists of two digitéens digit is 3 more than the ones digit

and number is 7 times the sum of its digits. Find the number

U% &1 B 369 QI-f08g AN § Sign & AT 35 AT & | W&
CIGERS
On adding two third of a number to the numbtegives 35. Find the

number

64 B $H UPR & AFN ¥ difey & & A—gwR &1 9 1 &)

Divide 64 in two parts so that one part is three times thesecond part.

TP I D NS SHD! il 9 5 9 e B At | 3
gRATIT 40 N 2, T ATAHR &F B aHNIs AR FSE FIG
DI |

The length of a rectangle is 5 cm more than its breadth. Ifthe perimeter of

the reactangle is 40 cm. Find the length and breadth of the rectangle.

@ wReTg BrSt ¥ aveR qeme 4 ¥ U SR & 4 9 2

Iy Brgs &1 aRAT 20 N A @ B A qomel A awE

ST BT |

In an isosceles triangle each of the equal side is 4 cm. more than base. If

the perimeter of the triangle is 29 cm, find the lengths of its sides.
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35.

36.

37.

38.

39.

U6 JEAGR &3 & T8 SHdl drelg 1 gl & afy aF B
gRATT 1500 HieX B A SHPIANTE AR deis Ad DHIfoIg |
The length of a rectangular region is double of its breadth. If the perim-

eter of the region is 1500m, find its length and breadth.

U JAHR &5 T gRAT 100 Hex 3| IR 857 H =€ 2

Alex HH PR A ¢ 3R dAlerg 3 Hiek e ) & Wy o a7

BT STBA 44 THICY 9¢ OAT o | &3 & owlg X dlels &d
DI |

The perimeter of a rectangular region is 100 m. If the length of the region
is reduced by 2 m. and breadth is incrfeased by 3 m. then the area of the

region will increase by 44 m. findthe length and breadth of the angles.

W Brge & dF @ 235 F 2| B @ do1 g i

Three angle of a triangle are in ratio 2:3:5. Find the angles.

300 B W & AR # qifey f5 U W17 &1 ST SEN WIT ¥ 48
39 B

Divide 300 into parts so that half of one part is 48 less than the other part.

243 ®UY B N9 TH AR A Fifey & ugel WRT @1 oemn, §ER
I &1 faeE R TR 91T &1 AerE, WER RE) 8|

Divide Rs. 243 into three parts so that half of the first part, one-third of
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40.

41.

42.

the second part and one fourth of the third are equal to eadh othe

T A9 ° AN qEa H AT U BT ST WRT AU Tt

@ forg, go foEE Wi aoe dsel @ fou SR 99 e e @

forg Bier| aft e &1 wFT 15000 ®. B, A FARY F a7 BN
Hufd BIS T oT| SHO! Uil B o o1 fem ? SHa dsan

D Fa @1 A ?

A man left half part of his property for his wife, one-third for his daughter
and rest for his son in his will. If the son's part is Rs. 15000. Find the
total property he left for his familyHow much his wife got ®hat

amount his daughter got ?

Prget ABC @1 31T A 99 LA B AT 3 R & AR Bhor
Baem @1 C & 45 &1 3qurd 2| @A HIUN & AT A
DI |

AngleA of Is equal to the sum of the other two angles and angle B

and angle C are in ratio 4:5. Find the measures of all angles.

TS W69 agye B WHIR ol oeTy A 56 Al SR
40 WA AT I OIS B @S 28 W AR 30 W ¥ wHew
TTHA BT SABA ST DI |

The parallet sides of a trapezium are 56 cm. and 40 long and other sides

are 28 cm. and 30 cm. Find the area of the trapezium.
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43.

ot o & B &k A 8 e # wxall &1 291 3l S 12
7 # o} Wl | O JAIgY AT Idal fhan o= # Hwh ?
Heena and Seema complete a work is 8 days. Heena along complete the

work in 12 days. In how many days can Seema complete the work ?

(104)



JEITI—7
Unit-7
Brarorfafer

(Trigonometry)

EI'\'TjﬁE 931 (Objective Answer type Questions)
dle : Wi G¥ W T fiew & oF Ime gfm -

Short out the correct answer from the following given four answer

1. Is equal to -
(@ <= (b) i
Hf L |
() <= (d o &
SITEMY
Sifauar
Slehfisigrmusar
@) (b)
(c) (d) None
2. = Perpendicula(er™)
(a) hypotenuse@of) (b)  baseERMER)
(c) both (d) None
3.
(@) cosecA (b) secA
(c) cosA (d) None
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(@) cosecA

(c) cosA

What is the value of
(@ 1
(c)

BT A B
What is the value of
(@)
(c) 2

& 94 B
What is the value of
@)
(c) 2
& 94 B
What is correct for
(@) cot

(c) cosec

% st ABC #
g d P | BN |
In triangleABC,

hypotenuse ?

(b) secA
(d) None

(b) 2
(d)

(b) 1
(d)

RO 00
QimA
(b) 1

(d)

(b)
(d) sec

TP B, Ife AB=129#. 3k BC=594.

is right angle iAB=12cm and BC=5cm, find out its
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10.

11.

12.

13.

14.

(@ 15cm (b) 13cm

(c) 1l4cm (d) None
afg ar

If then

(@) (b)

(c) (d)

afy Gl PT AF BN
If then will be.

(@) (b)

(c) (d)

Ifg Gl

If then

(@ 2

(c) 2

7 &1 W9 8N coseé3(.sirtd5 - se@6(f
The value of the following will cosé’(’.sirf45° - seé6(®

(@) (b)
(c) -2 (d) 2
af 2 A P @ oA A =
tand — sind
. _21 . . secd
Given cosd = 29 the value of the following wilF and—sirg
841
@ g (b)
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15.

16.

15.

16.

(€) (d)

Jfe A=45° @ &1 BN 2sinA.cosA

If A=45° evaluate 2sinA.coswill be

(@) (b)

(€) d 1

Jfe tanB= & o sinB

IftanB=  then sinB will be

(@) (b)

(c) (d)
[T
20

afy 2 d SecA®dT HAMF BNIT|

If cosoy=+/1c then secA will be

@ 20 ()

© @

afe g o ST A4 B
If then will be

@ )
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17.

18.

19.

20.

(€) (d)

afe R tan B =3 o 9 &1 A A

If and tan B =/3 show that the value of shkcos B+Co#\
Sin B will be

(@ 1 (b)

(€) (d)

gfe 3R tan B = @ secA &I dF &N |
If CosecA = = the se@ will be

(a) (b)
(c) (d)
1 &1 8 Brm

Evaluate the followinjg the value will be
sin 30 -Cos43 +Cos60

@) (b)

(€) (d)

I S wHaor A § CHor gHBoT 8 B = 3CAB = 10 cmdl
A BT |
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21.

22.

23.

Ina right triangle cis right angleB = 3®AB = 10 cm then the A will
be

(@) 3¢ (b) 60

(c) 45 (d) -60

% S | fedT R U@ & oA | 60° IV IR T AT § @
S o SO W @R BaT & 8N |

A pole 15 m log rest against a vertical wall at an andlevél the ground
the hight will the pole touch the wall will -

(@) 12.99 m (b) 13.m

(c) 22.99m (d) 23m

P & o BT S AqHIg B T 5 g H S
ST BN |

The shadow of a pole is times longeiThen the angle of elevation of

ths sun will 3
(a) 3¢ (b) 48
(c) 60 (d) 90

e fodl ge1 o So1g 15 M © SED! BRI ot g &1 S
DI BRI |

The height of the trees is 15m. Its shadow is. The angle of elevation

of the sum is
(a) 3¢ (b) 48
(c) 6¢° (d) 90
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Note : 7Y IR Vg &8 IR UeA
Short and long Answer type questions

24, A A HIRT
Evaluate
I. sin 30 cos 48 + cos 30sin 45
i. cos 30 cos48 — sin 30° sin 4%
ii. tart60® + 4 cod 43 + 3 se¢ 30 + 5 co9P
V. 4 cot 45 — seé 60 + sirf 60 + cos 9¢°
V. coseé 3 sin 48 — seé6(®

sin 60
vii, —— + 5 cos 90 cot 30
cosg 453
tan 4%
Vil.
sin 3@ + cos 30
tan 60
Viii.
sec 60 + cosec 6D
5 sirt 30 + co 48 + 4 tart 60
IX.

2 sin 30 cos 60 + tan 48

25. Prs DABC & i1 C¥9@I0T 81 afc A =30 ,AB = 12 &t & BC 3iRAC s #fg|
ABC is a triangle right angled at C. If0A = 3®%, AB = 12 cm, determine BC and\C.

26. (st OABC & ®IoT B w9&IvT 2| Fr[aT & AY I@da o0 Hifo :
[0) 0C = 48,AB = 531
(ii) OA=30,AC = 834!
(i) 0C =60, BC = 33
(iv) 0C=60,AC = 53
(v) OA =49, BC = 7.55%
(vi) OA=60,AB = 113!
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Find the remaining parts of the triangleABC, right angled at B, in which
o O0C=4%,AB=5cm

() OA=30°%AC=8cm
(i) OC=60,BC=3cm
(lw) OC=60,AC=5cm
(w) OA=453,BC=7.5cm
() OA=6C,AB=11cm

27. Brgst PMO # 3101 M a1 ¢ | fFeferRad Rerfaal # «rer sraaa =i
HIFTU
(i) PM=3w0, OP =650
(i) PM=530, OP =523
163
(i) PM =8 <+, OP= <
3
(iv) PM = 431, OP = &
(v) PM =541, OM =589
In the triangle PMO, right angled at M, determine the remaining
parts in the following cases:
i) PM=3 cm,OP=6cm
(i) PM=5 cm, OP =% cm
\i<5)
(i) PM=8 cm, OP = cm

(iv) PM=4 cm,OP =8cm
PM=5cm, OM=5cm
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28.

29.

30.

31.

32.

33.

ALITI—7

Unit-7
Brerorfafa
(Trigonometry)
¥ T g1 afef BC= ,AB = AC =1, dr sinB, cosB,
tanB @1 w9 forlRay |
In , is a right angle. If BC = ,AB = AC =1, find sinB,
cosB, tanB.

| e g1 afe AB = 20, AC = 21, BC = 29 & sinB,
cosC, tanB®r a9 faRay |

In , is aright angle. If BB = 2®\C = 21, BC = 29 find sinB,
CosC and tan B.

If§ cosecA = i
If cosecA = , find rest of the trigonometric ratios.

gfe sinB = o fewgy f& 3cosB - 4co8B = 0

If sinB = show that 3cosB - 4ctiB =0

I o ey &
I show that
afs o fREmsy & ta?B- sifB = sid B .setB

12
If cotB= = show thatian? B - sirf B = sif B .setB
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34.

35.

36.

37.

38.

39.

40.
41.

gy tanA = 13k tanB = 1 coSAcO0SB - SinASINB &1 9 s $ifvig |
If tanA = 1 and tanB = 1 find the value of cosAcosB - sinAsinB.

afs aaBC # , @R ta”A:% ar fe@rgy f&5 sinAcosB +

COSAsinB =1

If is poaBC and show that sinAcosB + cosAsinB = 1

gfe tan9=l—52, W T DI sing, coy 3R fRamsy &

If , find sing,co® and show that

afy , o P AE AT DT

If tan& =%, find the value of

Faft AOBRISA) se\
4 43
frafafaa deel & 99 9 S|
Evaluate the following expressions.
() coseé3® cog4? - cosedb?
(i) sin6C cos + cos60 sinds
(i) cos60 cos48 - sin60 sin4s
(iv) sin6C cos30 + cos60 sin30
(v) tan30 tan43 + sec30tan4®

A TG BRI

Evaluate
2sint30° - 3cod30° + tart6(® + 3sirt9®

cot3(° - 2co83(° - %seé45° + coseé3r
(sirt3( + 4cot4 - seé6(P) (coseéds seé3)
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42.

43.

44.

45.

46.
47.

48.

49.

50.

- 2c0847%° - sirfQ°

tan’ 60 + 4coé 45+ 3cas? 66 2cbs ¢

2cosc 36 + 38e06°0—; cot 80

sin30 N cot48+ sin6®  cos3(
cos6 sec6D tand5 sin9

frafafaa &1 S AR |
Verify the following

cos60 = 1-2sirf30° = 2c083(° - 1
cos90 = 1 - 2sifA45’ = 2cod45 - 1
sin6® = 2sin30 cos30

HE §d PIeIg |
1 4 1 .
+ - “tan4% - 8sii 98
cos 30 sin36 2
Evaluate

cosB86- 1 sirk6lan 60

. cos 30
Lo, .4 _ Lian 4% - gsigesHEB0 +sichs€en 60
cos 30 sin36 2

foag @y
cos60 -1 I+ tan6d

) cos6d I tan6d
(i)

Prove that -

0

(ii)

IRk A = B = 48, fig #iftg
() sin (A - B) = SinA cosB - cosA sinB
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51.

52.

53.

54.

() cos (A + B) = cosA cosB - sinA sinB
If A=B =45, prove that

() sin (A - B) = SinA cosB - cosA sinB
() cos (A + B) = cosA cosB - sinA sinB

gfs A =60 B = 30 fig aifsg

If A=6C and B = 30prove that

tanA- tanB

tanA-B)=———
1+ tanA tarB

1 1

gfe tanAzg,tarB:E IR @ Rig s fs

A+ B49

1 1
If tanA=§ ,tarB =5 and , prove thatA + B 48

AABC T wHdIT e %ﬁ@gcgs)ﬁ;\’ tanA+ tanB
OA=45 AC=3/2 9 1+ tanA tarB

s/ AR (i) BC (i) AB 32

45 or

c

A

AABC Is right triangle, andga=45 AcC=3J/2 cm.
Find (i) BC (ii) AB

AABC U@ &I Bryet @
aﬂ'\r 0A=30° BC = 6'@141
o @R (i) AB (i) AC
AABCIS right triangle, andga=30°
If BC =6 cm. 30 o

6 cm

Find (i)AB (i) AC A
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55.

56.

57.

58.

59.

U6 R @ IR 9 30 M. | 9 | & fag 4 AR @ a9 &1
S PV 60° B W HNR @ SAE Fa Pifeg |

The angle of elevation of the top of a tower at a pointisv@@ich is 30
m away from the base of the towEmd the height of the tower

T fdg A R & AAR &1 S<1Fd T 60° & dfe AAR & T fig A

¥ 10 M. 8 O AR @ SUE Aq@ g

The angle of elevation of the top of a tower from a p&iig 60. If the
distance of the point from the tower is 10m, find the height of the tower

TH Afd (P 999 @ HUX <@l Sl Bl RO 98 w99 ¥ 350 Hew ot A

¥ @Al 8 T SHDI S+I9 I 60° HI T B, WA DI SAQ AT
PIFAT |

A man sees a water tank placed on the top of a house from a point 350 m
away from the house. The angle of elevation at this poinfis-6@ the
height of the house.

TH g e o g 5 M. §, 99 AR R @Y o oM 9 did 45°

B P 9N 7| AR B SUE TG BIQ|

A ladder of length 5 mis placed against a wall. The ladder is inclined at an
angle of 48with the ground. Find the height of the wall.

U6 MR & 98 R @S Afd §RT 9@ WM W® I<h9 DI 30° &I

T ?, Ify AR A SO 30 M 2 @ MR @ @ A 9@
PIFAT |

The angle of elevation of the top of a tower to a man standing on ground
is 3C. If the height of the tower is 30 m, find the distance of the man from
the base of the tower
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60.

61.

62.

63.

TH GRT 12 A HAT 8, @9 P A ¥ OR U6 P RRT g 7 el aR

o1 g i1 4 ) Rer fvar 2, I @ @ad v@r T 8, AR &

IH § FHE 60° BT 2, A AR P oG8 T PG|

A pole is 12 m high and a wire is tied to the top of the pole. The other end
of the wire is affixed at a point on the ground. If the pole is vertically
upward and the wire is inclined to the ground &t 58d the length of the
wire.

T IuUE P Al W Rerd &) JuEmemsii & @ W (G SuUE TP &

feem # Rer@ 8) HHAM 30° TG 60° & DIV 90 g IfK QM1 qEEeRl &

T B X 4000 fEA. B A SUUE B IR A@@ DN

The angle of elevation of a satellite at two observatories on the earth
(both are on the same side of the satellite) atald 60. If the distance
between the observatories is 4000 km, find the height of the satellite from
the earth.

TH $d ol § 999 B @1 W S RN AR AR & a7\ T Ior
HAL: 45° TG 60° B I WA B Halg 7 W ® @ T B SHAE AW
AT |

From the top of a mountain hill, the angle of depression of the top of a
building is 438 and the angle of depression of its foot i& &the height

of building is 7 m. Find the height of the top of a mountain hill.

TS e 60 Al Fo AR @ AWK db, 9 IR 7| AMR P oA &

HSh W T BRI P IJGTAT DIV HAT: 30° 30X 45° ¥ 7 IR A T 704
FRTT 3R JO57 A TP IR, IR & IER A fhat [ 2 ?

The height of a tower is 60 m and from the tower a straight road leads.
The angles of depression of two cars on the road &rar@D43 from

the top of the towerFind the distance between the cars and how far is
each car from the tower
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64.

65.

66.

67.

120 1. A9 7 & WA H, (P BT Y §| §H Y W [ o el GHT
AR Bar fag 7 & faudig ok, fiR R 59 yoR 8 & fag A, B

IR THT G B I AR B R @W @ RR @ S=a9 #ivr 30° iR

60° B @ B IAE T DI

An island is in the middle of a 120m wide rivArpole is fixed in the
island.A and B are two point on opposite bank of the river suchtat

and the pole are in a straight line. If the angles of elevations of the top of
the pole at pointé\ and B are 30and 60 respectivelyfind height of the
pole.

AR g AQ @ 12 f. 3 w99 H A &#R @ Feldrex o

Ha1 B A P b HW FY HAE W Ol 8T 8, SAST S+FT BV 30°

IR 45° 2| BNl @ 4 | SR T PR

The angles of elevation of the top of a 12 m high building and an helicop-
ter flying just above the building are 3@nd 48 at a pointA on the
ground. Find the height of the helicopter from the ground.

U@ AR @ AT ¥, 12 WM. 9 999 @ PR R R & 3@ dior
HA: 30° IR 60° | AMR P SAR T DI

The angles of depression of the top and bottom of G 12 m tall building
from the top of a tower are 3a@nd 43, respectivelyFind the height of

the tower

U@ HMR @ A B OHF 9 U6 ®IF R Q@ 9 SE9 DI 30° BT
AT 8| MR & 3R 60 HieX ol W S=I9 DIV 45° BT §IaT 8 o
AR B SAE TG BN

The angle of elevation of the top of a tower at a point on the ground is
30°. On moving 60 m towards the towdhe angle of elevation is %45
Find the height of the tower
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68.

(Take

TH 100 HeX S MR & A AR SHD AR ¥ U@ dced DI Al

@ ST DIV HAM: 30° SR 45° T | ICCH D SAIg A DI |

The angle of elevation of the top of a hill from the top of a 100 m high
tower is 30 and from its base is 45-ind the height of the hill.

and./3 =17z for calculation)

(dRee & ford a9 & J2=141and 3=1.72 )

69.

70.

71.

T AFR & 3MER ¥ 20 Al X, 4 W, U fdg I AR HI IS BT I~d DIoT
30°% | MR &) SA1E ST IR |
At a point 20 m away from the foot of a tower the angle of elevation of

the top of the tower is 30find the height of the tower .

T HIG! Bl b QIR TR TN Al SHHBT HUR BT RRT, IR B RReR d6 ggad

2 | WY BT e RRT SR & 1.5 WL 3 g W 2 SR W BT 9 | gETa Doy

60° B | IR Pl Salg S B | 2 =141

A ladder is placed against a wall such that it just reaches the top of the
wall. The foot of the ladder is 1.5 m away from the wall and the ladder is

inclined at an angle of 8vith the ground . find the height of the wall.

U TISTell &7 @E1 10 /1. ST & | W B AT dgad I8 & ol |, T Rl & dR

B TS RA-1, G B AT 9 91 7, 3R 8T, A ) RerR fvar w21 afe <

P AR Gd & IMER H ¥ AT & A1 45° HT DIV Y, Al LA & AR DT dAdls
EIGEEN

An electric pole is 10 m higlA steel wire tied to the top of the pole is
affixed at a point on the ground to keep the pole upright. If the steel wire
makes an angle of 4Wwith the horizontal through the foot of the pole ,

find the length of the steel wire.
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12.

73.

74.

75.

TP G & AR g 9, gdd @l AT BT I DIV 60° 2 3MR AT B IR A T
BT IS BT S~Id HIUT 30° 8 | Afe WEr 50 H. o1 8T dT Udd Pl SaTs ST BRI 5.
Th Ieb 50 4. SHd R b MR db, e Sl 2 |

The angle of elevation of the top of a hill at the foot of a toweria6@

the angle of elevation of the top of the tower at the foot of the hilPis 30

If the tower is 50 m tall, what is the height of the hill ?

TR & A1 | FSH W & BRI S 1a-d BIT HH: 30° AR 60° B | AT BRI &
g B g 1T DINTY IR gAY fF IS FR HER & R & fha & ?
A straight highway leads to the foot of a 50 m tall toweom the top of

the tower the angle of depression of two cars on the highway &re 30
and 60. What is the distance between the two cars and how far is each

car from the tower ?

qfA R 3T FRIET0T Beal W, Ud H3F SUUE S I~Id HIvT HA: 30° AR 60° & | AT
Feal & 41 DI g 4000 THAL BT AT IUUT B HATs S DI |

The angles of elevation of an artificial earth satellite as measured from

two earth station are 3@ndsc. If the distance between the earth stations
is 4000 km, find the height of the satellite.

A R U fdg PR, t& 10 /1. S 937 @1 I, IR U@ welldie? Sl 9ad &1 arc
@ b SR HF SHAl W O BT 8,  IId IV HAM: 30° AR 60° ¥ | TAIBICR
D qH I SAS AT BN

At a point P on the ground, the angles of elevation of the top of a 10 m

tall building and of a helicopter covering same distance over the top of
the building are 30and 60 respectivelyFind the height of the helicopter

above the ground.
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76.

7.

78.

79.

80.

9 wR fdg P9, g AMR &1 AT T I1d D101 30° & | {IFR ST 1R 30 AL <ol

@ T, AR B AT BT I~ HIT 60° B AT 8 | AR @ 318 T 7§ 7

The angle of elevation of the top of a tower from a point on the ground is
3(°. After walking 30 m toward the tower the angle of elevation becomes
6(°. What is the height of the tower ?

TdH 100 HI. IS T4 & 7 H, P BICI € 2 | §9 €Y R UH @d1 g&7 5 | P ik
Q 31 fig 981 & AW ofR, PR R 39 yoR 2 & PQ iR &1 9@ 21 afe
PIR QW ,d & & 3l & I=Id BIvT HHL: 30° 37 45° B AT g&T Bl HATs S
PN |

There is small island in the middle of a 100 m wide riVeere is a tall

tree on the island, Points P and Q are points directly opposite each other
on the two banks, and in line with the tree. If the angle of elevation of the
top of the tree at P and Q aré 2hd 45, find the height of the tree.

Th HAR & ST I, Uh 7 9. $d Ya9 & BPRIR 3R IR & 37gd BIUT haIT:

45° 3R 60° B | YR P TS <1 PIMY |

The angles of depression of the top and the bottom of a 7 m. tall building from
the top of a tower are 48nd 60, respectivelyFind the height of the tower

U 100 HI. Sd HHR &1 AT IR IS MR TP IS I Al & IId PIVT HHAI:

30° 3R 45° ¥ | IS B SaTs 1d BINIT |

The angle of elevation of the top of a rock at the top and foot af a 100 m
high tower are respectively 8@nd 48. Find the height of the rock.

U AR THae g R @S & | 56 @ B Sar (@ b1 S D7 ) 30° &l
IFD! TS 60° B ReIfd ¥ H9R BT Brr 45 1. 31 Bidl & | F9R & Sdars

1A I |

The shadow of a towgstanding on level ground is found to be 45 m longer when
Sun’s altitude (angle of elevation of sun) i 8@an when it was 60ind the
height of the tower
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Y — 8
UNIT-8
qiftreg  TlTq
Commercial Mathematics

EI'\'TjﬁE 931 (Objective Answer type Questions)
dle : W ¥ W T fiew & oF Ime gfm -

Short out the correct answer from the following given four answer

1. I UP A T I Bl 100 B H [Ihd HA W 15 = P o™ &Il 7, al
I2 fohaeT uferera & g 7 |
If by selling an article for Rs. 100, a man gains Rs. 15 then his gain

presentis -

(@) 15 % (b) 125%
Py

(€) @ ¥

2. AR U AT Uh 9] DI 100 % H [dhd HRal & Al S 10 B DI BT Bl
g a1 S8 fbaw fererd @ a1 g8 ?
What is the loss percent if a man loses Rs 10 on selling an article for Rs. 100 ?

(a) (b) 10 %

() d) None

3. U®P GHMGR Udh ax] Pl 2564.36 © H 94T AR I 2400 B H TRIGT o7 Al
S farae gfrerd &1 & gorm ® |
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A shopkeeper sold an article for Rs. 2564.8fproximately what as his profit
percent if the cost price of the article was Rs. 2400 ?

@ 7% (b) 8%

(c) 12% (d) 60%

g AR DI 34.80 ® H fIHT B UR 25 % @1 M g8 AT 39 AEA @

Y T T BRI 7

When a commodity is sold for Rs. 34.80, there is a loss of 25 % . What is the cost

price of the commodity ?

(@) Rs. 46.40 (b) Rs.26.10

() Rs. 43 (d) Rs.43.20

U Fidd - 9K Pl 247.50 B ¥ [Apy fban a1 I ®I ™ g ol
fashar g aar o ?

A man sold an article for R&2%4/J.50, there by gaining . The
cost of the article was : -

(@) Rs. 225 (b) Rs. 224

() Rs. 220 (d) Rs. 210

T AT 7 I AT BT 225 T H WRAST 3R 15 F a8 # @ gU | I=HA

RfSTT BT 300 ® A f4ha fbar 1 92 el Uferd &1 & gair |

A retailer buys a radio for Rs. 225. His overhead expenses are Rs. 15. He sells the
radio for Rs. 300. The profit percent of the retailer is

@ 10% (b) 25%

(c) 50% (d) 52%
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10.

U GHMGR - U ax] Pl 319.60 & H TGl Al I fba H [T H=T
ey fh 25 % &1 ™ & 2

A shopkeeper bought an article for Rs. 31%A@proximately at which price should
be sell the article to make 25 % make profit ?

(@ Rs.400 (b) Rs. 450

(c) Rs.500 (d) Rs. 600

afe ua a%q &I faha g8, B9 Ied & 4 /3 AT & Al fha ufoerd
BRI ?
If the selling price of an article is 4/3 times its cost price the profit percent is

(@) (b)

(€) (d)

28 %

Uﬁ{w%?ﬁmaﬁmm%m%rﬂv%émwaﬂo%aﬁgﬁﬁ?ﬁ%aﬁ
Raarr &1 fra dma R e far S ST 20 % &7 o™ 81 |
There would be 10% loss if a toy is sold at Rs. 10.80 per piaghat
price should it be sold to earn a profit of 20 % .

(@) Rs. 12 (b) Rs.12.96

(c) Rs.14.40 (d) None

TH A 3 B 21 © H WS IR I 5 BAT BN 50 ® I g A T
T2 102 ® Pl o UTd H+ & foru fbhdw {53 ama 9==m o< ?

Rahim buys mangoes at the rate of 3 kg for Rs. 21 and Sells them at 5 kg for Rs. 50

to earn Rs. 102 as profit, he must sell
(@) 26Kg (b) 32Kg
(c) 34Kg (d) 56Kg
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11.

12.

13.

14.

Ug I A 320 31H BT 400 3MH & I Hed & &R § 99 a1 | a1 3%
fha= gferera @ @ g8 |

A man sells 320 mangoes at the cost price of 400 mangoes. His gain presentis -
@ 10% (b) 15%

(c) 20% (d) 30%

AT 12 TIAl BT 5T e, 16 <Al D [Ihd Hed & -IaR © Al foba=1 ufcrera
@1 B+ BIfT ?

If the cost price of 12 tables is equal to the selling price of 16 tables the loss

presentis :-
(@ 15% (b) 20%
(c) 25% (d) 30%

Al H 11 fared 10 © | TWRIGAT g 3R 10 fHdEl &1 11 % H d9ar & ar g1
fha ufrerd &1 T g ?

If 1 purchased1books for Rs. 10 and sold all the books at the rate of 10 books for
Rs. 11 the profit % is

(@ 10% b)) 1%

(c) 21% (d) 100 %

TP STeR 1 fBIT. 991 & R IR 100 WA YYFd BT & IR 9 1 fBam.
@ I Hod B IRIER {ed H [y AT & I 39 {1 Ufcrerd o 8Iam ¢ |

A dealer professing to sell his goods at cost price , uses a 100 gm weight for a

kilogram. His gain percentis -
@ 9% (b) 10%
© 1% d 1119 %
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15.

16.

17.

18.

2500 ® UR 6 % I dAM¥d b6l &% R 5 Iy H d H fhd=r <t &
SIRATT ?

If the rate of 6 % p.a. simple interest a sum of Rs. 2500 will earn how much
interest by the end of 5 years ?

(@ Rs. 150 (b) Rs. 700

(c) Rs.750 (d) Rs. 3250

T Ffdd ° 500 ® BT Hol 5 % Ty ARITRYT 7S] Bl &% A forar, dr 39

4 99 T fhdar wUU AT BRIT ?

A person borrowed Rs. 500 at the rate of 5 % per annum S.l. What amount will be

pay to clear the debt after 4 years ?

(@ Rs.200 (b) Rs.550

(c) Rs. 600 (d Rs. 700

e < % 500 & W 50 & BT FRAPHRMT ST @St W 5% wferad & ?
2 x\x

In what time will Rs,. 500 give Rs. 50 as interest at the rate of. BIGR. ?
(@ 2years (b)
(c) 3years (d) 4dyears

X% & AT R AT IY H T ®HYY Ao HeAdt 8 a1 JeTaT 81 2
The simple interest at x % for x years will be Rx. X on a sum of : -

(@ Rs.X (b) Rs. 100 x

(c) Rs (d)
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19.

20.

21.

22.

fhd 9 # JeTa= T 81 SIRAT, Sdfd &1 &% WR 12 % ufay 2 ?
In how many years will a sum of money double itself at 12% per annum ?
(@ 6years 9months (b) 7 years 6 months

(c) 8years3months (d) 8years4 months

8 aY ¥ AR TSl I [ HeTad BT QR[N B8H & (ol TSl &% Ufcrera
gfqy g1 =18y |

If a sum of money doubles itself in 8 years at simple interest the rate percent per

annum is
@ 115 (b) 12
(c) 125 (d) 13

i B qeTa AR AT ¥ 6 aul # QR[AT 81 ST & Al aR I 8l

H =T I\ R ?

If a sum of money at simple interest doubles in 6 years, it will become 4 times in :
(@) 12years (b) 14 years

(c) 16years (d) 18years

7500 3 HTHT UR 4% UfTay &1 &R ¥ Fhdfg «dTol R 2 81 ggard Hsmee

BT ?

The amount of Rs. 7500 at compound interest at 4 % per annum for 2 years is -
(@ Rs. 7800 (b) Rs. 8100

(c) Rs.8112 (d) Rs 8082
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23.

24.

25.

26.

U HTd H Aehqlg TSl 3R AR TSl Bl 3[R 2 991 § - Uy R |

150 WUV & I 98 JeTa SiId BRI 7

The difference between the compound interst and the simple interest on a sum of
money for 2 years at per annum is Rs. 150. The sum is

(@ Rs. 9000 (b) Rs. 9200

(c) Rs. 9500 (d Rs 9600

20,400 ®U TR 2 9Y 73 39 & folu a1iies <11 Bl &R A =l 1ol bl
BT ?

The compound interest on Rs. 20480 at per annum for 2 years 73 days is
(@) Rs. 3000 (b) Rs.3131

() Rs. 2929 (d) Rs 3636

132 WU Aehglg TSl & qAR gax e H faam a1 RSrae! &ret &% 10 %

afies 81 a1 JTu o BRY ?

What is the principal amount which earns Rs. 132 as compound interest for the
second year at 10 % per annum.

(@) Rs. 1000 (b) Rs. 1200

(c) Rs. 1320 (d Rs 188

5 99 ¥ Bl YA IR Ahgly ATl W R[N 81 Sl 7, Al fhd 997 § 99
RHH BT TS T[T B SR 7

A Sum of money placed at compound interest doubles itself in 5 years it will amount
to eight times itself in :

(@) Rs.10years (b) Rs.12years

(c) Rs. 15years (d) Rs 20years
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27. <1 ¥ B Thgfg TS A AsTE Horod & IO B T © A arfies et
T WR T EAI |
If the amount is times the sum after 2 years at compound interest, the rate of
interest per annum.
(@ 25% (b) 30%
(c) 40% (d) 50 %

28-  fHddT g a7 |
What does the bank dealing
(@) ~Ifr ST @R @1 (despositing money)
(b) if¥r =&or <= &1 (getting loans)
(c) bothaandb
(d) None

29. d% PHq: fas folw T ol 7 |
Banks give loans for what purposes
(@) =R M & forg (on housing)
(b) wE & fa, (on education)
(c) fufeer v gars & forg (on medicine treatment)
(d) Alltype of the above

30. dd @ fhdd YR & B 2 |

How many types of Bank account occurs

(@) «=d d& @rar (Saving Bank account)
(b) =me @rdr (current bank account)
(C) oradl \adl ST W (Recurring deposit)

(d) All+ 3madl @==t <1 @ (Reccurring deposit)
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U HIGR 225 . H Bl TSl TR & AR IAD] GERT H 158,

FHAT 2| IS 98 SN 300 ®. H d9al § , O IABI A UfaRrd o
DI |

A dealer buys a wrist watch for Rs 225 an spends Rs 15 on its repairs. If

he sells the same for Rs 300, find his profit percent.

et 7 1300 . H T A WG | U Wgd bl I 20%0 ™ TR =01
Td TR BT 12% B WR Ife T fasha o 994 &, a1 S A &
Y oI SITd HIfY |

Sushil bought two boxes for Rs 1300. He sold one box at a profit of

20 % and the other box at a loss of 12 %. If the selling price of both

boxes is the same, find the cost price of each box.

fa=rer 9 Qo AeR Arsfedt 28 Y% BT R A9 BT 9 | FdH ° SHDH!
TRET UR 1680 %. 9o b 3R A ATgfhel WA BT 35910 . H 94
&, 39 WX S 125%™ 83 | = BTG fb fawr & g AR

ATgfhel BT Hha oI w7 o |

Dinesh sold his motor cycle to Naveen at a loss of 28%. Naveen spent
Rs 1680 on its repairs and sold the motor cycle to Saran for Rs 35910,
thereby making a profit of 12.5%. Find the cost of the motor cycle for

Dinesh.
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THIF 7 HFYSY TH 40,000 . H TBIGT | IF 4% B W ABIIS DI
99 fear | R 7 fhas S0 @d foy ? afe et S faema &1
40320 BT H TIAT & IBRIST B gIRT Ifoid o Uferd ST dIfy |

Nafees bought a computer system for Rs 40000. He soldftdp at a

loss of 4%. How much didfroz spend? IAfroz sells it for Rs 40320

to Vishal, find the profit percent earned Afyoz.

IS 20 IEGAT BT HI qod 23 TR & HY og & a_IER 8l Al A
gfcerd =rd oIy |
If the selling price of 20 article is the same as the cost price of 23 articles,

find the profit percent.

T AR T & Helk 99 JAP 2970 . § | U Bk dl 997 R 9

10% BT AT 3T STafdh SAX IR 10 Yo BT g8 | ATURY BT A AT BT

gfel a0 SId BTy |

A dealer sold two coolers at Rs 2970 each. On selling one cooler he
gained 10% and on selling the other he lost 10%. Find the teg#en

or loss percent.

AIEE 1 2 YR WhHev 9000 . H WIS | T Bl 25% I R R IR

®I 20% BN R Fo § I 7 Al A4 BIAT & AT B | U WheR Bl

Y oI SITd HIfoY |

Sahid bought two old scooter for Rs 9000. By selling one at a profit of

25% and the other at a loss of 20%, he neither gains nor loses. Find the

cost price of each scooter
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10.

11.

12.

T Al ATURI BEHR GDHMAR Bl 16 U & 3ifdhd Hed (8] IR Bl
T )UR 20 U9 99T & | Hedhs HMER I 3ifhd Jed IR J9ar 2 |
|EBR ATANT BT ¥ AT Bl Gfd Td 1 BIfSTY |

A Wholesaler sells 20 pens at the marked price ( printed on the article) of

16 pens to a retailefhe retailerin turn, sells them at the marked price.

Determine the gain or loss percent to the retailer

T Yol fiwad e HIFd 800 %. ¥ 8% BN TR 99T ST 3T § |
I BT 5% 3R B R & WY AT IABT [T g S1d DI |

A defective briefcase costing Rs 800 is being sold at a loss of 8%. If the

price is further reduced by 5%, find its selling price

90 ITTU-T 160 . § 9 IR U Afdd T 20% °reT T 21 96 &. H
fhe Tt 99 SI¢ 399 {6 20% o 81 |

By selling 90 ball pens for Rs 160, a person loses 20%. How many ball

pens should be sold for Rs 96 so as to have profit of 20%?

afe 10 HRAAT BT BT oI 16 HRIAT & AT I3 & WER &1 ,ar
A7 B Ufererd Sid SIS |
If the cost price of 10 chairs be equal to selling price of 16 chairs, find

the gain or loss percent.

A 18 FHRAAT BT HI I 16 HAAT B [dHT Hed & aRIER 81, Al A
A7 B Ufererd Sid SIS |
If the cost price of 18 chairs be equal to selling price of 16 chairs, find

the gain or loss percent.
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13.

14.

15.

16.

STHIER F 30,000 WYY H &I HH WRIET | Teb bl 15%0 81 WR 3R g
B 19% & M H I W A U D GF1 N1 B A Hed aH e
g | YD BT HA oI S DI |

Damodar bought two buffaloes for Rs 30000. By selling one at a loss of
15% and other at a gain of
19%, he found that the selling price of both buffaloes is the same. Find

price of each..

Teh Y&ih b1 Gl o 65 2. & | 98 15: 9¢C WX g4I STl © | Yl bl
fdsha Hod Td I WR Ya< gecl =i HIfoly |

List price of a book is Rs 65. It is sold at a discount of 15%. Find the

selling Price of the book and the discount allowed for it.

U fHars 7 &1 Gl Jod 2300 . & | 98 4% 9T W o A1l 2 |
Ryctrs 7el9 &1 fIha Hed Ud 99 R Ya< dccl S1d HIfog |

List price of a sewing machine is Rs 2300. It is sold at a discount of 4%.

Find the selling price of the sewing machine and the discount allowed on
it.

T dIfEAT DHC BT FAT T 100 3. © | U GhMaR [l Fead &’ wR
gl Tax A AT BT 27450 . H 99T | UK dCc Dl &% A
HIFTY |

List price of a video cassette is Rs 180dealer sells three video cas-

sette for Rs 274.50 after allowing discount at certain rate. Find the rate

of discount allowed.
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7 gl # 9 9D oI S BITg

GGl gcer Ao
() 257.50 . 30%, 10%
(i) 1475.80 = 25%, 10%, 5%
(iii) 4890.75 . 20%, 12.%6, 5%
Determine the selling price in each of the following cases:
List Price Discount Series
() Rs 257.50 30%, 10%
(i) Rs 1475.80 25%,10%,5%
(iii) Rs 4890.75 20%,12.5%,5%

& GHMAR 100 5. GAI Jed aTell ] P HRAT 7 AR 10%Td 20% &

HHATTAR g UT Rl & | 98 I Jod Bl 10% gells e W T
HRAT & | S G BT a8 e e R 9o fore {5 S 15% &7 o & |
A dealer buys an article listed at Rs 100 and gets successive dis-
counts of 10% and 20 %. He spends 10% of the cost price on

transport etcAt what price should he sell the article to earn a
profit of 15%7?

U o] oIt Gl Jod 26580 3. B, 10% I WX 99 ST 2 | QBR
BT HIFH B & BRUT GhMaR 5% BT AR dSel U Rl & a1

®1 fdsha e =ITd BIFT |
An article listed at Rs 26580 is sold at a discount of 10%. Due to
festival season the shopkeeper allows a further discount of 5%.

Find the selling price of the article.
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20.

21.

22.

23.

TP TR B TR A HI DI T3 GGl W 10% B BT fIsnfid w=ar

2 | RoTT SuTaaT 3 560 B. BT GEdd , 90 T. Hed BT 97 3R 45 . A

BT IR B HY |, S HINTY b IH BT geer U gar |

A merchant advertises 10% off on the item bought from his store.

Find the discount got by a customer who bought a suitcase worth
Rs 560, a bag worth Rs 90 and a towel worth Rs 45.

T Rl [oTIHT Al 4o 350 3. © 25% Ud 10% & HATTIR deC W
U 8 | FXI BT AhT Hod S0 DI |

A chair listed at Rs 350, is available at successive discount of
25% and 10% find the selling price of the chair

Fr=IfeTRad geer SR § ¥ U”d & J9qed Udhdl el S1d [y
(i) 25%, 20%, 10%

(ii) 10%, 20%, 23%

T Y gl Al Th & Thd 98¢ @ Fuded B |

Find a single discount equivalent to a discount series given in
each of the following :

(i) 25%, 20%, 10%

(i) 10%, 20%, 25%

Do these discount series lead to the same single discount?

PR BT (S AR U YR AR AIsfdhd TRIgdl & , T §dl e
25000 ¥. © , AT I W 20% 3R 5% @1 BT T | 3d 98 IADI A=

#1000 . I HRAT & 3R AR ATsfhel DI 25000 5. H §9AT € | STP]
o a7 B ufd 19 ST I |
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24.

25.

20.

An automobile dealer buy an old motorcycle marked at Rs 25000 with
20% and 5% off. He spends Rs 1000 on its repairs and sells the motor-

cycle for Rs 25000. Find his gain or loss percent :

TEh AR AT $HoRk @ed 2, Rraer gl 7eg 950 . 2 3R 9
PHATIAR Fec 20% UG 10% UK BId © | D! ARHT U T BRI H 66

%. G gU| 98 HR Bl Pl 25 A R I9dT & Her BT [956d Jed F1d
DY |

A dealer buy an old cooler listed at Rs 950 and gets successive discount
of 20% and 10%. He spends Rs 66 on its repairs and paintings. He sells

the cooler at a profit of 25%. Find the selling price of the cooler

T YT JIeh fAshall I 1574.80 B. el oI Bl J&idb 20%0 9 R
UG AT B | I Yes fevar Gl o IR Ydas [9ed &l € 3R afg
IHBT 9TST 3MMC H T 4540 . BAT & Al SHDBT ™ ST DI |

A publisher supplies books to a book-seller at 20% discount on the list
price of Rs 1574.80. If the book-seller sells book at list price and if his

expenses for freight etc. are Rs 45.40, determine his profit.

T TSI DI Gl Hod 160 B. & | &l HATJER dSc & U dTd TS 122.40

. H 99 O € | Ife g 9T 10 B a1 g 9 & &) @ 2|

The list price of a watch is Rs 168fter two successive discount, it is
sold for Rs 122.40. If the first discount is 10%, what is the rate of

second discount?
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27.

28.

20.

30.

YTEd & [T Al et T § 3R fhd ¥ 680 %. IR 14% &7 qcel
a1 b I81 g 3R 10% Ud 5% & HAGAR dec?

Which is more favorable to a buyer and by how much: Rs 680 with 14%

discount or the same amount with successive discount of 10%, 5%7?

T TARN -1 450 . H Hells Tl TBNIal 3R IHHT Gl Jod VAT Had

T & 10% deeT <1 & 918 a8 20% o™ JARSId BN | Hellg TST &l

! Hed ST DI |

A merchant purchases a wristwatch for Rs 450 and fixes its price in such
a way that after allowing a discount of 10%, he earns a profit of 20%.

Find the list price of the wristwatch.

IS Y HIER I3 BT el oI I hd Jod F 50%0 A I@d
g 3R 40% dceT UG XAl § , 9 SABI oA AT BT wfera a1 87

If a shopkeeper marks the price of good 50% more than their cost price

and allows a discount of 40%, what is his gain or loss  percent?

TeaT < XM ¥ 1000 . 16% If¥h X W SUR U | 8 784 & 915 S0
faT QTS <1 IS ? IfS 98 399 g1 HUY SUR ol § 3R a9 41

i 8 A1E HT AT ST &1 I&dT, df & FT BRfT 2
Sandhya borrowed Rs. 1000 from Ram at the rate of 16% per annum.

How much interest will she have to pay at the end of 8 months ?
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31.

32.

33.

34.

]S 3R A M & B § g9 o R 18% af¥ed & I TS
fArerar 8 | afT 3ma 59 Ul H 10,000 . Y T | 3MR 5000 . I
U 3 ay qrg, dI 6 93 B 916 ARIRYT TS | YD fha=r &9 a4
frerm?

For investing money in the firm Rosy and Mithu. you get interest at the

rate of 18% per annum. What amount will you get after 6 years, if you
deposit Rs. 10,000 with the firm now and Rs. 5000 three years from

hence.

TP < Uh PIATR{ST db I 7500 %. 26 AT 1988 I 8% df¥d X A
AR &6 W) YR forw | af 7 S 1988 &1 a8 2@ A% H=AT AR
a9 qA BT &7 dF BT <7 BEIT ?

Hanif borrowed Rs 7500 on 26 March 1988 from a co-operative Bank at

the rate of 8% per annum simple interest. If he wants to clear the amount

on 7th June 1988. What amount will he have to pay ?

fg T R 5 99 BT ARRY Al 10% d1iid &% H 150 6. &l
STQT ?
What sum lent out at 10% per annum simple interest would produce Rs.

150 as interest in 5 years?

A B g9 8% e X YR forar | 3 931 1 A9 & 918 991 &l &
138.75 ®. o1 US| A e o4 SUR foram o ?
| borrowed some money at 8% per annum. | had to pay Rs. 138.75 as

interest after 3 years and one month. What sum did | borrow ?
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35.

36.

37.

38.

fod ¥ R 2 9§ BT AERT A 6.25% G X F D qE B
ST, ST 1500 %. &7 5% d1f¥d X 1 99 4 HIE BT Bl © 7

What sum lent out at 6.25% per annum produces the same simple inter-
est in 2 years as Rs. 1500 lent out at 5% produce in lyears and 4

months?

U T TR 20% a1 ARIRT 19 31 &% A 1Y2 a9f &1 fseH 6.

50 %. B ST © | 2 a9 &I g1 I BT 12% a1 Amemer & & o

q R fAses gnm ?

A sum of money invested at 290% per annum simple interest amounts
to Rs. 650 in 1% years . What will it amount to in 2 years at 12% per

annum simple interest?

24000 . BT 10 Uy TS & TR IR 1Y2 99 yganq fa-m fMste @ik
ama () s o g Siefe ot srefarfie Hafra gar 2 |

Find the amount and the compound interest on Rs 24000 compounded

semi- annually for 1 %2 years at the rate of 10% p.a.

100000 ¥. BT 4 YAy H & W 9 AE Uvard fdhaar MsEs iR
g (f) =t ura 8T Safe s AAS | 8T & |

1 9
Hpd: 98, R= "4=1,n= = 3 foHmE

4 3

Find the amount and the compound interest on Rs 100000 compounded

quarterly for 9 months at the rate of 4% p.a.

1 9
[Hint: Here, R= x4=1,n= =3 quarterg
4 3
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39.

40.

41.

42.

43.

44.

frae aul # 6400 3. & g9 5 URT 99 B &I UR 6561 ©. B SN SIdih
TST SATRIG AT BT § |
In how many years a sum of Rs 6400, compounded quarterly at the rate

of 5% p.a. will amount to Rs 65617

DI AT & 4% Ul 9§ B R W 1Ye9wl & gvErd 132651 . BN ST

Safes =Tt o aIftfes FAfTd g1 2 |

What sum invested for 1 ¥2 years compounded half yearly at the rate of
4% p.a. will amount to Rs 1326517

DIg g1 2 981 H W BT 25 /16 AT 8 G & , STaid 1ol 1
HATAT BT € | &1 Bl &R S DIFIT |

A sum compounded annually becomes 25/16 times of itself in 2 years.

Determine the rate of interest per annum.

25000 3. BT g9 8% UfT 99 &I ¥ W a1 T A 28121.60 .
21 SIdT & | 99T D1 A &1 URedbol PIFT |

A sum of Rs 25000 invested at 8% p.a. compounded semi-annually

amounts to Rs 28121.60 Compute the time period,

3200 %. BT g9 10% UIaY &I TR IR ARG FAToH I 3362 . B oIl
g | T BT A T BT |
A sum of Rs 3200 invested at 10% p.a. compounded quarterly amounts

to Rs 3362. Compute the time period.

PIs g9 TS & ¥ FATSTT I T I97 H 9680 <. 3R 3 I9T H 10648
%. B ST ® | ¥ (Jere) Ud @t <) ufaay S STy |

A sum amounts to Rs 9680 in 2 years and to Rs 10648 in 3 years com-

pounded annuallyFind the sum (principal) and the rate of interest per

annum.
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45.

46-

47.

A 3R B 7 %H: 6000 %. 3R 50000 . <9 auf & forw SuR forg | A

= 10% Uy @7 &% 9 ARV A9 f&aT , S&fd 7 10% gfaay a1

R W qfYE AASH | ahaly @re far | sa SR & e e

1ot & iR fad=r arfde 2

A and B borrowed Rs 60000 and Rs 50000 respectively for at period of

3 yearA paid simple interest at the rate of 10% p.a., while B paid com-
pound interest at the rate of 10% p.a compounded ann4ily paid

more interest and by how much?

195150 %. BT A Td B # 39 YR fariora SIQ 6 A &7 2 a¥ & gearq
I8! a1 el < f B @7 4 auf & gwan fiet | & a1 daifora grar
g qT <) 4% ufy auf 2|

Divide Rs 195150 betwednand B so that the amount tiateceives in
2 years is the same as that B receives in 4. yéwr interest is com-

pounded annually at the rate of 4% p.a.

AT A 07.01.2000 T 6000 5. T TAT db WTAT WIAT | SHD §b I o <7
T fIaRoT 39 UBR AT SF A 11.01.2000 DT 120.00 3. STHT fhU, 20.01.
2000 DT 80.00 . fTdTeT 3R 50.00 . 31.01.2000 T fTeT | 10.02.2000
BT IAF 1050.00 %. 3R 20.02. 2000 BT 50%. AT fHU | AT 2000 BT
I DI oIF o Tl fhdT | THa) , BRa) 3R AT 2000 H TS U Hi

ST A DA dTell MR DI ST—3HelT I B |

Naresh opened a a saving bank account on 07.01.2000 with Rs 6000.00.

His transaction were as follows :

He deposites Rs 120.00 ahQ1.2000, withdrew Rs 80.00 on 20.01.2000
and Rs 50.00 on 31.01.2000. He deposited Rs 1050.00 on 10.02.2000
and Rs 50.00 on 20.02.2000. He did not make any transaction during the
month of March, 2000. Find the amount qualifying for the interest
during JanuaryFebruary and March, 2000 separately
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48

HfddT & gad g6 @ra § =1 yfdqeeai 2 :

fafer | fARo fFeeh 13| STHT &1 T8 IRT | oY
26.99 | g 800.00 800.00
86.99 | T 400.00 1200.00
1799 | 9a9 ¥ 2000.00 3200.00
57.99 | Jb HHIH 2507 1600.00 1600.00
22799 | TG 1000.00 2600.00

S T SeTs H 98 b IREl R 19 1fSid el |, gUd—yefd UMY

HIFTY |

Kavita’'s saving bank account passbook has the following entries

Date Particulars Amount Amount Balance

Withdrawn| deposited

Rs Rs P Rs P
2.6.99 | Bycash 800.00 800.00
8.6.99 | Bycash 400.00 1200.00
1.7.99 | By salary 2000.00 | 3200.00
5.7.99 | Tocheque No.25Q7 1600.00 1600.00
22.7.99 Bycash 1000.00 | 2600.00

Calculate the sums for which she earns interest during June 99

and July 99 separately
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49.

farfer faqwor T ST Ay TR
T P TS NIfT . T,
3 2. T
2. 9.
1.4.93 R 2 6000.00
22.4.93 aPb 1600.00 7600.00
24.5.93 NNES 2400.00 10000.00
8.6.93 Eedeaicy 2600.00 7400.00
0214
22.7.93 qPb HHD 1400.00 6000.00
0215
17.9.93 NNES 900.00 6900.00
23.10.93 EE 1900.00 8800.00
8.12.93 NNES 100.00 8900.00

5% UftT I¥ =TS B X T [ 1993 I TR 1993 &7 Al F rfoid

TSl ST aﬁ_%'_q | Date Particulars émount Amoun.t Bale
Withdrawn Deposited
A page fronVicky’s passbook is given below | rs P.| Rs Rs
1.4.93 BF 60
22.4.93 By cheque 1600.00 7
24.5.93 By cash 2400.00 1
8.6.93 To cheque 2600.00 741
No. 0214
22.7.93 To cheque 1400.00 60
No. 0215
17.9.93 By cash 900.00 6
23.10.93 By cheque 1900.00 8
8.12.93 By cash 100.00 8

Find the interest Received for the periAgril 1993 to
December 1993 at 5% per annum.
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50. 3TAPT B UTAgD BT U I AR &

fafer faa=or el STHT Y TR

T CARRICI ] 3. T,

3 2. q.

% q.
1.10.93 RN 5000.00
7.11.94 qadq 9 8000.00 13000.00
8.12.94 qadq 9 8000.00 21000.00
18.12.94 P . 0717 A 9000.00 12000.00
22.1.95 qadq 9 8000.00 20000.00
13.2.95 qadq 9 8000.00 28000.00
22.2.95 d% . 0718 | 19000.00 9000.00
5.3.95 qaq 9| 8000.00 17000.00
4495 qadq 9 8000.00 25000.00
14.4.95 BRI 2000.00 27000.00
27.5.95 qadq 9| 8000.00 35000.00
12.6.95 qaq 9 8000.00 43000.00

3TAHT , 3T~ U A 22.06.1995 BT WIAT §& B <ol & | ST DY Bl
3TAER 1994 ¥ WAT § M & a1 dd 4.5% Ui a1 9 39 fava1 =t

gref BT ?
A page fromAlka’s passbook is given below :
Date Particulars Amount Amount Balance Initials
Withdrawn Deposited
Rs P.| Rs P! Rs P
1.10.93 BF 5000.00
7.11.94 By cash 8000.00 13000.00
8.12.94 By cash 8000.00 21000.00
18.12.94 To cheque 9000.00 12000.00
No. 0717
22.1.95 By cash 8000.00 20000.00
13.2.95 By cash 8000.00 28000.00
22.2.95 To cheque 19000.00 9000.00
No. 0718
5.3.95 By cash 8000.00 17000.00
4.4.95 By cash 8000.00 25000.00
14.4.95 By cash 2000.00 27000.00
27.5.95 By cash 8000.00 35000.0
12.6.95 By cash 8000.00 43000.00
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51.

Alka closes the account finally on 22.06.1995. Find the interest
she gets from October 1994 to the day of closing of the account
at 4.5% per annum.

2 A B UTgd &1 U e frefaRad ®

fafer frTelt T8 ST BT TS Ay FXATEN
RUEl 3 % 1.
% 1 |% 1.

7.4.2000 TS 250.00 250.00
7.5.2000 T 150.00 400.00
22.6.2000 TS 275.00 675.00
9.7.2000 T 335.00 1010.00
29.7.2000 Lop| 25.00 985.00
2.8.2000 T 140.00 1125.00
22.8.2000 g 110.00 1015.00
3.9.2000 T 255.00 1270.00
23.9.2000 Lop| 420.00 850.00

I 02.10.2000 I WIAT §& B <l & | IS =TT BT UREHeAT 4% wfaas
DI TR ¥ THAT ATY T ST BIRTY BT 01.10.2000 DT IH e Tl IR

gred g ?

A page from Nanhe La’passbook is given below :

Date Particulars Amount Amount Balance Initials

Withdrawn Deposited

Rs .| Rs Rs
7.4.2000 By cash 250.00 250.00
7.5.2000 By cash 150.00 400.00
22.6.2000 By cash 275.00 675.00
9.7.2000 By cash 335.00 1010.00
29.7.2000 To self 25.00 985.00
2.8.2000 By cash 140.00 1125.00
22.8.2000 To self 110.00 1015.00
3.9.2000 By cash 255.00 1270.00
23.9.2000 To self 420.00 850.00
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52.

53.

54.

He closes the account on 01.10.2000. Find the total amount he
gets on 01.10.2000, the interest being calculate at 4% per an-
num.

WO §@ H 6 Wl @ folU 2000 . ATAfY @I § STHT &Ral & | afs

ST B g% 7% Ui a¥ BT T AT BT AT RIS BT, AT IR

R I o il ura grft ?

Harbhajan makes a fixed deposit of Rs 20000 in a bank for 6

months. If the rate of interest be 7% per annum, what amount
does he get on maturity of FD , when the interest is compounded
quarterly ?

e §% # 1 a9 6 ATE B foTT 50000 AERT WA H ST HRaT & | IS

o B R 8% Ul a¥ B, TAT SH HT A - aqilRfe &,
IRYFadT IR A areft If¥r sid B |

Nikhil makes a fixed deposit of Rs 50000 in a bank for 1 year 6
months . If the rate of interest be 8% per annum , compounded
half —yearly find the amount to be received at the end of this
period .

At 9@ # 25 e & forQ 730 . W@ @I § S wxar 2 | A A

DI T 525% vl a9 2 , 1 aRugadr R S fha+ f¥r ura Brfy ?
Murthy makes a fixed deposit of Rs 730 with a bank for 25 days
. If the rate of interest is 5.25% p.a., what amount will he get on
maturity of his FD ?
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55.

56.

S7.

58.

fifery 9@ # 219 fa9 @ g 40700 5. BT ATERT @Id H SH1 BT & IS

T DI <X 6.75% i B a1 S BT o aRugadr R S faan

ot e |

Philip makes a fixed deposit of Rs 40700 whit a bank for219
days. If the rate of interest is 6.75%, find the interest he gets after
maturity period.

31gel da H 2 a1 @ oY 20000 . AIART W H STHT HRAT 2 | e Tl

@ % 8% s B , IO I HAO a1 &1, o1 uRueadT Jeda 1d
DINTT |

Abdul makes a fixed deposit of Rs 20000 whit a bank for 2 years.
If the rate of interest is 8% compounded annually , find the matu-
rity value of the FD.

Tan 6 7 4 g9t & foIT 60000 . |G WA # STHT BT ® | IS T

@1 TR 8% IS B, T I BT WA a1fies 81, dr aRudadr g Srd
DINTT |

Gautam makes a fixed deposit of Rs 60000 whit a bank for 4

years .If the rate of interest is 8% compounded anndialtythe
maturity value of FD,.

TR §6 # 1 99 & foTY 90000 . @R @I § S HRAT 8 | IS
51 BT <% 8% uf Ay ®, A

IRYFTT Hod =T DIfSTY |

Anuradha makes a fixed deposit of Rs 90000 whit a bank for 1
years. If the rate of interest is 8% per annum, find the maturity
value of the FD.
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59.

60.

61.

GaATATIH §b H 1Y% a9 & oIg 20000 6. HTQR W H ST BT B | AME

T B <% 8% Uf a¥ 2, o1 uRugaar wR S fhae Il g ERfY |
Subramanyam makes a fixed deposit of Rs20000 with a bank for
1Y% years. If the rate of interest is

2 8% per annum compounded help yedirtig the amount to be
received by him at the time of maturity

31UH da H 3 991 & forg 10000 . WA WRT # ST $RAT © | I =Tl
T & 8% Ul =l 2, A1 9

I BT gRUeIaT & qHg I foba=i i 1 2 8nfy |

Anupam makes a fixed deposit of Rs 10000 with a bank for 3
years. If the rate of interestis 8% per

annum, find the amount to be received by him at the time of ma-
turity.

gaTeT % H 2% a¥ & foY 150000 B. WA @I H ST AT © | AR

ST BT X W 8% a1 2, dAT ST BT HATSI I BI, AT ST PIOTT

5 aRygaar & =g S foas fdr gt gy ?

Subhash makes a fixed deposit of Rs150000 with a bank for 2
years. Compounded annuallithe

2 rate of interest is 8%, find the amount to be received by him at
the time of maturity

(149)



62.

63.

64.

65.

66.

UH T 4800 WUY H @IS X 5400 WUY H & Y| ghwd @™ A
AT |
A cow was bouth for Rs. 4800 and sold for Rs. 5400. Find the profit

percent.

@ A 50 fHUT ST 1500 wUY H TG WE AR O @ BRUT 99 g9

T B 28 wO¢ Ufa f6u & W@ 9§ S= gen, A saisy fean ufdera

gIf g3 |

Rakesh purchased 50 kg dal for Rs. 1500. Due to fall in price, he hasto

sell the dal at a rate of Rs. 28 per kg. Find the loss percent.

fdae g @ $9 H 450 ®UY &1 G @NG AR 540 wUU H §9 3T
garzy fean uftrera o9 gam|
A school centeen bought some items for Rs. 450 and sold for Rs. 540.

Find the profit percent.

Higd o 7250 ®UY P N TG I° 6090 WUU H @ oY B wfoera
| DI |
Mohan purchased carpets for Rs. 7250. He sold them for Rs. 6090.

Find the loss percent.

s fEad arel 9 200 Rae 150 Uy Uiy Redim @ W@ 9§ @¥e | SEd

¥ 50 Rae g g | 99 RaaHl @ 1.80 Uy ufd Rade @ fewe & <@

faar| sagy S fHaw uftea @™ sr@r w1 g8

A toy seller bough 200 toys at the rate of Rs. 1.50 eaclotdyof these

50 toys were broken. He sold the remaining toys at the rate of Rs. 1.80

per toy Find the profit or loss percent.
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67.

68.

69.

70.

71.

frrafafag geat & ufoea @™ sreEr s sa@ @ifeg |
T eI = 830 %, fdhd YO = 1100 &, HUA = 170 .
Cost price = Rs. 830, selling price = R%0Q, over heads = 170

T Y = 280 %, fAHg qe¥ = 33750 ., HU = 20 %.
Cost price = Rs. 280, selling price = Rs. 337.50, over heads = 20

T I = 200 %, fahd Yo¥ = 21875 &, HUI = 10 .
Cost pric e = Rs. 290, selling price = Rs. 218.75, over heads = 10

gl 7 UH HPM 140,000 ®IY ¥ TART| HHE & GG W 14,000 HUY,

qd @EaM @ 7,000 ®U¢, fSiell Sl @vam @ g 1,700 €. wd I

R § 8300 ©. @d Py 3@ IR €A 98 WHM 203490 WU H 9

e @ Suer am @ I Uit w@@ SR

Abdul purchased a house for Rs. 1,40,000. He spent Rs. 14,000 on its
registration, Rs. 7,000 on water fittings, Rs. 1,700 on electrical repairs

and Rs. 8,300 on other repairs. If he sells the house for Rs. 2,03,490.

Find his profit or loss percent.

Th FUR A 17 fded e 720 ®UU U ffged @ * 9 @S| S€ &
gt B MeM TF UgAM ¥ S B fBRET 240 wUY I UST| AR q®
I 850 WYY U fHul. @ wa@ & 99 @ §agy S¥ fHaw ufoea o
Jrerar B g3 7
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72.

73.

74.

A merchant bought 17 quintal potatoes at the rate of Rs. 720 per quintal.
He gave Rs. 240 to the cart pullar to take the potatoes to his godown. If
he sells the potatoes at the rate of Rs. 8.50 per kg. Find the profit or loss

percent.

o a~oft & & R @ @ 9 s PG|

LA S faspa e ATH TTfy
(1) 160 . 144 . - ®

@2 = 250 . 25 . _

(3) 280 %. ® _ 30 HUT
4) 250 %. 281.25 . T3 _

Find the value of a and b in following table

cost price selling price profit loss
() Rs. 160 Rs. 144 - a

(i) b Rs. 250 Rs. 25 -

(i) Rs. 280 a - Rs. 30
(iv) Rs. 250 Rs. 281.25 b -

faa qea s HIfT wefs

(1) I oI 300 ®UY, 9 20%

(2) 9 g 3000 wUY, B 6%
Find selling price when

(1) Cost price Rs. 300, profit 20%
(2) Cost price Rs. 3000, loss 6%

HY eI F4 PINY STafh
(1) fapa T 990 wUy, @ 10%
(2) faspa W@ 34650 wuy, & 1%
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75.

76.

77.

78.

Find cost price when
(1) selling price Rs. 990, profit 10%
(2) selling price Rs. 346.50, loss 1%

e Wgfdhel P 1500 WUY¢ ¥ §99 W 25 Ufawd @ g1 g3, O 9 qH
A BIFY |
On selling a bicycle for Rs. 1500, loss of 25% was suffered, find the cost

price of the bicycle.

99 7 U A 2500 w. H @A SEA SN 20 R @™ 9@ SfAs @

¥ Rl s ¥ T 6.% @R SomR Ww @ A9 Rar A wwE ww

4 e feam & @dar

Jam purchased a radio set for Rs. 2500. He sold the radio to David at
20% profit. David sold the radio to Ramesh at loss. What is the

cost price of the radio for Rem}f@gh ?

IO 7 TP TeX 15000 ©. § @G| S64 30 5% & ™ | MU b

991 AR MUl A 5% T & WeT P 997| qaAg¢ Aled 7 e fhaq #
TNIET |

Rajesh bought a scooter for Rs. 15,000. He sold the scooter to Gopal at
5% profit and Gopal sold it to Mohan at 5% loss. What is the cost price

of the scooter for Mohan ?

AP 25% oM W [H aeg Ao @ 9= 2 3R R 30% o w® S9
| B d9a1 21 IR 6 99 o)) @ foU 520 WUy o @, O faww W S«
T B fhan wug § e

Alka sells an item t¥'ijay at 25% profit an®ijay sells it to Sonal at 30%
profit. If Sonal pays Rs. 520 for the item, at what p¥igay sells it ?
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79.

80.

81.

82.

U6 BRIR 3 Th ABRT 9/ R IR 4800 ©UT AT &8 | S6° 15%

M ¥ 99 gPMER Bl 99 AT qaI3¢ gHFER SS9 fRA uES @6

oo # S & S/ 10% & @™ 8|

A carpenter made a sofa set with construction cost of Rs. 4800. He sold
it to a shopkeeper at 15% prof#itt what price should the shopkeeper

sell it to a customer to earn 10% profit ?

IS TP WIsfbed @ 20% @I B | FReE & 9=@r | R 10% @
Iolax 9 A B d=ar 2| afe e 7 99 Asfeha @1 feu 2200 .
fear & < Ia1sy o ° SO fHan A @di|r o ?
Arjun sells a bicycle to Niranjan at 20% loss. Niranjan selsl the bicycle to
Anil at 10% profit. If anil paid Rs. 2200 for the bicycle, find the amount
thatArjun paid to buy the bicycle ?

17%0/%
I A 10% AN | TS I Gl Dl 99 & | gl A YS9
orer B 99 faar| afe o 9 9w 4730 wUU H @ @ @ 99 fean
¥ w¥er o ?
Anil sold an object at 10% profit to Sunil. Sunil sold that item at
profit, to Rajesh. if Rajesh bought the object for Rs. 4730, find the amount
for whichAnil bought the object.

AfeT 7 @ T 20% o ® s & s e A @ B |
IEAT P 1680 WUY H 99 | qazY WA 7 I fhaw H @lar o ?
Robin sold a machine to Nida for 20% profit. Nida sold the machine to
Ahmed at Rs. 1680 suffering loss. Find the amount at which Robin

bought the machine.

(154)



83.

84.

85.

el A T <olfdw Mt & 15% 819 9= 991| e A gAr @

20% @™ Wdx 10,200 %. § €9 faAT| IARY welW 7 SE <ofdew @t
foa 4 @dar o ?

Salim sold a television to Gopal at 15% loss. Gopal sold it to Suita for
Rs. 10,200 at 20% profit. Find the amount at which Salim bought the

television.

Rew wl & g @

Jifea qea gcer fawa qew
(1) 300 ®UY 10% -

(2) 300 ®UY 15% -

@) - 5% 1045 ®UY
4) - 12% 440 WY

(5) 950 ®UY - 893 WUY

Fill in the blanks

Marked price Discount Selling price
(1) Rs. 300 10% -

(2) Rs. 300 15% -

(3) - 5% Rs. 1045
(4) - 12% Rs. 440
(5) Rs. 950 Rs. 893
Rea =i @t gfif g G 1 4 5 )

Jfpa g Hf® ¥ec fawma g1
(1) 700 wUY 40%, 25% -
(2) 500 wUY 25%, 10% -
(3) 825 wUY 5%, 8% -
(4) 1600 ®UY 50%0, 30%, 40% -
(5) 1200 ®UY 10%, 20%, 40% -
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86.

87.

88.

89.

In following questions 1 to 5, fill in the blanks

Marked price Sequential discounts Selling price
(1) Rs. 700 40%, 25% -
(2) Rs. 500 25%, 10% -
(3) Rs. 825 5%, 8% -
(4) Rs. 1600 50%, 30%, 40% -
(5) Rs. 1200 10%, 20%, 40% -

foel Tmex @1 Sifdd 7ou 35000 wUY T | 9F 8% B IS W SUAE | SH
TWheX b1 Ay qoa | PR |
Marked price of a scooter is Rs. 35000. It is available at 8% discount.

Fidn the selling price of the scoater

Ig 7 TP uSl IifPd @ W 20% PT CST W P D 918 @4l AR

I9 qifea qea d 99 fRar 39 Wk W ¥@g @yt o™ gl =«
PIAT |

Chandu bought a watch at 20% discount on marked price and sold it at

the marked price. Find his profit percent in this transaction.

U6 AR S9 T& 3T Jod T 3ifhd &N, S SU 918 ®UY ¥ U< g °,

aifs 15% &1 9€eT & 91 A SH 20% HT A B

What price should a shopkeeper mark on an object, which he bought for
Rs. 918, in order to earn a profit of 20% on giving 15% discount tohis

customer ?

25600 ®IT W 6.25% AME & X | 2 9§ FT Iwglg TS AR DI |
Find compound interest of Rs 25600 at therate of 6.25% per year for 2

years.
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90.

91.

92.

93.

94.

1800 ®UY W 10% aifffes @t <) & fH w7y @l & forg =wpafe <
378 ®UY B| 9% OWY @M HIA P |
The compound interest of Rs. 1800 at the rate of 10% annual for some

time is Rs. 378. Find the time period.

2 A gg @t e a9 @ W | TqHgfG TSl T 4096 HUY
SuR fRy| 3 auf s gl gnT B9 & Ry W 9renm fimes @@
By ?

Hema lent Rs. 4096 at  annual compound interest to Hameed. Find

amount payable by Hammed to Hema after 3 years.

foa w7 & 1600 WY @ R BT 5% qE wHgfEg &e M W A
s 185220 WYY B TG

In what time a sum of Rs. 1655%)@ 5% per year compounded inteest will
become Rs. 1852.20 ?

24000 ®UY WX 10% 3Iefaif¥fed @ X & 99 PT ADHYfg AT HIA
PIRAT |
Find thecompound interest of Rs. 24000 at 10% compounded half-yearly

for years.

foa g = Brft o 9 B foaq 4% A R F efafie =awafy
o 9 s 132651 wUQ B
What principal will become Rs. 132651 inyears when depositd at rate

of 4% compounded semi annually ?
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95.

96.

97.

98.

foam uftrera =spgfE <ma @1 X | 1000 WUY BT gRIRT BT 2 9 H
fise 110250 ®UT B AT
At what rate percent of compound interest, a sum of Rs. 1000 will be-

come Rs. 102.50 in 2 years ?

By §F ¥ tH af & g 10,000 HUY WER ST @R A GHT ST B

I & B ) 85% Uity & Roger wdioM srfaiffe gar 8, @ @y

® WEy Rt S BT uRugmar geu A P

Rakesh deposited Rs. 10,000 in fixed deposit account for onelfyear
rate of interest is 8.5% per year and is compounded half-yéadyhe

maturity amount Rakesh will get at the end of the term.

wifa 9% # 73 Al @ fow 50,000 ©IT P AR S @A H T BCA

g1 A} & B R 65% ufiay B, @ S AEf® o Al @ aRedddn

R fead R ura @nfy ?

Swati deposits Rs. 50,000 in fixed eposit account for 73 days, If the rate
of interest is 6.5% per yedind the maturity amount that Swati will get at

the end of the term.

IRE 9% # 2 991 & fow 20,000 I wWEAMR @M F o AT T AR

I P R 8% aiffs ], T SEST WAoE aiffe &), @ uRudadr g

A BT |

Arif deposits Rs. 20,000 in fixed deposit account in a bank for 2 years. If
the rate of interest si 8% per year and interest is compounded annually

find the maturity amount.
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99.

100.

wWar §6 # 1 9¥ & fIQ 90,000 HUY WA @RI H S HXA | AR A
P W 7% yhad 8, O uRugaar qoa 9 HIRIQ |
Sweta deposits Rs. 90,000 in fixed deposit account in a bank for.1 year

If the rate of interest is 7% per yefind the maturity amount.

9 §F A 219 o & U 40700 YU P GEAD @ § T HRar 2| IR

N B X 6.75% qiffe & O S s F uRugaar w® S feaen
et |

Sem deposits Rs. 40700 in fixed deposit account in a bank for 219 days.
If the rate of interest is 6.75% per year find the amount of interest Sem

will get at the time of maturity
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AEATI—9—10
Unit-9-10

safafe
GEMOTRY

EI'\'TjﬁE 931 (Objective Answer type Questions)
dle : Wi ¥ W T fiew & oF Ime gfm -
Short out the correct answer from the following given four answer

1. M AMBR Td GAM AGHT drell mapfodi Far gkt 8—

(a) wafTH (b) srgai A

(c) < (d =g e
Figures of same size and same shape are -
(@) Congruent (b) Non congruent
(c) both (d) None

2. gfe vd ATy 8 | a 8-

(@ AB =PQ (b) BC=QR

(c) AC = PR (d %JE

What is true if & are congruent -
(@ AB =PQ (b) BC=QR

(c) AC =PR (d) All

3. fe wd A 8 i a 8-

1) (2)

3) (3) =+t

What is true if & are congruent -
1) (2)

(3) (4) All

4. gatred el # ofist o dwaar @ Sl ?
(@) (b)
(©)) (d) &
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Whar correspondiance in in their vertices of congruent triangles ?

() (b)
() (d) All

QY PrEt ¥ AR @ Pret @ D OT T oIS 99 B P g
Brgsr @ W qoel 9 99§ 3 I R e @ W
qomell 7 TS 9 D P awEw & o ¥ P 9 -

(a) \afTaH (b) sraaiTad

(c) faen# (d) =

If two sides and the included angle of a triangle are equal to corresponding
two sides and the included angle, then the triangles are

(@) Congruent (b) Non congruent

(c) Reciprocal (d) All

fe var @& Tr Rua e g 9 Y@ 9o fan Yads @[

T Whd 8 S99 99T HeW Bl g § ?

(a) &1¥9 (b) <SMER

() i d) Sorey

Which segment is the shortest of all line segments drawnfrom a given
point to a line not on it.

(@) Perpendicularline (b) Bage

(c) Hypotenus (d) None of them

foe B § < qoret &1 AT AW qor | s -

(@) ®rer (b) st

(c) sXTaR (d) @ &

The sum of any two sides of a triangle is the third side.
(@) Congruent (b) Non congruent

(c) both (d) None

it B § s° P > FER B o Bk § ?
(@) 9 (b) ®Yer
(c) SRTER (d) @18 T
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10.

11.

In a triangle side opposite to greater angle is -
(@) Longer (b) smaller
(c) Equal (d) None

Iy e Br[er & 1 O] IWE B O S YO & "EA 9ral

DI DT BT © 7

(@) BieT (b) st

(C) SRTSR (d) =

In two sides of a triangle are unequal then the angle opposite to the longer
side is -

(@) Lesser (b) greater

(c) equal (d) all

e1g e &1 ude dvr fHaen gar g

(@ 9 (b) 30
(c) 60 (d) 180
What is the angle of an equilateral triangle -
(@ 9 (b) 30
(c) 6CF (d) 180

R R Bre § @ P e B, @ STRErE @ e B

B—

(@) SRTSR (b) HE

(c) §sT (d) ®ier

In two sides of a triangle are unequal then the angle opposite to the longer
side is -

(@) equal (b) unequal

(c) greater (d) smaller
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12-

13-

14.

15

16.

S BT B[S & DIV 3 U DIV FaH BIC DIV BT AT AT G
PIU] HeaRT BIC DI BT A AT 2 I G DI BT A BT ?
One angle of a triangle is twice the smallest angle and the other is

thrice the smaller angle of triangle its angles will be
(a) 30, 42,1089 (b) 6C, 45,72,
(c) 3@, 60, 90 (d) =@+ & @iz =&l (None of them)

fBel A PV H 2 : 3 : 4 P AFUT & BIVN BT A BRI |

The angle of a triangle are in this ratio 2:3:4 the angles will be
(@) 20, 6¢, 100 (b) 30C°, 5,100,

(c) 40, 60, 8C® (d) =+ & @i =&l (None of them)

Pl A9 TSl &3 & T 3T DIV BT A 108° IHH YISl DI FEAT
BT |

The measure of one interior angle of a regular polygon i 108
The number of side will be

(@) 4 (b) 5,

(c) 6 (d) Y

OA 3R OB fawia faxer & afe y = 110P a1 X &1 /149 81T |
OA and OB are opposite rays. If y #® the value will be
(a) 11 (b) 70°

(c) 20 (d) 290

I @ | ik m, OR yf=ss oxdl & afe Xx=45° a1 y & a9 81l
Two lines | and mintersect at O. If x =*4Be value of y will be
(a) 45° (b) 60°

(c) 102 (d) 135
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17.

18.

19.

20.

21.

AABCH A=100F iR AB=ACa Bdaar Co a9 2T |
INABC A=10® andAB =ACthe Band Cwillbe

(a) 50°,5¢ (b) 48,50

(c) 400,40 (d) 30,3¢

50° % BT & YR DI BT AT BT |

The complimetry angle of 8@ngle is

(@) 20° (b) 40

(c) 130 (d) 90

70° @ PIVT & R BV BT A BRI |

The complimetry angle of T@&ngle is

(a) 20° (b) 90

(c) 110° (d) s & @13 78l None of them
O

70° & FRRE HIVT BT AN BT

The supplimentry angle of 7@ngle is

(@) 70° (b) 1O

(c) 20° (d) 40

110° & PV ARRE BIT BT A BN |
The supplimentry angle ofillP angle is
(@) 7¢° (b) 1O

(c) 20° (d) 40
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22.

23.

24.

25.

TP M BT fIHot 10 A T UF 9ol 8 FHI Bl A ST BN |

The diagonal of a rhombus is 10cm and a side is 8 cm. then this
other side will be

(@) 6cm (b) 8 cm

(c) 12cm (d) s & @13 €1 None of them

AABC # gom BC = 12%# AB = 5% a1 &vf AC &1 oS
BT |

In AABC side BC = 12cmAB = 5cm, then diagon&C will be
(@) 10 cm (b) 13cm

(c) 17 cm (d) 3cm

FHag A BT I HIT BT & |

Angle of Equilateral trinagle is equal to
(a) 3C° (b) 60

(c) 4%° (d) 90

fedt A & 3= BV BT AT BT & |

Sum of this internal angle of triangle is equal to
(a) 100 (b) 360

(c) 9C° (d) 108
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gorg Unit-9-10
st Gemotry

oY ST Td 4" ST UBR @ U

Short Answer and Long Answer Type Questions

1.

amefd %, AD=BC sk BD=CA

Rrg oy f& L ADB=/BCA iR
/ DAB=/CBA
In Fig. , AD = BC and BD = CA. D . C

Prove that ~. ADB = /. BCA and
/ DAB = /_CBA.

sty % PS=QR 3k L SPQ=/RQP

frg @iy f& PR=QS ik L QPR=,PQS
In Fig. ,PS=QRand

/_SPQ = /_RQP. Prove that
PR=QS and 2 QPR =/ PQS.

i #H, vare AB ww AP

sk BQ o & sk AP=BQ| Rig
FHiTg fs O varavst AB ik PQ
& 77 g 7|

In Fig. , AP and BQ are
perpendiculars to the line-segment
AB and AP =BQ. Prove that O is the

mid-point of line-segments AB and PQ.

ampfa H agdst ABCD @1

fawot AC @10 A 3R C &1

THfGITT &xaT & | g HIfvT b
AB=AD 3k CB=CD

In Fig. , diagonal AC of a
quadrilateral ABCD bisects the angles
Aand C. Prove that AB = AD and
CB =CD.
(166)



5. AB 1% Y&@rgue 2| AB @ fauRd uerf §# AX @ik BY @8 H w18 & U g1 NE@RITS
iy 2 f5 AXIIBY 2| afe vamgrs AB ik XY weR fag P wR ufteeg &,
g #IT & (i) AAPX = BPY (ii) AB 3R XY, P fdg ) weR gafgwiior
B B |
AB is a line-segment. AX and BY are two equal line-segments drawn on opposite

sides of the line AB such that AX || BY. If AB and XY intersect each other at P, prove
that -

(i) A APX = ABPY (i)  ABand XY bisect each other at P.

6.  am@fd 817 # mlin, A 3R B %wer Y@Ri M 3R N W 5 fdg & dur M xamgrs
AB &1 711 fag & | CD @13 o= Yx@r@vs &), forga R C ik D wHer Y@mRil m sk
nw Rerd & ar fig Ivig i M xaravs CD &1 Y #eg fawg 2R |

InFig. 8.17, m Il nand M is the mid-point of line segment AB, where Aand B are any
points on m and n respectively. Prove that M is also the mid-point of any other line-
segment CD having its end-points on m and n respectively.

3fTpfe 8.17

7. @it 818 H agdst ABCD &1 =y Yol
AB 3R DC & #eg fawgaii M 3R N &1 Sired
Il X@RITS 1 YoT3ll WR o & | Rig $IfTg
& TS & 3T Yod a_IeR 2 |
[ Ha&d : M sk D T M sik C &1 fAarsy] 3ATehfcr 8.18
In Fig. 8.18, the line-segment joining the mid-points M and N of opposite sides AB

and DC of quadrilateral ABCD is perpendicular to both these sides. Prove that the
other sides of the quadrilateral are equal.

8.  adfd 819 #, PQRS ta agywl € 3fk PS der
RS w gmwer: TeikR Ut fag € f&

PQ =RQ,
PQT= RQU
3R TQS= UQS=®
g @ISt & QT=QU
[ Fad : g @il f& PQSz=  RQS| 3ATepfcr 8.19
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10.

In Fig. 8.19, PQRS is a quadrilateral and T and U are respectively points on PS
and RS such that.

PQ=RQ

/ PQT=/RQU
and /L TQS=/UQS
Prove that QT = QU

i 8.20 H, MABC @1 a1 yaird AB e BC iR #nfegsr AM s ADEF &1
yorsii DE e EF sk #1ftger DN & &-1eR 2| Rig #1foig f AABC=ADEF
[ Fevd : BM=EN (aR1aR Y<i1aii & 3fT), o1 IudNT deas g diforg AABM=ADEN
3 ]

In Fig. 8.20, two sides AB and BC, and the median AM of AABC are respectively

equal to sides DE and EF, and the median DN of ADEF. Prove that AABC =
ADEF.

[Hint : Using BM = EN (Halves of equal sides)
Prove AABM = ADEN, etc. ]

3fTehfd 8.20

&1 qHHIOT FPoil #, U B[S o1 goTl 3R U =ADIOT gax el &1 e Yofl el
I GBI & aRTER € | g Ifie b S Bryst gt g |

In two right triangles, one side and an acute angle of one triangle are equal to one
side and the corresponding acute angle of the other triangle. Prove that the two
triangles are congruent.
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i 8.37 H, ABC wafgarg Byat & foras
AB=AC 2 BD 3R CE 2r{s1 @I 31 Aritgsi 8
g @iy f BD=CE

In Fig. 8.37, ABC is an isosceles triangle

with AB =AC. BD and CE are two medians

of the triangle. Prove that BD = CE. B ) E C

3fTpf 8.37

aﬂ'crzi%r 8.38 §, AB=AC 3k BE=CD
R1g oIy i AD=AE
In Fig. 8.38, AB =AC and BE = CD.

Prove that AD = AE.

ampfa 839 H, AD=AE 3k BC w®

D @ E U9 fig & f& BD=EC
Rrg @ifviw & AB=AC

In Fig. 8.39, AD = AE, and D and E are

points on BC such that BD = EC. Prove
thatAB = AC

amafa 840 H, PS=PR, £ TPS=/ QPR A
g 3t f& PT=PQ

In Fig. 8.40, PS=PR, L TPS =/ QPR.

Prove that PT = PQ.

3MTehf 8.40

afe ampfa 840 # PQ=PT 3R

/ TPS=/ QPR , oI Rig @R .
f& rger PRS wafgag 21
Ifin Fig. 8.40, PQ-PTand L TPS = /. QPR,

prove that triangle PRS is isosceles. A

JAMHfT 8.41 H, b B AR BC W)
< Bt ABC @ik DBC ¥ 2
AB=AC ik DB=DC ¢ f&g 3Ifo1g 3MRIT 8.41

f5 ~ ABD=/ACD
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16.

17.

18.

19.

20.

21.

22.

In Fig.8.41, ABC and DBC are two triangles
on the same base BC such that AB = AC
and DB=DC. Prove that 2~ ABD = /Z ACD.

3Mepfcr 8.42 H, T &1 3R BC W)

<1 fryst ABC siik DBC W% 8

f& AB=AC 3k DB=DC & g @Iy

f& LABD=,ACD

In Fig. 8.42, ABC and DBC are two triangles on the
same base BC such that AB = AC and DB = DC.

Prove that £~ ABD =/ ACD. B

3Mepfe 8.42

Rig IRTY 5 A9aE BreT &1 % Hior 60° &1 BT 2|

Prove that each angle of an equilateral triangle is 60°.

rst ABC @ @101, A,B iR C ReR av1eR 2 | Rig a9 f5 AABC \#eTg 2|
Angles A, B and C of a triangle ABC are equal to each other. Prove that AABC is
equilateral.

wAafgarg Byt ABC % AB=AC &1 BD 3R CE, /B 3R £ C o aIvli &
gafg9iora © | Rrg @i f& BD=CE |

BD and CE are bisectors of B and £ C of an isosceles triangle ABC with AB =
AC. Prove that BD = CE.

g SITY b T v &1 HANTT Yoirsll & A& g3l Bl Merdy a9
T IS W UF I BT

Show that the quadrilatreral formed by joining the mid-point of the consecutive sides
of a square.

g BINTY b AT BT HANTT YoTiall & #ed [d=gall DI FedR IR 1
AT AT BT © |

Show that the quadrilateral formed by joining the mid-point of the consecutive sides
of a rectangle is a rhombus.

ABCD U&% I9ad4Sl © | AB, BC, DC, DA, & #edl fdg %Hel: PQRS & | g
HITY fF PQRS T R & |

ABCDisarhombusand P, Q, R, S are the mid-point of AB, BC, DC, DA, respec-
tively. prove that PQRS is rectangle.
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23.

24.

25

(Fig. 9.26)

Rrg ST &5 5l agdst & HarTa orell & #eg gt &1 e &
7 IS @GR 9.26) FAGR ATHST BT 7 |

Prove that the figure formed by joining the mid-point of the consecutive sides of a
quadrilatral (Fig. 9.26) is a parallelogram.

A ABCHT B FHASIT B R P Yol AC T A7 fdg 7 | g @ifvy f&
PB=PA=1/2A

(Fopd : P B 8 & IR NG Wiy, ST AB &1 Q WR fieral) &1 )
AABC is a traingle right-angled at B, and P is the mid-point of AC. Prove that
PB =PA=1/2AC

[Hint: Through P, draw a line parallel td BC, intescting AB in Q]

3MGIT 9.27 W FHGT ABCD &I Yol AD &I #ed fdg E®, T AB |D.A 2| E
A AB &I GHIGR Wi TS Y@ BCH FWR fierdl 8 | gerigd f5 Fy BC @t

7o fig 2 |
(Fdpd : AC &I a8y )

In fig. 9.27, E is the mid-point of side AD of a trapezium ABCD, with AB ||D. A line
through E parallel to AB meets BC in F. Show that F is the mid-point of BC.

[Hint: join AC]
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27

28.

29.

g PIR™TT % cb=CE
(FHbd : CH / R o CM Hife)

[ 3
v

]

i

|

o
D M E

(Fig. 9.28)

Points Aand B are on the same side of aline |. AD and BE are perpendicularsto |,

meeting | at D and E respectively. C is the mid-point of AB (Fig 9.28).Prove that
CD=CE.

[Hint:From C draw the perpendicular CM on ]

SRV b Igsl & G9E oIl & #ed 453l &1 M drel Yeagve
RER FAGIINT & & |

Show that the line segments joining the mid-points of opposite sides of a quadrilat-
eral bisect each other.

3RS ABC #H oTall AB3IR AC TR HHeT: fdg M3IR N 3 UK foft 1Y & &
AM = 1/4AB 3R AN = 1/4AC | Rig #IRTT f&5 MN = 1/4BC

In Triangle ABC, points M and N on sides AB and AC respectively are taken so that
AM = 1/4 AB and AN = 1/4 AC. Prove that MN = 1/2 BC.

3MgfT 9.29 H, AABC H AB =AC fdg D,E,F 3L YSI3Il BC,AC 3R AB &
77 fdg 2| g HITY % @r @vs, AD YT @€ EF R & g, 3R g9
T GRT AHGHITT BT 2 |

(Fig. 9.29)
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30.

31.

32.

33.

In Fig. 9.29 A ABC is isosceles with AB = AC. D,E and F are repectively the mid-
point of sides BC, AC and AB. Show the line segment AD is perpendicular to the
line segment EF and is bisected by it.

AR AT ABCD ¥ E 3R F %7 AB IR CD & #ev fdg 2 | Rig @iy
5 AF 3R CEXETS 3R fadot BD & 9 ax1aR Wt # fawiirg a=d 2|
In a parallelogram ABCD, E and F are the mid-point of sides, AB and CD. Prove
that the line segments AF and CE trisect the diagonal BD.
ABCD U&% FHIHSl @ AB 3R E®I TAT F &l R 9 UHR g1 T & f
AE = AB = BF. Rig #IfSTU f& ED @R FC IR &9 2 |

ABCD is arhombus and AB is produced bothe sides to E and F such that AE = AB
= BF. Prove that ED and FC are perpendicular each other.

ST ABC & ¥ AW BIHR ST dTell bl a1 Uk BM UG CN & © | Ifa
L 9ol BC &1 7y fdg © a1 Rig @11 % LM = MN

BM and CN are prependuculars of line passing through the vertex A of a triangle
ABC. If is the mid-point of BC, prove that LM = MN.

3T 9.30 H I, m 3R n A9 FHIAR Y foRids @1 p & gIRT hHen: fdgaf
A, B3R CWR 3R e q @1 & gRT %A g3l D,EIIR F WR Ulaesiad
BT A B | e ABEF = 1:2 g P fb DE:EF = 1:2

(Fhd : BC & AeAfdg W VAT n & FHIAOR Wiy )

NAYN

B/ \E ..

J N\,

et 930 ] \

Fig 9.30, three parallel lines |, m and n are intersected by a transversal p at pointA,
B, and C respectively and transversal g at D, E and F respectively. IfAB : BC=1:2,
prove that DE: EF 1:2.
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(Congruence of Triangles)

A — oY St U@ " ST g

ShortAnswer and Lond\nswerType Questions

1. fig dIRT 5 TdT Bre § ool w99 < o Bkl 2
Prove that in a right angled triangle hypotenuse in the longest side.

2. fig #Ivg & &l Bt & A1 i ol &1 ar Swat dFF ol
@ AT ¥ BT BT B

Prove that in a triangle the sum of all altitudes is smaller than the sum of

its sides.
APRBCA
3. AABC # P Igd | Rig #ifvw f& AB > BD.
In ,AD is an angle bisector of . Prove thaAB > BD.
4. ABCD tw =gyl 21 fd@t AC v BD ta—g@ @1 fag 'O' wR ufoss

o 2 fag $Rw 5 (AB + BC + CD + DA) > (AC + BD).
ABCD is a quadrilateral. Diagona#¢C and BD meet at O, prove that -
(AB + BC + CD + DA) > (AC + BD)

5. & g anqfa 5 A g1 BCwR 315 fa|g D 81 AD &1 WSt W 2|
g aifsig f& AB + BC + CA> 2AD |
In Fig - 5, D is a point on sie BC of a . AD are joined together

prove thatAB + BC + CA> 2AD A
Fig - 54[&
B D C
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q g i 6 H # AB >AC 2| OB t§ OC mHr: g
P g 2| g #ifve f& OB > OC

In Fig - 6,AB >AC in . OB and OC are respectively the bisectors
of and . Prove that OB > OC. A
Fig-6
B C
Qs Il — 7 A # Y@ws AD o BC & fag D w® fiemn

2 3R AB > AC fig @ittt f& AB > AD
In given Fig. 7, line segmeAD meets side BC at D in andAB >
AC. Prove thafB > AD. /

Fig. 7

B D C

q 18 s — 8 # PQRSU& =y 281 PQ 39& Had q<1 Hoil @ aor
RS sua we9 B qon 2| Rig o & T
(@@ PRTd QS & fiemsy) NEBITROBCE
In Fig.-8, PQRS is a quadrilateral. PQ is its longest side and RS is the

smallest side. Prove that and : S R

Fig.-8

P Q
q TS Apfr — 9 #A @ gon AB @1 fag D 9@ wd yom AC @1 E

% ISR T T IR o fig @i & AD > AC
In Fig. 9, Side&\B andAC of are produced respectively to D and
E.If prove thaiAB > AC. A

o
Fig.9
D

E
@ T ampfa 10 ¥ PQ = PRE, @ Rig #Ifviw % PS > PQ
In Fig. 10, PQ = PR prove that PS > PQ A

Fig. 1
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11.

12.

13.

14.

15.

q T iy —11 A % T # O o fag 81 Rig @ifdy &
(AB + AC) > (OB + OC)
(Gd : OB # 9o R a8 AC & fag D R )

In given Fig. 1, O is a point in the interior of . Prove that (AB +

AC) > (OB + OC) A
(Hint : Produce OB to me&C at D) D
Fig. 1l Q
B C

¥ AD Sua s dftger 2| fag #Ifw f$ AB + AC > 2AD
AD is a median of . Prove thafAB + AC > 2AD

fig 9w & 5l Bre & M9 goned &1 A sHa O Aftawre
® A ¥ FT T B

Prove that the sum of the sidgzl_% a triangle is greater than the sum of the

medians of the triangle.

q TE apfo—14 | # AC>AB &R yom ACWR D & fig 59
gor 8 f& AB = AD g @ifSig f& CD < BC
If Fig. 14AC >AB of and a point D is on the sié& so thaiAB
=AD. prove that CD < BC. A
Fig. 14 N

B C
& TS gfa—15 # # AB = BC 3R yor AB ® D 3 fag 2|
fig @ CD >AD
If (Fig. 15)AB > BC and D is a point oAB. Prove that CD AD.

A

D

Fig. 15 \
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16.

17.

18.

19.

20.

T IgT @ ev g o 9 g owa €)1 Rig 9 & as
TP R TGHS © |
Diagonals of quadrilateral bisect each otReove thatthequadrilateral is

a parallelogram.

T s fageit A, BaiR C o w0 e gl &1 fasg ur «&m e
ITH JER BT HRU WK DY |
What is the locus of point equidistant from three non-collinear points ?

Justify your answer

T oE figel @ AR &1 fag 9o @& 8 ? IUN SaR BT BRI
W HIfIY |
What is the locus of point equidistant from three collinear points ? Justify

your answer

ARBC
fig 9T f& A R B Rl & dar oM 9 gl @& a1 &1 fRig
9 AB YEEE BT d€dEd 2
Prove that the locus of the centres of circles passing through the4ooints

and B is the perpendicular bisector of the segBnt

N ¥ w20 ¥ S 3R BC ) Y@ BC 3 fawda &k

gafgarg Brge IR Rea 21 fig @ifsig f& Pk Q&

fem arelt Y@ BC & |9« W wafgaiG sl 2

In Fig.-20, two isosceles triangles and are formed on
opposite sides of the common base BC. Prove that the line joining P and

Q is perpendicular bisector of the segment BC. N

Fig.-20 Q
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21.

22.

23.

24.

25.

q TR g — 21 § SWHAfTS R QR & & &R J1 wAfgeTg
frer PQRaiR Rerg &1 Rig PNV & SPYXaT QR & o IEd
2|

In Fig.-21, two triangles PQR and  are formed on the same side of

the common base QR. Prove that SP is perpendicular bisector of QR.

A,

Fig.-21
q T arpfo—22 A @1 IEd PS, QRYem &1 S fig W ufisw
FRT B Tq g g &) Rer A & SN = SM
In Fig.22, bisector PS of angle meets side QR at point S. and

are drawn. Prove that SN = SM.

R
Fig22 S

& T agpfi—23 # ior ABCmﬁl BA 3R BC & w¥gR=ey @enm
® 3d W # B fag &1 fAguy s afsw
Is given in Fig. 23. Find the locus of the interior of and
equidistant from BA and BC.

A
Fig. 23 C
o 79 = P 3| g afog fs o a9 d= fag A B
Pis the orthocentre of . Prove thaf is the orthocentre of

# wfgerd AD, BE 3R CF fag G & Tord g1
(1) afs BC = 65t @t BE &1 59 &1 &1 ?
(2) IR GF = 43% @ GC & a9 @1 & ?
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26.

27.

28.

29.

(3) aft AD =753 @ GD &1 59 @ = ?

MedianAD, BE and CF of , pass through point.G
(1) If BC =6 cm, find the measure of BE ?

(2) If GF =4 cm, find the measure of GF ?

(3) If AD =7.5cm, find the measure of GD ?

gafgarg Brqer @ forad AB = AC, BC @1 w&g fag D 7| Rig
oy f dRP=, iads, dd @g =M Dad w1 AD @ R Red 2|

Is an isosecles triangle in whi&B = AC, D is the mid-point of
side BC. Prove that the incentre, orthocentre, circumcentre andcentriod
of lie onAD.

¥ afg@d AB = AC, BEaiR CFRwg G W uRreds axdt 21 g
#Rm 5 BE + CF > BC%BG+GC>BQ
MediansAD, BE and CF of 2 pass through point.G
Prove that BE + CF > BC (Hint: BG + GC > BC)

& o9 d=% HE| AH, BH &R CH# w1 fag v X, Y oiR Z
g1 Rig oIg & o a9 g A H |
H is the orthocentre of a . Mid points ofAH, BH and CH

arerespectively X,Y and Z. Prove that H is also the orthocentre of.

# Afgerg AD, BE sk CF , BH3R CH fag G w® uftress ol
£ o frg @R % 4 (AD + BE + CF) > 3 (AB + BC + CA)
MediansAD, BE and CF of pass through point,@rove that
4 (AD + BE + CF) > 3 (AB + BC + CA)
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30.

31.

32.

@ Yo BC & 95 fag fvdw yoR s &0 & Yol AB iR AC

q IR B 7
How will you find a point on side BC of a  , which is equidistant
from the side®\B andAC.

& Brger & A9 afge] "R §, g dIY &5 a5 wEg B 2
All medians of a triangle are equal. Prove that the triangle is an equilateral

triangle.

fig IV & 5t Bra & X Aftaeel &1 I A9 afaer ¥ 91
gar 21
Prove that thesum of any two medians of a triangle is greater than the

third mediam.

AABC
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Unit-10

AR aqS

(Parallelogram)

?:l'\'ﬂﬁﬁ 931 (Objective Answer type Questions)
dlie : WY ¥ W e fiew & of Ime ofem -
Short out the correct answer from the following given four answer
1. U6 IR agqel @ fo 9 HF R/ 8-
(@) YD W H GF@ YoIll & Bl T
(b) YRS JH H G BT SO B B
(c) s Rt tH—gm o Fafgwiog & 2|
(d) W ¥ 2|
Which is true his a parallelogram -
(a) Opposite sides in each pair are equal
(b) Opposite angles in each pairs are equal
(c) Both diagonals bisect each other
(d) Allaretrue

2. 98 Tgqe o w9 qeRll @ QM g §dia] 81, a9

FEATT B |

(2) AR TG (b) &

(c) & (d) ®Ig el

What is called a quadrilateral, if pairs of opposite sides are parallel.
(a) Parallelogram (b) Squarl

(c) Cube (d) None of the above

3. TP aqYS FAR A e Ay —
() 31 IR Yo¢ SRR AR FACR &

(b) ¥E YOG TR B |
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(c) e - « GAfgaiaaxa &

d) |t

A guadrilateral is a parallelogrma if -

(a) Pair of opposite sides are equal and parallel
(b) Opposite sides are equal

(c) Diagonals bisect each other

(d) All

JA BT DI A AT A0 F RER BA 8, UG UH—gER D
THfgfd &va & ?

(@) famof (b) o=

(c) = (d) ®Ig TE

What are equal of a rectangle which birect each other ?
(a) Diagonab (b) Perpendicular

(c) both (d) None

HagHd @ @t (o o 5w a1 R wEfgwioa avd ©
(a) FHBIO (b) 3fered HIoT

(c) ~gTBIT (d) @1g

If which angle the diayonals of a thombus bisect each.other

(a) Rightangle (b) Acute angle

(c) obtuge angle (d) None

.......... @ §XIEX BT 2|

(2) ST (2) W AT

(c) TeM d) ®g B

The area of a triangle is what of the product of its base and correspond-
ing height ?

(a) twice (b) Thrice

(c) Half (d) None
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UHTE! MR AT |9 IERI dlet &a%hd § WX el @
divcis &9 8 § ?

(a) ERTER (b) BT

(c) T (d) g el

The atuttade of triangles drawn on same base and with equal area are -
(a) equal (b) Smaller

(c) bigger (d) None

TR T O TP & AR AR w @ wHion Y@el @ 99

Rera 8 &war § D9 B0 T

(a) SRTER (b) QI

(c) SATEI (d) Ig TE

What is the area of parallelograms drawn on same base and same parallel
lines.

(a) equal (b) Twice

(c) half (d) None

e S @ & IR 3R < Rk Y@rRl @& 9w Rera & o
J &% ¥ DY B T ?

(a) SITEMT (b) «RTER

(c) T (d) W= I

Trianglesdrawn on same base and between sameparalld lineare......... IS
area.

(a) Half (b) egaul

(c) Twice (d) Thrice

T agdd D U@ g9 18 W IR SEe Al g & W 8
G Ikt i - e B |

(@) 144 cm? (b) 72cm?

(c) 48cm? (d) 100 cm?

One side of a parallelogram is 18 cm and it distance from the opposite
sideis8 cm. Thearea of theparallelogram is-

(@) 144 cm? (b) 72cm?

(c) 48cm? (d) 100 cm?
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AR aqS

(Parallelogram)

A — oY St U@ O" S g

ShortAnswer and Lond\nswerType Questions

1. Ife & agfs o IR ol &1 (e Jia 99F AR §Fiax & o 98
AR agqs sN |
If one pair of opposite sides of a quadrilateral are parallel and equal then

the quadrilateral is a parallelogram.

2. fay gu fm # waiaR agds ABCD @t qumsit AB sk DC & we1 fasg
A X 3R Y 2| fig #Ig f& AXCY e wHiR =qys €|
In the given figure X and are mid-points of the sidesB and DC
respectively of a parallelograABCD. Prove thaAXCY is a parallelo-

gram.

3. Ife S ogyds & 9@ W §HE 81, df 98 9Hia] agye en |
If the opposite sides of a quadrilateral are equal, it will be parallelogram.

4. ABCD t& @it agysl €1 BD fawef w <1 fag P3ik Q 59 voR €
f& DP = BQdr Rig @ity f& APCQUa wWieR =dal 2|
ABCD is a parallelogranilwo poins Pand Q are on the diagronal BD
such that D BQ. Prove thaAPCQ is a parallelogram.
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10.

11.

ABCD t& @it agysl €1 BD fd@of w® &t fig Paik Q 9 uaR &
f& DP = BQdr Rig @ity f& APCQUa w#iaR =dal 21

ABCD is a parallelogranilwo poins Pand Q are on the diagronal BD
such that D BQ. Prove thaAPCQ is a parallelogram.

I &l agde @ Qe @ R & Fafgwiold & @ 98 TioR agyol
BT 2
If the diagonals ofa quadrilateralbisect each othen thequadrilateral is

a parallelogram.

& g g 11.8 § ABCD wwick agiw & | e fawet BD # fag X
IR Y 39 yar = f& DX = BY, Rig aifvig f& AXCY w@icR agqi« 2|
In the given Fig. 1.8,ABCD is a parallelogram in which X aiYdare two
points on the diagronal BD such that DX =.Bfove thaAXCY is a

parallelogram.

AR gy @ faeel e g a1 gafgeioa #va €

Diagonals of a parallelogram bisect each other

IR} fF iR agds @ fAevl 9= & @ 98 omua &ar 2

If the diagonals of a parallelogram are equal, then it is a rectangle.

ot s @ e w9 H 80 g1 (P 5 &1 faam)

Diagonals of a rectangle are equal. (converse of theorem-5)

Iy fFdt R agde @ Red o ® @@ & @ a§ W agH
BT 2
If the diagonals of a parallelogram are perpendicular to each thtbeiit

is a rhombus.
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12.

13.

14.

15.

16.

& wegds & v weR dwad g9 &1 a7 &1 fadm)
The diagonals of a rhombus are perpendicular to each other (converse of

theorem-7)

aggst @ ABCD faedf oaa g1 fig @b f& sua qomel & @
fagell @1 fram @ fAffT =gy, smaa sar 2

The diagonals of a quadrilateAdBCD are mutually perpendiculd?rove

that the quadrilateral formed by joining the mid-points of its sides, is a

rectangle.

I} 5l TR agfs @ Rl & TR | @ IR g @ @ 9% @
BT 21 SR WY # e FEfaRed yeR @ @ o w@adt 2
If the diagonals of a parallelogram are equal and mutually perpendicular
then it is a square.
AABC
q TE AR 1145 F TG B o gomsit BC, CAsik AB&
g fig o P, Q3R R 8| fig #Ivw & =gdst PQARU® a9 =gy
2|
In given Fig 1..15, PQ and R are mid-points of sides BC, @AdAB,
respectively of an equilateral triangle . Prove that PQAR is a

rhombus.

@Ers o o @ o qorell & 7 el 1 Srear 21 e e
P FHGR BT § AT A A SHST AR BT B
Line segment joining the mid-points of two sides of a triangle is parallel

to the measure of the third side.
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17.

18.

19.

20.

21.

22.

e & @ gon & W g & g @ Wik & 18 Y@ IR e
P ARG B 2|
A line drawn parallel to a side of a triangle through mid-point of another

side bisects the third side of the triangle.

frg @ity f& fod of o qomel @ 7= fge & fiom @ fAfia
aggs @t == By
Prove that a quadrilateral formed by joining mid-points of thesides of a

square is also a square.

Ife N9 TR R W@ T e X R GAF IidEs dred 8 o 98
fosll o=g fodes Yar ) W a9F siags e
If three parallel lines cut equal intercepts on transversal, then it cuts equal

intercepts on any other transversal.

I T TR IgYT TP & AR TR T AR Y@RI H TP & I D &
Rerg & @ S &9%d sXER B ¥
Two parallelogram drawn on same base and between two parallel lines

are equal in area.

e & JER W T AR NERI1 P TP & FH B 9" Rua Bye e
# w®R B F
Triangles drawn on same base and between a pair of parallel lines, are

equal in area.

fig oIy f&5 &l e o aftgsr s9 Br[e @1 7 w99 &9%d el
el @ e st 2
Prove that the median of a triangle divide it into two triangles of equal

areas.
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23.

24.

25.

26.

Iy D, E &R F wwwn @ gemelt BC, CAsR AB & w7 fig 21
firg #ifiy f5 BDEF e w9k agdw & e a3wa >
fF%d B I 2| g N fig T 5 auma g%

If D, E and F are mid-points of sides BC, @AdAB, respectively of a
, prove that BDEF is a parallelogram whose area is half of the area

of the . Also prove the area area

IR R IgS BT 0@ Ravl Y SHS TS DI HI GHigAIfo HRar

21 A} 98 SU G T B N gElgWIig wRar @ @ Rig dIfvig %

T fAPpet "R @aa g

If a diagonal of a parallelogram which bisects its one of the angles also
bisect its opposite angle, then prove that both diagonals are mutually

P

perpendicular

4

3R 59 yoR & f& AB 3R BC was: PQud QR & |8
Td i 2| fag @ife f& AC iR PR 99 @R 9@iar 2|

and are such thaaB and BC respectively are parallel and

equal to PQ and QR. Prove that = PR.

fig IRV 5 s & doa= qonel @ wem RAgel & fom ¥ fAffa
agds wHagdw g 2

Prove that the quadrilateral formed by joining the mid points of adjacent

sides of a rectangle is a rhombus.
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27.

28.

29.

30.

31.

afe ABCD ta wwagyw 8 foraar qemsii AB, BC, CD9 DA & w7 fasg
P Q, RaR S 8 fig 9w & PQRSt® amaa 21

If ABCD is a rhombus the mid-points of whose sid& BC, CD and
DA are respectively,l), R and S, prove PQRS is a rectangle.

PQRSt =gda &l g9@ fd@u ge—ger & 'O' R ufiess axd &1 I}
OQ = OStr fag #IRN & &=va = &%
PQRS is a quadrilateral whose diagonals meet at O. If OQ = OS, prove

that area = area
ampfer 11.35 # Td T & IR QR W e § @ aawa
= &9%d e g #Ivw QR, PSar wafgwifora &var
g I
In Fig. 11.35, and are on the same base QR and area
= area . Prove that, QR bisects PS.
) =1
ol
fau gu smefa 11.36 # @ a1 PQ 3R PR w® wwer M 3R N
fag 59 R § f& aoma B o fig e fa
MN | | QR.

In Fig. 11.36, M and N are two points on sides PQ and PR of a such

such that area area . Prove that MN | | QR.

# D, BCor g fasg 81 E,AD @1 w7 g 3| Rig dIvw %
aABA P Lc]
In , D is the mid-point of BC, E is the mid-pointAD. Prove that

area area
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LG IR CE LY

(Geometrical Construction)

Tx‘ﬁﬁﬁ 931 (Objective Answer type Questions)
dle : W ¥ W TR fiew & oF Ime gfm -

Short out the correct answer from the following given four answer
1. 50°% R®F BT BT A9 AT
The complementry angle of 50° is:
(a) 50° (b) 406
(c) 130° (d) 90°

2. 80°% I BT T DI BATT—
The supimentry angle of 80° is:
(a) 10° (b) 180°
(c) 100° (d)28°

3. IR el Bt &1 U@ D107 FaH BIC BV &7 AT & AR AT HIOT BIC HI0T
&1 foRpT ©, a1 BICT HIT BT

If one angle of a triangle is twice the sheat angle and the other is thrice
the smallest. The smallest angle will be:

(a) 30° (b) 60°
(c) 90° (d) 120°

4. IS B RSt & ol &1 gurd 2:3:4% AT S9d! AT 81—
The angle of a triangle are in the ratio 2 : 3 : 4. the smallel& arigbe:

(a) 20° (b) 400
(c) 60° (d) 80°
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e Bl §9 989 @ ST:dIvr &I A 10802, Al Yoirell @ e Jarsii—
The measure of one interior angle of a regular poly@d&e The number
of sides of a polygone will be:

(@) 4 (b) 5

(c)6 (d) 8

afe OA 3R OB faudia fawel 21 afs y = 110°dr X &1 A9 81T |

In the following figure, OAand OB are opposite rays. If y 2QP the
value of x will be:

(@) 3¢ (b) 60
(c) 70° (d) 4%
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(Geometrical Construction)

@Y Ud §d SR geE Sar
Short and/ery LongTypeAnswer Question

HR Td RBR P! #&& F 3 WH. oIl BT U a¥f q1gd |
With the help of ruler and compass, construct a square of 3 cm. side.

T JATIT DI AT BISTY FSTHD! ST olY 5.1 FH. TAT 4.2 AHL © |
Construct a ractangle whose sides are 5.2 cm. and 4.2 cm.

o FH T DI I8¢ T oI 4.1 AAL 2T U BIor 60° &7 77
Construct a rhombus of side 4.1 cm and one angle equal to 60°.

T AR Il DI AT YollY 5.5 HHL TAT 4.4 AH. 2 AT 9@ fd

HI7 75° BT B AT ATHS DI AT DITOIY |

Two sides of a parallelogram are 5.5 cm. and 4.4 cm., if the in-
cluded angle is 75°, construct the parallelogram.

T FHICR GG DI YoIG 3.5 WAL T 4.2 FHL. TAT 394 3fcia sror 1100

@ &, AT Y|
Construct a parallelogram whose two sides are 3.5 cm. and 4.2 cm.
the included angle islD°®
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10.

11.

12.

13.

v w49 agqyst ABCD @1 z==m @it afs AB = BC = AC= 4 1.
Construct a rhrombusBCD whenAB = BC =AC =4 cm.

amaa ABCD &1 ve 1fog afe yoir AB = 4.8 .+ @er OBAC = 300
Construct arhombusBCD whenAB= 4.8 cm and!BAC = 30°

U FHTR Qo 99180 o f[adof & ofwrg 5.7 WAL 1 4.8 AAL ©

qerm g9 §ra o 75° 7

Construct a parallelogram whose diagonals are 5.7 cm. and 4.8 cm,
also the included angle between them is 75°.

T FH A DI AT DIIY ST [TH0TT Bl ofwTs 6 HHL. TAT 4.5 HHI,
2 |
Construct a rhombus where diagonals are 6 cm and 4.5 cm.

U I B =T PIfoTe [1gahT faewof 4 AH). 2|
Construct a square whose diagonal is 4 cm.

Faed agqyst ABCD &1 w1 sifsig foresi AB e CD wsr=R 2 @2 AB
=4.5¥, BC=3w, AD = 3.6 9. &, 9ARR @Rl & dr9 3
N 28 AH. B

aeid afst ABCD @ <=1 #ifre wiei AB || CD, AB = 4.5 @i ,
BC = 3.2 i, CD = 3 <, AD = 2.5 9. 2

el wifst ABCD e i AB || CD, AB = 5 u#. AD = 3
. BC = 2.8 A = 60°
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14.

15.

16.

17.

Construct a trapeziurABCD whenAB || CD,AB=5cm.AD =3
cm, BC =2.8 cm. &1A =60°.

T I 4.5 T, HSIT T §18Y IAT gD &Ahd P A &FAH el dTo] %ﬂj\_ﬂ
ESIERNS

Construct a square on side 4.5 cm and construct a triangle equal in
areato given square

st ABCD &1 <= sifsig fd AD = DC = 4 391, AB = 5 &1,

BD = 4.5 3. gen BC = 3.5 91 2| 39 a4 & ¥9H &F%d dTel

3T & e BIRTY |

Construct a quadrilaterABCD, givenAD =DC =4cmAB =5

cm, BD =4.5 cm and BC = 3.5 cm. Construct a triangle equal in

areato given quadrilateral.

st ABCD @1 == ifsig o AB = 7 5+, BC = 6 5.1, CD =
53 AC = 8 5+, BD = 9 9. 2| s 99M &1F%hel drel ST @l

AT PITY gt e AB g1

Construct a quadrilateraBCD, whereAB - 7 cm, BC =6 cm, CD
=5cmAC =8cm. and BD =9 cm construct a triangle equal in area
to the given quadrilateral haviAdB as base.

=gt ABCD &1 == @oiforg frqd AB = 5.2 5+, BC = 7.2 9.1, qen
@7 A, B ik D wwer: 115°, 700 gor 95° & € U& ey &) <@
BT ST &ahe f agds & aveR € @ wa o BC 7
Construct a quadrilaterABCD in whichAB =5.2 cm, BC =7.2
cm, angléA, B, D are 15°, 70° and 95° respectivelgonstruct a

triangle equal in area to given quadrilateral having BC as one side.
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18.

19.

20.

21.

JEITI—11
Unit-11

LG IR CE LY

(Geometrical Construction)

e AR aggsd ABCD @ =1 oy e faaet AC = 4.2 99
fawof BD =38 &t oo f@uil @ €=t ot BOD = 60 &)

Construct a parallelogradBCD in which diagonaAC = 4.2 cm.,
diagonal BD = 3.8 cm and the angle between the diagonals is BOD =
60 .

TH GHR agys D1 I ooy forad fdwmol e 3.6 W e 28 /W

g T STB 19 BT PIOT 30° BT BN P

Construct a parallelogram in which diagonals are 3.6 cm. and 2.8., the
angle included betwen them is°30

s e agyel ABCD & 3=+t @iferg foei AB = 4.09+#, BC = 2.7
I, AC = 3.29%, AD = 2.5%# e 4ot AB || CD® & ?
Construct a trapezium aBCD in whidlB = 4.0 cm., BC = 2.7 cmAC
=3.2cm.AD =2.5cm. and sidéB | | CD ?

s gHaN aggel ABCD & v==m aiforg i AB = 4.59%, BC = 3.3
¥, AD = 2.79%. @m AB | | CD® 19 ¥R @Rl & &9 o
25 9L & ?

(Gad © R AB & o9 T 25 W R U@ 4ol AB & o= fawor
YY' ytqd @iforg aom 39 W fag C ek Ry ¢ 7w & srgar sifea
BT 1)

Construct a trapezium aBCD in whidB = 4.5 cm., BC = 3.3 cmAD

= 2.7 cm. and sid&B | | CD, and the distance between the parallel lines
is2.5cm. ?

(Hint : Take a lineé/'Y" parallel to the bas&B at a distance of 2.5 cm and
mark a point C as per given measures.)
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22

23

24

25

26

26

27.

28

s wie agyel ABCD & <= @ifoig fomsi |er AB = 4.831, BC
= 2784, AD = 2.999, @ o AB | |[gem CD @& & ?
Construct a trapeziumBCD in whichAB = 4.8 cm., BC = 2.7 cmAD
=2.9cm.,ga=60° andAB | | CD ?

T B A 4 W T A U IRFART @ P
If a side of a square is 4 cm, find its perimeter

IS B TP Yo 5 VAL 2| IR T A uRAM 22 W & @ SHA Ay
g =Ta BT |

A side of a rectangle is 5 cm. If the perimeter of the rectangle is 22 cm,
find the length of its rest of the sides.

AT B A HoTRl B EIE BT AU 32 ¥ IR Imaa A uRfAfy

15 9N B A SHd af qorel A A9 s PR

The ratio of adjacent sides of a reactangle is 3:2. If the perimeter of the

rectangle is 15 cm, find the measure of the sides of the rectangle.
OA=60"

U6 AT P IEE piforg et tF qar 55 1 iR aRfAfT 24 ¥ @)

Construct a rectangle whose one side is 5.5 cm. and permieter is 24 cm.

&% 3maa ABCD &t <= aiforg forad yor AB = 6 99 @i et AC
= 100 @)

Construct a rectangleBCD in whichAB = 6 cm. anddiagonaC =
10 cm.

s 3mad ABCD &t a1 aifvig forad ta faaet 6 &t e ot @
AT BT PIUT 45° BT B

Construct a rectanghBCD in which one diagonal is 6 cm and the angle
between thediagonals is45

e T 9918y e uRffd &1 99 180 & &)
Construct a square whose perimeter is 18 cm.
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29

30

31

32

33

34.

35.

TF 9 B = PR R e Qe 50 [ B
Construct a square whose one diagonal is 5 cm.

TP g, foraar o 35 @0 2, @ siqfa wHuES @ J=T S|
Construct a regular pentagon inscribed in a circle of radius 3.5 cm.

T go, el fBroar 28 ¥ 8, & uRwTa wHUEYS @ @A BN
Construct a regular pentagon circumscribing a circle of radius 2.8 cm.

T3 g, foraar Broar 20 @0 8 @ oicifa ©d R wHuESl @ XEe
Cdlisad

Construct a regular pentagons inscribed and circumscribing circle of
radius 2.0 cm.

s g, R fBoar 24 &% 2, @ sfavfa wd aRva aawseqsl &t <=0
PIfY |

Construct a regular hexagons inscribed and circumscribing circle of radius
2.4 cm.

P go, foraa Broar 30 ¥ 2, @ Sfwia U9 uRia wHereyqell @ @
Cdlisad

Construct a regular octagons inscribed and circumscribing circle of radius
3.0 cm.

s agysl ABCD & = @ifoig i AB = 5.09%, BC = 6.29,
CD = 7.29% @ Op=pgc=9¢°, AB & & ¥aT 9Fax & s ot
T DY | W &% A agHS @ IRIEX B |

Construct a quadrilaterABCD in whichAB = 5.0 cm., BC = 6.2 cm.,
CD=7.2cm. anthg = 0c = 9¢°, Draw a triangle by takingB as its one
side and whose area is equal to the area of the quadrilaBsTa)l.
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36

37

s aggsl ABCD @t v=em #feig fored AB = 5@, BC = 7.59W,
OA=120,B=70 @ pgp=95° &I & e @ == Hifw e
IR BC 9o 8 T &9%d d agdd & WeR o ?

Construct a quadrilater&lBCD in whichAB =5 cm., BC = 7.5 cm.,
O0A=12¢, B= 70 andpp =9°. Construct a triangle whose base is BC
and whose area is equal to the aredRED.

s agysl ABCD @ e @ifoig i AB = 4.89%, BC = 6.29,

CD =539l aom gp W@ A 70° T4 60° | AR AB @R &
s 98T W &9%a A TgHY B SRR 8|

Construct a quadrilaterABCD in whichAB = 4.8 cm., BC = 6.2 cm.,
CD=53cm.and and are respectively P@and 60. Construct a
triangle whose bageB and whose area is equal to the area of quadrilateral
ABCD.

UB
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iR Satistics

EI'\'TjﬁE 931 (Objective Answer type Questions)
dle : W G¥ W T fiew & oF Ime gfm -

Short out the correct answer from the following given four answer
1- 5 o o7 STadq AT iR Mdvedd FHT @ iR &I 39 I &l
The difference between the upper and lower class limited is called
(@) @i Class (b) smafa Frequency
(c) smwR Classinterval (d) fa=r variable

2- 9 U Mdmel B AIRvigg B URd fhar SI1ar € 99 98 FHEerdm ¢ |
When the data are split into group of classes they are known as

(@) e e (b) S emEs

() urvileg 3nds (d) sud @ @IS &
(@) Primary data (b) Secondary data
(c) Classified data (d) None of them

3. I & el Bl = YR & FRE gRT ST S GhdT 2 |
Statiscal data can represent by the following diagrams

(@) @& f=F (b) =zve @ f=F
(C) gamaR ¥ (d) Swfa @

(@) Linediagram (b) Bardiagram
(c) Piediagram (d) Allthe above
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Unit-12

ifega!

(Statistics)

T Faaiide gfeH d A= A1l § freargar =g gam| suel §vs
X@IRE §RT S9igy|

L g (gRI H)
ChE| 400
I g 100
fep=Tar 250
I =g 200

In a business compajtye expenditure on ddrent items are as follows.
Representthis in bar-graph.

ltem Expenditure (in thousands)
Salaries 400
Travel expenses 100
Rent 250
Other expenditures 200

IJa frrm @ wemar 9 A @ guiis|

Cui LRG|
10-20 7
20-30 11
30-40 9
40-50 13
50-60 16
60-70 4
70-80 2
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Show the following by a histogram.

Class Number
10-20 7
20-30 11
30-40 9
40-50 13
50-60 16
60-70 4
70-80 2

e emgfea &1 smaa R s=g
Make a histogram of the following frequency distributions.

it Class amgfed /Frequency
10-19 2
20-29 3
30-39 5
40-49 7
50-59 3

TS el B Fem odi & 70 faenRial g utwie fegER 21 swer
Irad = s913Y

Marks obtained by 70 students of class 9 of a school are as follows.
Make its histogram.

1 B &0

Marks Number of student
150 6

160 8

170 12

180 21

190 13

200 10
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fodl 9Tell @ B ERIUA s a9 & &rd A fafr= wfafafry &
R w62 €1 39 9 SaeRY ¥ eSO wahdr 2|

Tfafafer e
dig # 8
T W 7
I8 P 4
ad 2
A+ 3
T 24

A student of a school spend hours of a day in following activities as
shown belowShow this information by using a-chart.

Activity Hour
Sleep 8

In School 7
Home work 4 "
Play 2
Other 3
Total 24

f= smgfca dea Y wear @ W9t smgfa 9% SRy
Make a cumulative frequency curve for following data.

Hh B &0

Marks Number of students
0-10 7

10-20 10

20-30 23

30-40 51

40-50 6

50-60 2
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Fe odf & BEI B TR b AR A= wEl § 9= sl @ e
R @ gve Y@ fE gRr 3 geiEv|

18 B &0
BRI 3
B 2
a1 4
s 1
LS 6
A 3
T 5
AT 1
IRiRCKS 6
S LIACEY 2
ECECK 2
feamR 4

Following are the date of births of students of class 9, born on different
months,show it by a bar graph.

Months Number of students
Jan.
Feb.
March
April
May
June
July
Aug.
Sept.
Oct.
Nov.
Dec.

A DN OO R O WO P DN W
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8. frfafaa smafea wiRot @ smga o s9gT
Make a histogram of following frequency table.

ERI amgfea
Class Frequency,
0-5 18
5-10 15
10-15 14
15-20 8
20-25 10
25-30 6
9. 100 fdmal # S @A #) T Foww FEgER 2 swa smgfa
maa fa A <wisv
Heights of 100 persons (in cm.) are given beBow this by a histogram.
S (@0 ¥) | emgRa
Height (incm.) Frequency
145-155 8
155-165 32
165-175 28
175-185 12
185-195 17
195-205 3

10. 60 fal & WR feamm # fgeRr 21 39 i R gwr <wiisg
Weights of 60 person (in kg.) are given bel®@kow this by a frequency

polygon.
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11.

12.

R (BT #)
Weight (in kg.)

feAT I HE=
Number of person

U

50-55
55-60
60-65
65-70
70-75
75-80
80-85
85-90

13

H O 00 OO o1 OO ©

frafafaa smgfta de &1 smaa A s91sT |
Make a histogram of following distribution.

it amgfea
Class Frequency
10-19 4
20-29 6
30-39 10
40-49 5
50-59 3

frafafaa smgfta §e &1 smaa A s91sT
Make a histogram of following distribution.

a7t amgfea
Class Frequency
5-9 2
10-14 5
15-19 3
20-24 7
25-29 4
30-34 2
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fr=ifafaa smgfta de7 @ fog emaa o s gy emgfa sgqw &1
o @Ry |

Make a histogram of following distribution and then make its frequency
polygon.

i amgfea
Class Frequency
10-20 3
20-30 5
30-40 6
40-50 9
50-60 7
60-70 5
70-80 2

fr=ifafaa smafca dea @ forg smaa o ¥9 g smgfa sg¥w TRy |
Make a histogram of following distribution and then make its frequency

polygon.

T (BT HE) mgfea (YT )
Class Frequency
(number of studentg) (marks obtained)
0-10 7
10-20 11
20-30 6
30-40 9
40-50 5
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15.

16.

17.

18.

19.

16.

Id i s gy f emgfed s @ forg smafa sgqw Tmsv |
Make a frequency polygon of the following data by using a histogram.

Tt Qe Aaeg) e
Class (daily wages) Number
21-25 7
26-30 11
31-35 6
36-40 16
41-45 9
46-50 5

& RNiTd @ & IR S8 R RE W I & Wifedr s S|
Find the probability of getting head in tossing a coin.

AR TR N BPpd W 3 | BICT 3F U HA DI UIRAGAT S DI |
Find the probability of getting a number smaller than 3 in throwing a die.

T$ GIOR T8 @ Bhq W) Md w® f{Aww e o & yifiear s
PIFAT |
Find the probability of getting an odd number on upper face of a die.

T Rl H TF 9T SBEM R $H F HH U@ U HUR W B JIikGHar

A BIFY |

Find the probability of getting at least one head in the experiment of
tossing two coins simultaneously

T UN T AR BB OH R QA GAM AP IM B WIRGAT A By |
Find the probability of getting same number on both dies when tow dies
are thrown together
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17.

18.

19.

20.

21.

22.

frafafaa @ aRwmr Afdg |

(1) wrfasar (2) wfoest fag

(3) agfee®d wamT (4) =res

(5) wftrget wwfe

Define the following

(1) Probability (2) Sample point

(3) Random experimerft) Event
(5) Sample space

TS Rgd B B W USc I B UIRGbar S Hierg |
Find the probability of getting tail on tossing a coin.

Th I8 P BH7 W M 4 F e fd e @ yif¥emar @
PIFAT |

Find the probability of getting a number greater than 4 in throwing a
die.

T RIe®r 45 IR SBEM W 23 IR R U 8r 81 Use Wi B @
HeAT $ Ifdar s ST

A coin is tossed 45 times and 23 times head appewithe probability
of getting tail.

T Rl & (& AR SBeM W B 9 BH e U M P Yfbar S
Cdlisad
Two coines are tossed togeth@nd the probability of at least one head.

g U TP G B oM WR JEAN Ih AN B BT sia By |

Two dice arethrown togethefFind the probability of getting dédrent
numbers on both dice.
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23.

24.

25.

26.

T U B TH AT B TR S ARl @ WG i PN o9 3Pk
BT AT 10 B

Two dice arethrown togethéfind the probability that the sum of numbers
appearing on the dice is 10.

T TN D UH AT BH R ST HSARN B ARG A9 DIRY o9 D)
BT AT 4 B

Two dice are thrown togethéfind the probability that the sum of the
number appearing on the dice is 4.

T faemerd & 100 BT & fheliumd & 9R o= ama Ry faawor aroft # <oty mar 2 | 59 ford
M for §H1ST |

IR fHaT. #§ | 20-25[25—30|30—35 |35—40 | 40—45 | 45-50 | 50—55

SIS 13 25 28 15 12 5 2

The weight in kilogram of 100 students in school is given in the following frequency table construct a

histogram for it.

Weight in Kg | 20-2525-30 | 30-35| 3540 | 40-45 | 4550 [ 50-55

Frequency 13 |25 28 15 12 5 2

1 ARl {5l TR @) FRifere Aftemeit @t e quiel & | SRIad sifdel @ MR R Mgy agyot
IEEERIER]

GTl'gan 10—15 | 15—20| 20—25( 25—30 | 30—35 | 35—40

Afgerel & Hwm 300 980 800 580 290 50

The following table shows number of educated females in@igstruct a Histogram and frequency

polygon for the given data.

Age Group 10-15 (1520 | 2025 [ 25-30 |30-35 |3540

Frequency 300 980 800 580 290 50
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28.

29.

frfaRad sriwsl & forl b ama RY o for Tor Ua org 7Y 9t o 1 <= Sifrg |

51 BTl & UTCih! &1 3a KT faa=or

Construct a histogram and frequency polygon for the following data :

Frequency distribution of marks scored by 51 students

PlISIC
Marks

T T
No. of students

0-10

10-20
20-30
30-40

50-60
60-70
70-80
80-90

90-100

5

S

© W NN W~NO D

PET—5 & &l Ae! ¥ ford ara B el & UXIeoT 3§ yTadichl 1 ag Ry fIeRor ARof fFegar

21 UG GE & ford ama XY 99t Y =T T |

In a list for reading capacity of two groups of students of &faise scores are given as fellows:-

UTeTich NLERY NG
Marks GroupA Group B
32-34 13 2
35-37 12 17
38-40 20 12
41-43 18 8

44-46 15 4

47-49 10 3

50-52 4 2

100 MM &1 HArg (AA. H) B1 fIaror =y &3 g € —

HaAg AL H [145—155 155—165 [165—175 | 175—185 [ 185—195[195—205

SIS 3 35 25 15 20 | 2

SWIFd ARV & for MgRT amad vd gyt & a9y |

The following table indicates height in cm. of 100 people.

Heightin Cm. | 145-155 155-165(165-175 175-185| 185-195 195-205
3 35 25 15 20 | 2
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